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КОНТРОЛЬНІ ЗАВДАННЯ З АНГЛІЙСЬКОЇ МОВИ 
9 КЛАС 

 

READING COMPREHENSION AND VOCABULARY 

TASK 1 

Read the article "The Mystery of the Maya" and then answer the 

questions. 

The Mayan Indians lived in Mexico for thousands of years before the 
Spanish arrived in the 1500s. The Maya were an intelligent, culturally rich 
people whose achievements were many. They had farms, beautiful 
palaces, and cities with many buildings. The Mayan people knew a lot 
about nature and the world around them. This knowledge helped them 
to live a better life than most people of that time, because they could use 
it to make their lives more comfortable and rewarding. Knowledge about 
tools and farming, for instance, made their work easier and more 
productive. 

In ancient Mexico there were many small clearings in the forest. In 
each clearing was a village with fields of corn, beans, and other crops 
around it. To clear the land for farms, the Maya cut down trees with stone 
axes. They planted seeds by digging holes in the ground with pointed 
sticks. A farmer was able to grow crops that produced food for several 
people. But not every Maya had to be a farmer. Some were cloth makers, 
builders, or priests. 

The Maya believed in many gods, including rain gods, sun gods, and 
corn gods. The people built large temples to honor the Mayan gods. 
Skillful workers built cities around these temples. It was difficult for them 
to construct these cities, because they had no horses to carry the heavy 
stone they used to build with. Workers had to carry all of the building 
materials themselves. Today, many of these ancient Mayan cities and 
temples are still standing. 

Today, many of these ancient Mayan cities and temples are still 
standing. Although the cities that the Maya built were beautiful, and the 
people worked hard to build them, very few of the people lived in them. 
Usually, only the priests lived in the cities. The other people lived in small 



7 

villages in the forests. Their houses were much simpler than the elaborate 
structures in the cities. They lived in small huts with no windows. The walls 
were made of poles covered with dried mud, and the roof was made of grass 
or leaves. Most Maya lived a simple life close to nature.  

Measuring time was important to the Maya, so they developed a system 
for measuring it accurately. Farmers needed to know when to plant and 
harvest their crops. Mayan priests made a system to keep track of time. They 
wrote numbers as dots (...) and bars (-). A dot was one and a bar was five.  

The Mayan priests studied the Sun, Moon, stars, and planets. They made 
a calendar from what they learned. The year was divided into 18 months of 20 
days each with five days left over. The Mayan calendar was far more accurate 
than the European calendars of the time.  

Around the year 800, the Maya left their villages and beautiful cities, 
never to return. No one knows why this happened. They may have died from 
an infectious disease. They may have left because the soil could no longer 
grow crops. Archaeologists are still trying to find the lost secrets of the Maya. 
They are still one of our greatest mysteries. 

 
1. Read this sentence from the story.The Maya were an intelligent, culturally 

rich people whose achievements were many.  
What is a synonym for the word achievements? 
1. Mistakes  
2. successes  
3. skills  
4. roads 
 
2. The Maya lived in Mexico 
1. only after the Spanish arrived. 
2. at the same time as the Spanish. 
3. only for a few years. 
4. thousands of years before the Spanish. 
 
3. Many Mayan cities and temples are still standing today because 
1. they were so well built. 
2. they are not very old. 
3. they have been rebuilt. 
4. there is never any bad weather in Mexico. 
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4. How is the Mayan calendar the same as or different from our current 
calendar? Use details from the article to support your answer. 

__________________________________________________________
______________________________________________________________
______________________________________________________________
___________________ 

5. What is the main idea of this article? 
1. The Mayan calendar was more accurate than the European calendar. 
2. The Maya were excellent farmers. 
3. The Maya were a culturally rich, advanced society. 
4. The Mayan cities were difficult to build. 

 
6. MOST Maya lived 

1.  in beautiful cities. 
2. in huts made of poles, mud, and leaves. 
3. in caves. 
4. in stone temples. 

 
7. Read this sentence from the story. Their houses were much simplіer 

than the elaborate structures in the city. What does elaborate mean? 
1. Small  
2. plain 
3. fancy 
4. old 
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TASK 2 

For questions 1–15, read the text below and look carefully at 

each line. Some of the lines are correct, and some have a word 

which should not be there. If a line is correct, put a tick (+). If a 

line has a word which should not be there, write the word which 

is correct. There are two examples at the beginning (0 and 00). 

 
0 Although my father is not conventionally successful, he is a 0                        + 
00 man that to be admired. He must have been ten when he 00               to 
1. started learning to play the piano. As being a rather small child,  
2. and one who he was too interested in his studies, he was  
3. bullied by his classmates. But he found pleasure in music and  
4. proved to be considerably talented. Despite of having little  
5. encouragement from his parents, he did practised hard, and  
6. was playing Chopin well at the age of 14. By the time he  
7. was 18 he did nothing but to play. His school work, which had  
8. shown promise, suffered and he did not achieve the grades  
9. required for university entrance. Instead of he went to a teacher  
10. training college. He loved to teaching, and did so well that his  
11. tutors suggested he to study music at university. With their  
12. support he got a place, impressing on them with his ability in  
13. composition as well as performance. But by then he had just  
14. wanted to teach. He has been teaching for 30 years now,  
15. earning little but for the love and respect of his colleagues. 
 
 
 

TASK 3 

Choose the best variant: 

1. I haven't seen him ...... 
A. since yesterday. 
B. for yesterday. 
C.   
D. until yesterday. 
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2. Have you ever ............ to Mallorca? 
A. gone 
B. went 
C. been 
D. was 

3. 
A. We are use to live in Paris. 
B. We usually live in Paris. 
C. We are using to live in Paris. 
D. We used to live in Paris. 

4. I wouldn't do that ...... 
A. if I was you. 
B. if I would be you. 
C. if I were you. 
D. if I would you. 

5.           ...... at the hotel, last week. 
A. They didn't see him 
B. They hadn't see him 
C. They can't see him 
D. They weren't see him 

6. They are ............ to Brazil tomorrow 
A. going flying 
B. fly 
C. to fly 
D. going to fly 

7. I have never ............ Indian food. 
A. ate 
B. eat 
C. eaten 
D. to eat 

8. Robert's from New York,     
A. doesn't he? 
B. does he? 
C. is he? 
D. isn't he? 

9. 
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A. Can you speak German? 
B. Could you speak German? 
C. Couldn't you speak German? 
D. Can't you speak German? 

10. _________________________ to collect me after the concert. 
A. You don't might 
B. You don't must 
C. You don't need 
D. You don't should 

TASK 4 

Fill in correct article if necessary. 

1. Ann was born in …Italy but she lives in …… USA now. 
2. …… Tower of London is …… popular tourist attraction. 
3. His favorite newspaper is …. Guardian. 
4. He went on …. expensive holiday to …… Bahamas. 
5. …… Odeon cinema is in …… Appleton Street just past…… library. 
6. Last month I saw….film and then we went to…… concert. …… film was 

brilliant but….concert was boring. 
7. My father owns …… shop in …… village where we live. 
8. …… Charles de Gaulle airport is in ….. Paris. 
9. I can’t play …….guitar. 
10. ..….Alps are very high mountains. 

TASK 5 

Decide which answer (А, В, С or D) best fits each space 

Someone once said that there are three kinds of people who are 
(1)__________in sport: people who (2)__________part, people who watch, and 
people who watch (3)__________television. It's very easy to make fun of stay-at-
home sports (4)__________, but on the other hand, television does enable us to 
enjoy all kinds of (5)__________events. We can watch a racing car 
(6)__________another, see a cyclist (7)__________the finishing line, or enjoy the 
goals of our favourite football (8)__________The first time I watched a tennis 
(9)__________was on television, and I found it (10)__________interesting. It's 
not always easy to (11)__________long distances to football (12)__________and 
television is a good solution. Of course, you can (13)__________used to sitting 
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indoors all the time, and this is dangerous. We should all try to 
(14)__________fit, and have other interests and (15)__________. 

 
 

1) A playing В really С interested D succeed 
2) A take В have С make D get 
3) A on В with С by D from 
4) A people В centers С programmers  D fans 
5) A the В future С sports D athlete 
6) A cross В overtake С or D from 
7) A overtake В and С cross D professional 
8) A group В class С band D team 
9) A match В it С which D that 
10) A valuable В imaginatively С unexpectedly D real 
11) A trip В tour С pass D travel 
12) A areas В grounds С teams D fans 
13) A or В which С get D is 
14) A keep В make С do D have 
15) A customs В habits С pastimes D leisure 
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TASK 6 

Use the word given in capitals at the end of the lines to form a 

word that fits in the gap 

Dubai, in the United Arab Emirates, 
has been an important port city since the 

beginning of the 20th century. Its 
nickname is‘City of Gold’ as it is (1) 

____________ for its trade in gold. Dubai 
is an important business and (2) 

___________ centre as well as a popular 
tourist (3) ________________ Most of 

the United Arab Emirates’ banks and (4) 
_____________ companies have their 

headquarters there. (5) ______________ 
in Dubai centres around shopping. This 

comes in the form of large shopping 
centres selling (6) _________________ 

labels and international goods. There are 
also the markets which offer a more (7) 

_________________ and (8) 
________________ shopping experience 

for the tourist. Dubai has a well-earned 
reputation as a shopper’s paradise. 

Unfortunately, (9) _______________ 
usually comes second to shopping. 

However, there are many attractions to 
enjoy (10) ______________ Sheikh Saeed 

AI Maktoum House, the Dubai Museum 
and the Heritage Village of Hatta. 

1. FAME 
2. COMMERCE 
3. LOCATION 
4. INSURE 
5. TOUR 
6. DESIGN 
7. TRADITION 
8. ATMOSPHERE 
9. SIGHT 
10. INCLUDE 
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Task 7. Match the idioms and their definitions. 

IDIOMS DEFINITION 
1. PUT ALL YOUR EGGS INTO ONE 

BASKET 
2. OUT OF THE BLUE 
3. ONCE IN A BLUE MOON 
4. BE FISHY 
5. BE IN HOT WATER 
6. BE A PIECE OF CAKE 
7. EAT ONE'S WORDS 
8. DON'T LET THE GRASS GROW UNDER 

YOUR FEET. 
9. BE UP IN THE AIR 

10. COOK SOMEONE'S GOOSE 

 
a) Be not decided yet 
 
b) To be very easy 
 
c) Get someone in trouble 
 
d) Be in trouble 
 
e) Act now without any delay 
 
f) Admit that what you said 

was wrong 
 
g) Suddenly and unexpectedly 
 
h) Seem not to be true / 

honest; be suspicious 
 
l) Depend totally on one single 

person  
m) Rarely, almost never 

 
WRITING 

Write about the following topic: Your English friend is planning to 
travel across Ukraine. But he doesn’t know what means of travelling to 
choose. Write him a letter (120-150 words) in which tell him about the 
advantages and disadvantages of different means of travelling, warn him 
about the problems he is likely to face, give advice how to avoid them. 
Give reasons for your answer and include any relevant examples from 
your own knowledge or experience. 
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КОНТРОЛЬНІ ЗАВДАННЯ З АНГЛІЙСЬКОЇ МОВИ 
10 КЛАС 

 
READING, VOCABULARY AND GRAMMAR COMPREHENSION 

 

TASK 1 

You are going to read an article in which four people comment on 

a book they have read recently. For questions 1-15, choose from 

the people A-D. The people may be chosen more than once. 

A 
Sundance by Teresa Wilson                                                           Kerry: 

I really don't know why this book is so popular. I mean, I suppose it is 
going to appeal to young girls who want danger and romance, but I found this 
book really tedious. For a start, the characters were really unconvincing. The 
author went out of her way to add lots of details about the characters, but I 
found these details really pointless. I thought that some of the facts she 
presented about the main characters would become significant in some way 
later in the novel, but they didn't. They were just worthless bits of 
information. I also was disappointed that, although this book is meant to be 
about kids at high school, the writer seems to have no recollection at all about 
what it's like to be 17. The main character thought and acted like a 32-year 
old. It just wasn't believable. I'm not saying Teresa Wilson is a bad writer. She 
can obviously string words together and come up with a story that is appealing 
to a large number of people, but she lacks anything original. There is no flair. 
It just uses the same sort of language as you can see in many other mediocre 
novels. 

B 
Wild Ways by Margery Emerson                                                 Liz:  

 

I have to say that I won't forget this book for a long time. I was hooked 
from the very first chapter. The devastating story affected me so much that I 
don't know if I'll ever feel the same again. I was close to tears on several 
occasions. I've got images in my brain now that I don't think will ever leave 
me. It's incredibly well-researched and, although it is fiction, is based on 
shocking real-life events. I learned an awful lot about things that went on that 
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I never knew before. Margaret Emerson has a brilliant way with words 
and I really felt real empathy towards the characters, although I was 
sometimes irritated by the choices they made. However, the parallel 
story, the part that is set in the present, is not quite so good. I found 
myself just flicking through that part so that I could get back to 1940s 
Paris.  

C  
Orchid by Henry Rathbone                                                Imogen:  

This is a delightful novel full of wonderful imagery, a paints a 
remarkable picture of life in a distant time and a far-away place. If you're 
looking to learn about Eastern culture in great detail, then this is probably 
not the book for you, as the writer skims over most of the more 
complicated aspects of the country's etiquette. The historical aspects are 
also not covered in much depth. However, I wonder whether this was the 
writer's intention. By doing this, he symbolise the superficiality of the 
girl's life. She, like the book, is beautiful and eager to please, but remains 
too distant from us, the readers, to teach us much. Although I loved the 
book and read it in one sitting, the ending was a bit of a disappointment. 
A story which involves so much turmoil, in a place where the future is 
uncertain, should not have a happy-ever-after fairy-tale ending. 

D 
High Hills by Mary Holland                                                        Hannah:  

I read this book for a literature class. I know it's a classic, and I did 
try to like it, but I just didn't get into it. I kept persevering, hoping that I'd 
start to enjoy it, but no such luck. The famous scene out on the moors 
was definitely the best bit of the book, but even that I found ridiculous 
when it is clearly supposed to be passionate. As I approached the end of 
the book, I figured there must be some kind of moral to the story, 
something that I would learn from the experience of trudging through 
seven hundred long pages, but there was nothing worthwhile. I don't 
know why the literary world sees this book as such a masterpiece. The 
characters are portrayed as being intelligent, but they do such stupid 
things! And as for it being a love story - marrying someone you don't love 
and then being abused by them - that doesn't spell love to me. 
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Which person read a book which... 
1. was set in an Oriental country _______________________________ 
2. finished in an unrealistic way ________________________________ 
3. had characters that the reader could sympathise with ____________ 
4. is well-known and was written a long time ago __________________ 
5. contained two stories ______________________________________ 
6. was not set in the past ______________________________________ 
7. was historically accurate ____________________________________ 
8. made the reader cry _____________________________________ 
9. contained insignificant details _____________________________ 
10. has a well-known scene _________________________________ 
11. is written for teenagers __________________________________ 
12. had unbelievable characters _______________________________ 
13. is classed as romantic fiction ________________________________ 
14. contains nothing new in the way of writing ____________________ 
15. has an attractive but shallow heroine _________________________ 

 

TASK 2 

Use the word given in capitals to form a word that fits in the 

space.  

 
ENJOY      PATIENT     WILL    GRAMMAR    PRONOUNCE     SENSE      HELP      

KNOW    INFORM     EMBARRASS 

Teaching is one of the oldest professions and one of the most 
(1)__________________. Teachers need certain characteristics such as 
(2)___________________, understanding and maturity. Teachers must be (3) 
____________________ to communicate. Language teachers have to make 
sure that students use the correct (4) ________________ terms and check (5) 
___________, so that they can communicate effectively with native speakers. 
As well as being extremely (6) _______________ to students’ needs, teachers 
must also be (7) _________________ and approachable. However, they must 
also maintain a high level of discipline. They require a wide general (8) 
___________________ and need to be well (9) ____________________. 
Being unable to answer a simple question can be a rather (10) 
.__________________ experience for a teacher. 
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TASK 3 

Read the following text. The word in bold type in the text is the 

synonym to two words in A,B,C below. Find an odd word in 

A, B, C. 

 
EIFFEL TOWER 

Eiffel Tower is a Parisian landmark and technological masterpiece in 
building-construction history. When the French government was 
organizing the Centennial Exposition of 1889 to commemorate the 
French Revolution, a (1) competition was held for designs for a suitable 
monument. More than 104 plans were submitted, and the Centennial 
Committee (2) accepted that of the (3) noted bridge engineer Gustave 
Eiffel. Eiffel's conception of a 984-foot (300-metre) tower of open-lattice 
wrought iron (4) aroused amazement, skepticism, and no little opposi-
tion on aesthetic grounds. 

Nothing remotely (5) like it had ever been built; it was twice as high 
as the dome of St. Peter's in Rome or the Great Pyramid of Giza. (6) In 
contrast to such older monuments, Eiffel's tower (7) was raised in a 
matter of months, with a small labour force, at slight cost. Making use of 
(8) advanced knowledge of the behaviour of metal arch and metal truss 
forms under loading, including wind forces, the structure presaged a  (9) 
revolution in civil engineering and architectural design. And despite 
protests, it (10) ultimately vindicated itself aesthetically. 

The tower's (11) base, of four semicircular arches, dictated partly by 
engineering (12) considerations but also partly by Eiffel's artistic sense, 
required elevators to ascend on a curve; the glass-cage machines 
designed by the Otis Elevator Company of the United States became one 
of the (13) principal (14) features of the building, helping establish it as 
one of the world's premier tourist (15) attractions. The Eiffel Tower 
remained the tallest building in the world until completion of the Chrysler 
Building in New York City in 1930. 

 
1. A contest В participation С emulation 
2. A advised В admitted С acknowledged 
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3. A well-known В famous С obscure 
4. A called to В excited to С incited to 
5. A similar to В equivalent to С alike to 
6. A Unlike В Unlikely С Contrary to 
7. A arouse В aroused С rose 
8. A progressive В innovative С eager 
9. A rebellion В upheaval С transformation 
10. A eventually В finally С in the final 
11. A basis В foundation С structure 
12. A analysis В looks  С views  
13. A main В senior С chief 
14. A 

characteristics 
В futures С attributes 

15. A sights В places of interest С admires 
 

TASK 4 

For questions 1–15, read the text below and think of the word 

which best fits each space. Use only one word in each space. 

There is an example at the beginning (0). 

Child Labour in Britain 

The number of children employed in Britain is believed to be (0) 
_____________ high as two million. According to recent reports, an estimated 
45 per cent of children (1) _____________ the ages of ten and sixteen have 
some sort of job, and 75 per cent of them (2) ____________ employed 
illegally. In Britain it is illegal for children (3)_____________ the age of sixteen 
to work in manufacturing or with dangerous equipment. Their hours are 
restricted: they are not (4).____________ to work before 7 am or after 7 pm, 
or for more (5)______________ two hours on a school day. Moreover, it is 
illegal for children not yet thirteen to work at all. Child labour, however, is 
(6).______________ the increase because children are so cheap to employ. 
Some companies pay children (7) __________ than £1 an hour. Unfortunately, 
there is (8) ____________ government legislation to protect children in (9) 
___________ cases. Minimum wage laws for minors (10) ______________ 
abolished in 1986. (11) _______________ jobs taken on while still at school 
can be invaluable preparation (12) ____________ working life, a considerable 
number of children are (13) ____________ paid an extremely low wage and 
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are being put (14) ____________ physical risk. It (15) ______________ 
be the government’s responsibility to protect such children. 

TASK 5 

Choose the correct word. 

1. Clara has got perfect ... and can even see well in the dark. 
a) view 
b) eyesight 
c) sight 
d) site 

2. The police tried to catch the thief, but he ran … too quickly. 
a) away 
b) forward 
c) past 
d) after 

 
3. She could barely … out the cottage in the darkness. 

a) spot 
b) make 
c) see 
d) draw 

 
4. Since I live on the ... of the city, I have a long drive into town every day. 

a) suburbs 
b) outside 
c) outskirts 
d) border 

 
5. It took us ages to get here, but ... we’re home! 

a) lately 
b) eventually 
c) at last 
d) in the end 

 
6. The jury ... their verdict of not guilty. 

a) mentioned 
b) presented 
c) announced 
d) said 
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7. He often gets lost because he never pays attention to the road .... . 
a) signals 
b) signs 
c) posts 
d) symbols 

 
8. She used the ... of the cloth to make a patchwork quilt. 

a) leftover 
b) rest 
c) ending 
d) remaining  

 
9. Many birds ......... south during the winter months. 

a) emigrate 
b) originate 
c) immigrate 
d) migrate 

 
10. … sandwiches and salads there were also soft drinks and cakes on the 

table. 
a) Beside 
b) Besides 
c) Except 
d) As well 

 
11. Jane doesn’t like cold weather, her friend doesn’t like it … . 

a) also 
b) too 
c) either 
d) neither 

 
12. The Browns can’t … such a house, they are short of money. 

a) allow 
b) permit 
c) afford 
d) let 

 
13. The … of the clock moved and stopped forever. 

a) arm 
b) hand 
c) leg 
d) foot 
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14. At last the sun has … and birds started singing in the forest. 

a) got up 
b) raised 
c) risen 
d) arose 

 
15. We needn’t go shopping, because we’ve got … milk in the refrigerator. 

a) little 
b) a little 
c) few 
d) a few 

TASK 6 

Fill in correct article if necessary. 

1. Ann was born in …Italy but she lives in …… USA now. 
2. …… Tower of London is …… popular tourist attraction. 
3. His favorite newspaper is …. Guardian. 
4. He went on …. expensive holiday to …… Bahamas. 
5. …… Odeon cinema is in …… Appleton Street just past…… library. 
6. Last month I saw….film and then we went to…… concert. …… film was 

brilliant but….concert was boring. 
7. My father owns …… shop in …… village where we live. 
8. …… Charles de Gaulle airport is in ….. Paris. 
9. I can’t play …….guitar. 
10. ..….Alps are very high mountains. 
 

TASK 7 

Put the verb in brackets into gerund or infinitive. 

1. You still have a lot (learn) …… in English. 
2. You don’t need (ask) …… him every time you want to go out. 
3. Would you like (come) …… with me to the gym? 
4. Why do you keep (look) …… at me? 
5. We got tired of (wait) …… for better weather. 
6. The washing machine began (make) …… a terrible noise. 
7. The police accused him of (steal) …… the money from the house. 
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8. She apologized for (borrow) …… the book without your permission. 
9. Most people prefer (spend) …… their money to saving it. 
10. It’s much better (stay) …… at home than to go out in the rain. 
11. It isn’t good for you (eat) …… so many sweets. 
12. I’m very sorry for (be) …… late. 
13. I’m for (do) …… nothing till he arrives. 
14. He expects you (go) …… with him. 
15. Do you feel like (go) …… to the cinema? 

 

TASK 8 

Read the text and then type the correct form of the word in 

CAPITALS to complete the gaps. There is an example at the 

beginning. 

21st Century Workplace 

The economy of the 21st century is based on skills and (0 KNOW) 
knowledge according to a recent report. The study shows that throughout this 
century there will be more jobs in the workplace for those with (1 QUALIFY) 
___________________  and the right skills, and fewer jobs for those with 
none. The best (2 EMPLOY) ______________ will be one that can demonstrate 
a level of academic or (3 VOCATION) _______________ achievement that can 
enable the individual to support their CV with evidence of desirable personal 
qualities. As (4 GLOBE) ______________ increases and technological advances 
make typical working practices redundant (5 PROSPECT) _____________. 
employees will need to show various personal attributes. As well as wanting 
people who are flexible, companies are also looking for evidence of (6 ADAPT) 
_____________ It is also (7 INCREASE) _______________ necessary to be an 
excellent communicator as the majority of (8 ORGANISE) ________________ 
make their profits from the skills of people selling their goods as much as from 
the producers themselves. The new economy is here to stay and unless 
businesses show the (9 WILL) _____________ to adapt they may find they are 
(10 SUSTAIN) ____________ according to the authors of the report.  
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TASK 9 

Fill in the missing word: 

1. There were six children so I cut the cake ..... into seven pieces so I 
could have a piece as well. 

2. Не has lost his pen. Can everybody spend two minutes helping him to 
..... for it. 

3. In the race, Ana was running very fast but Bela was able to catch up 
..... her just before the end. 

4. This morning, my pen ran out ..... ink and stopped working. So I 
borrowed a pen from my friend. 

5. I waited on the phone for twenty minutes but they didn’t answer and 
in the end I ..... up. 

6. Last night I tried to phone the school but I could only get through ..... 
an answer machine.  

7. Yesterday the students drank a lot of coffee and they used ..... all the 
coffee in the coffee machine. So when I wanted a coffee, the machine was 
empty. 

8. If you are travelling by car or taxi in the UK, it’s very important that 
you do ..... your seatbelt. 

9. If you have a few hour’s stopover in Hong Kong, you really should 
take a train into town and look ..... the city. 

10. She was a bit late arriving for work on Monday morning because her 
car was ..... up in heavy traffic. 

11. If you see a yellow speed camera beside the road, it’s good idea to 
slow ..... a bit. 

12. If your car breaks ..... on the motorway, you should stop on the side 
of the road, stay in your car and telephone for help. 

13. If you ..... off early in the morning, and drive up the motorway, you 
should be able to get to Birmingham by lunch time. 

14. He has a large family car so three people can easily ..... into the back 
seat and two in the front. 

15. If you are going to ..... out in Bristol you will need to pay at least ten 
pounds per person if you have wine with the meal. 
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TASK 10 

Choose the right meaning for the idioms below: 

 
1. The house was dirty. We … it for weeks. 

a) didn’t clean 
b) hadn’t cleaned 
c) weren’t cleaning 
d) don’t clean 

2. As soon as the exams …over the students will leave for their homes. 
a) are 
b) will be 
c) were 
d) would be 
e)  

3. Since I saw her last she … many new articles. 
a) has written 
b) had written 
c) writes 
d) was writing 

4. Can you tell me when Nick … here next time? 
a) is 
b) will be 
c) was 
d) is being 

5. I … you just now I had never had time for much fun. 
a) told 
b) had told 
c) had been told 
d) tell 
e)  

6. When the teacher came to his desk he understood that somebody … 
through examination papers. 

a) looked 
b) had looked 
c) had been looked 
d) will look  
e)  

7. I shall tell him the news when he … me. 
a) joined 
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b) joins 
c) will join 
d) join 
e)  

8. I … him since he graduated from the University. 
a) hadn’t met 
b) didn’t meet 
c) don’t meet 
d) haven’t met 
e)  

9. I’ve got my key. I found it when I … for something else. 
a) look 
b) have looked 
c) didn’t look 
d) was looking 

10. You …some silly remarks when I’m speaking. 
a) always made 
b) are always making 
c) were always making 
d) will always make 

 

TASK 11 

Write a letter to the newspaper: Your local newspaper wants to 

reward people who have contributed a lot to the community. 

Write a letter to the newspaper. In your letter: 

1. suggest someone who deserves the reward 
2. mention what they have done to help the community 
3. say what reward you would like to give this person 

Write about 150 - 200 words. You do not need to write addresses. 
Begin your letter as follows:   

Dear… 
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КОНТРОЛЬНІ ЗАВДАННЯ З АНГЛІЙСЬКОЇ МОВИ 
11 КЛАС 

 
READING COMPREHENSION AND VOCABULARY 
 

TASK 1 

Write a correct letter A-E  for the following statements. You may 

use any letter more than once. 

1. A friendly greeting awaits new members.   
2. Some relevant skills are preferred.   
3. This activity could cheer you up.   
4. This activity is suitable for a variety of ages.  
5. Individual guidance will be provided.  
6. Participants can take part in a public performance.  
7. This activity could help someone who wants to overcame shyness.  
8. This activity promises rapid progress.  
9. This activity is not held during the day.  
10. This activity requires some uniform. 
 
A. RICHMOND EXPERlMENTAL THEATRE  

Leam to act introduces people to a broad range of acting techniques. It 
is specially geared to those with little or no aging experience. The atmosphere 
is relaxed and unthreatening and great emphasis is placed on developing the 
confidence and abilities of people who may initially be a little apprehensive!  

B. WORLD CULTURE DAY  
Brazilian Street Percussion 2.30-4.30 

Samba percussion workshop. Lift your spirits with the taste of carnival! It 
doesn't matter whether you're an experienced musician or a complete 
beginner, you'll be creating complex exotic rhythms in no time. An event for 
all the family. 

 
C. SCOTTISH DANCING  
Іt's fun - it's good exercise 

• We have classes for dancers of all abilities.  
• Previous experience is not essential.  
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• AII you need to bring is a pair of soft shoes and enthusiasm.  
• Classes are held in a number of places and at different times. 
• We guarantee you a warm welcome. 

 
D. THE RENAISSANCE SINGERS  

New singers are invited to join our choir, formed in 1993, to perform 
a wide variety of music in Cambridge. We meet every Wednesday 
evening from 7.30 - 9.30 pm, and this term we are rehearsing for a special 
concert with audience participation on Saturday 1st December. An ability 
to sight-read and previous experience in choral singing is desirable, 
although not essential.  

 
E. DRAWING WITH COLOUR  

An intensive workshop for beginners Saturday 13th and Sunday 
14th October. This unusual workshop offers instruction in effective ways 
to draw in colour. Activities will include study of light and shade and ways 
to express mood and emotion in colour. The small class ( 12 students} 
assures maximum attention for each student. Professional quality 
materials are included in the fee of £95. 

 

TASK 2 

There are four underlined sections in the text. Select the one 

which is wrong and correct a mistake: 

1. The increase population, and rapid economic growth in recent years, 
have put a large and increasing stress on the water resources and 
environment in Ho Chi Minh City, Vietnam. 

○  in recent years  
○  increase 
○  on the water resources  
○  in  
2. In 2004, a team led by the government environment ministry say that 

chemicals from the factory had contaminated sediment in the bay 
and entered the food chain. 

○  say that chemicals  
○  led by  
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○  contaminated sediment  
○  entered  

3. Most of the large industries in the country are well organised and 
structured and are sometimes backed up internationally reputable 
mother companies. 
○  Most of  
○  in the  
○   are  
○   backed up  

4. Should we really speak of the “breakdown” of families when we 
are perhaps witnessing new family forms and a new social 
structure arising late capitalism? 
○  Should we   
○  when we are  
○  arising  
○  speak of  

5. The technology, developed in coal-rich Germany in the 1920s, involves 
partly burning coal to turn it into a gas, then using a catalyst, usually a 
metal, make it a liquid. 
○  involves partly   
○  turn it into  
○  coal-rich  

make it  
6. Education should emphasize our interdependence with peoples, with 

other species and with the planet as a whole. 
○  Our 
○  With 
○  Should 
○  as a whole 

7. The minimum wage bill provides for a gradual reduction of the minimum 
wage from $5.15 an hour to $7.25 an hour over two years. 
○  Reduction 
○  Minimum 
○  Bill 
○  over two years  

8. Advocacy for child war victims, children in hazardous work, abused 
children and those variously exploited or handicapped has attracted the 
attention and commitment of legislators and policy-makers through the 
world. 
○  Those 
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○  has attracted 
○  through 
○  in 
9. The economy is heavy dependent on industry, and economic growth has 

always been of greater concern than environmental preservation. 
○  on industry 
○  heavy 
○  has always been 
○  than 
10. Public opinion polls have consistently demonstrated the public’s 

willingness for 'tradeoff' economic growth for environmental protection. 
○  Consistently 
○  opinion polls 
○  for 
○  environmental  

 

TASK 3 

Read the sentences below and put them into correct order: 

____________________ 

A: When this bank was founded in 1695, Scots coinage was in short 
supply and of uncertain value, compared with English, Dutch, Flemish or 
French coin. 

B: In most countries it is only the government, through their central 
banks, who are permitted to issue currency. 

C: To face growth of trade it was deemed necessary to remedy this lack 
of an adequate currency. 

D: But in Scotland three banks are still allowed to issue banknotes. 
E: The first Scottish bank to do this was the Bank of Scotland. 
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TASK 4 

For questions 1–15, read the text below and think of the word 

which best fits each space. Use only one word in each space. 

There is an example at the beginning (0). 

Europe has always had its differences. At the moment, as politicians are 
trying to agree (0) on monetary union, EU funding and social policy, we ignore 
other things — the things that matter. 

Think of food, kissing or dress sense. Think of (1) _______________ people 
in different countries speak on the telephone. The Eastern European translation 
of “Good morning. My name is James Brown. Would you be (2)_____________ 
kind as to put me through to Mr Ivanov?” is just a shout: “Ivanovaaaa!” 

Sense of humour changes a great (3)___________ from country to country. 
What is funny in one place (4) _________________ be rude in another. The same 
can be (5) ______________ for gestures: what is acceptable in an Italian taverna 
(snapping your fingers to call the waiter’s attention, for example) can (6) 
____________ a fight in an Irish restaurant. In some countries — Poland, Russia 
and, up to a point, Britain — the art of queuing means people (7) ____________ 
straight lines; in others like Greece (8) ____________ Portugal, queues take a 
more artistic shape. 

All (9) ____________ unfortunately goes almost unreported. Journalists, 
when they write books, tend to write (10) __________ historic events. However, 
sometimes scholars go (11) ______________ journalists dare not. Peter Collett, a 
psychologist at Oxford University, has written a guide (12) ________________ 
European manners. Using history (13) _________________ explain cultural 
differences, he covers queuing, humour, cleanliness and yes and no gestures. The 
chapter (14) _______________ hand signals is frightening; after you have read it, 
you will keep your hands firmly in your pockets (15) _______________ abroad. 

TASK 5 

Choose the option that best completes the sentences below: 

1) Tuesday was the last time we ______ the house before we left. 
a) had been cleaning                b) do not clean                   c) will not be cleaning 
2) My brother will go abroad as soon as he ______ his passport. 
a) will get                b) could get              c) gets 
3) We are very sceptical about the book ______ published. 
a) being                    b) be              c) been 
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4) Frank as well as his sister ______ planning to come to our party. 
a) is                b) are              c) will 
5) Neither you nor he ______ to blame. 
a) is               b) are             c) should be 
6) They ______ to play volleyball since yesterday. 
a) want             b) wanted               c) have been wanting 
7) I haven’t seen him ______ a long time ago. 
a) after              b) for                c) since 
8) Maggie broke her leg and had to stay in the hospital ______ two 

days. 
a) after             b) for            c) since 
9) I haven’t talked to him ______ last week. 
a) after                b) for               c) since 
10) Of all the grammar points I have studied in my seven years of 

English, the most recent unit ______ me the most for a variety of reasons. 
a) confuses                 b) confuse                   c) confused 
11) According to the police, the killer ___ probably between the ages of 

40 and 50. 
a) is                 b) are                 c) were 
12) That Shakespeare was one of the most talented writers ______ an 

understatement to those who are really familiar with the field of literature. 
a) are              b) is                      c) has been 
13) Have your parents made any financial allowance ______ your study 

visit? 
a) with               b) against                  c) for 
14) Is there anybody in your family ______ whom you disagree 

strongly? 
a) of              b) to                  c) with 
15) You should ______ these things without neglecting the others. 
a) to do              b) have done            c) did 
 

TASK 6 

Complete the sentences below using the best-suited form of the 

word in bold: 

1 What can we do to reduce the ___________ of the atmosphere?            pollute 
2 The change in the climate has produced ___________ floods.                  disaster 
3 Many rare species are threatened with ___________                                 extinct 
4 Many of the gases produced by factories are ___________ to our health. harm 
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5 Exhaust fumes have ___________ effects on the environment.                 damage 
6 Many countries must try and control the growth of the ___________ .     
populate 
7 Protecting the environment is essential to our ___________                     survive 
8 The ___________ of the environment is everyone's responsibility.           protect 
9 While some countries get richer, the ___________ in others gets worse.  poor 
10 Millions of people in the world are threatened with ____________         starve 

 

TASK 7 

Choose the option that best completes the sentences below: 

 
1) However, if there are problems evident in this ______ of life, then it has a 
tremendously disturbing affect upon them. 
a) area              b) sector                c) context 
2) In order to ______ parents today, it is necessary to make schools feel like open 
places. 
a) involve              b) embroil                c) entangle 
3) It ______ my heart to sell my car but it’s become too unreliable. 
a) breaks           b) disrupts                c) interrupts 
4) I ______ the essays over the weekend — here are the pie charts of my marks 
on the 71 essays. 
a) checked               b) marked               c) evaluated 
5) The astronauts have examined Endeavour’s windows and reported to ______ 
control there’s no launch-related clouding or damage. 
a) task                 b) assignment             c) mission 
6) Studies show that when people are allowed to ______ mistakes, they are 
significantly less likely to actually make them. 
a) do                 b) make              c) commit 
7) I thanked him and went inside, he ______ the horn and drove off. 
a) blew            b) pushed             c) touted 
8) Many factors led to the ______ tensions that eventually led to the global 
conflict. 
a) increased                b) grown                 c) lifted 
9) The executive ______ said she was proud of the service’s achievements and 
was excited about the future. 
a) leader              b) head              c) manager 
10) The fortress was ______ in 1329 under Robert of Anjou and completed in 
1343, the year of his death. 
a) started              b) launched                  c) initiated 
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11) The Stag Ballroom offers an ____ setting for traditional Scottish wedding 
receptions and it boasts plenty of room for dancing. 
a) atmospheric                   b) spacious                c) vast 
12) Now I fully understand that not everyone likes to ______ camping. 
a) come           b) walk                  c) go 
13) These hunters were instrumental in alerting the local Ministry of Natural 
Resources about the ____ weather condi tions. 
a) weird             b) freak               c) odd 
14) Employer paid premiums on amounts of life insurance in excess of $50000 
already are taxed, making them unique among fringe ______. 
a) benefits           b) profits                c) perks 
15) When people feel so selfconscious and anxious that it ______ them from 
speaking up or socializing most of the time. 
a) impedes             b) prevents            c) hampers 

TASK 8 

Choose the right meaning for the idioms below: 

1) «Once in a blue moon» means ______. 
a) often           b) frequently             c) rare 
2) To «act up» means ______. 
a) to share an idea            b) to behave badly             c) to pretend to be 

rich 
3) To «eat your words» means ______. 
a) to apologise           b) to shout loudly            c) to be quiet 
4) If you “keep an eye out” it means ______. 
a) watch carefully             b) you are in charge           c) you don’t pay 

attention 
5) To “know the ropes” means to be ______. 
a) experienced          b) confident           c) ignorant 
6) If someone says to you to “keep your shirt on”, you should ______. 
a) take control          b) leave        c) calm down 
7) If you are “quaking in your boots”, you are ______. 
a) brave            b) afraid            c) confident 
8) To “talk back” is to ______. 
a) ask a question             b) shout            c) answer rudely 
9) «Walking on air» means you are ______. 
a) happy            b) depressed                  c) upset 
10) The “rear end” is ______. 
a) the start of something              b) a one way street               c) the back 

part 
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TASK 9 

Read the text below and choose the correct answer (A, B, C or D) 

to fit each gap. 

We all know that eating too much junk food is bad for our health, but did 
you know that eating some kinds of health foods could be just as bad for you? 

Michel Simon, who (1)…. the Centre for Informed Food Choices in the 
USA, says there are sugary sports drinks that are as unhealthy as cola. “These 
drinks may be (2) …. for marathon runners, but for kids doing ordinary 
exercise, they may end up doing more (3) … than good.” Breakfast cereals, 
which of course are very (4) …. with kids, have also been criticised. Whilst they 
are often high in fibre, some of them (5) …. a lot more sugar and salt than you 
would expect. In addition, some of the foods we have (6) … to know as ‘health 
snacks’ have also been added to the black (7) …Although they look and sound 
nutritious, in most (8) … they are much tastier than they are healthy for you. 
For example, some types of dried fruit were (9) …. to have more fat and sugar 
than the fruit they were (10) …. from. 

1 A arranged B invented C constructed D founded 
2 A precious B worthy C beneficial D valuable 
3 A loss B injury C harm D damage 
4 A common B known C popular D famous 
5 A involve B contain C consist D include 
6 A come B started C Brought D arrived 
7 A guide B account C column D list 
8 A cases B purposes C occasions D situations 
9 A searched B found C discovered D realised 
10 A produced B created C formed D developed 

 

TASK 10 

Complete the second sentence so that it has a similar meaning to 

the first sentence, using the word given. Do not change the word 

given. 

1. It isn’t easy for Lynda to express her feelings. 
DIFFICULTY Lynda ……………… her feelings. 
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2. His parents made him stay at home last night. 
LET His parents ……………… out last night. 
3. My dad helped me with my homework last night. 
HAND My dad ……………… with my homework last night. 
4. Jane wasn’t late for once. 
TIME Jane ……………… for once. 
5. Samuel is not trying to improve himself. 
EFFORT Samuel is ……………… himself. 
6. ‘Is washing the car now really necessary?’ 
HAVE ‘Does the car ……………… now?’ 
7. She was smiling, so I’m sure she was happy. 
MUST  She was smiling, so ……………… happy. 
8. We’ve missed the last bus, so there is no point in waiting. 
WORTH It ……………… because we’ve missed the last bus. 
9. She spent her childhood in Spain. 
BROUGHT She ……………… in Spain. 
10. You need to reach a decision as soon as possible. 
MIND You need to ……………… as soon as possible.  

 
WRITING 

You will have to plan, write and revise an essay about the topic below. 
Your response will be judged on how well you develop a position, organize 
your ideas, present supporting details, and control the elements of 
standard written English. You should write 200–250 words. 

Human values change from generation to generation to the better 
or to the worse. At any given moment in your life, you have a set of 
abstract values that guide your actions. In addition to individual 
differences in values, there may also be changes in values as people age. 
What are modern values? How much have our values changed since the 
times your parents were young? 
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НІМЕЦЬКА МОВА 
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КОНТРОЛЬНІ ЗАВДАННЯ З НІМЕЦЬКОЇ МОВИ 
9 КЛАС 

 

NIVEAU I 

Leseverstehen 

Lesen Sie den Text und machen Sie Aufgaben dazu.  

Von Prag nach Norddeutschland  

Beobachtungen von Jitka Stelter aus Tschechien 

Ich komme aus dem Gebiet Tschechiens, das Mähren genannt wird. 
Es liegt im Osten und ist durch schöne Landschaft, freundliche Menschen, 
Weinbau und viele gemütliche Weinkeller geprägt. Die Hauptstadt der 
Tschechischen Republik heißt Prag, und Prag spielt eine Rolle in der 
Geschichte, warum ich jetzt seit fünf Jahren in Deutschland lebe. Ich 
arbeitete damals im Büro, und war gerade dabei, heimlich im Internet zu 
chaten, als mein zukünftiger Ehemann aus Deutschland mir schrieb – er 
wollte nach Prag reisen, und bat mich um ein paar gute Reisetipps. Es war 
nicht Liebe auf den ersten Blick, sondern Liebe „auf die erste Zeile”. Ich 
mochte sehr, wie er schrieb. Wir trafen uns dann später zum ersten Mal 
in Prag. 

Jetzt wohnen wir in der Hafenstadt Kiel an der Ostsee. Es ist immer 
sehr aufregend für mich, dass das Meer sich mitten in der Stadt befindet. 
Aus Tschechien muss man viеlе Stunden reisen, um das blaue Schimmern 
zu sehen. Auch die riesigen Kreuzfahrtschiffe und Seemannslieder finde 
ich sehr spannend. Es gibt hier viele Fahrradwege. Es fahren sogar 
Männer in Anzügen Rad. 

Ich denke, in Deutschland ist vieles gut bis ins Detail 
durchorganisiert und man bietet den Kunden einen guten Service. Ein 
Beispiel: Wenn ich in meiner Heimat schicke Schuhe anprobieren 
möchte, aber keine Strümpfe dabei habe, muss ich ein Paar kaufen. Für 
deutsche Kundinnen steht eine Schachtel voller Strümpfe kostenlos zur 
Verfügung. 
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Aber ich staune über das Aussehen von vielen deutschen Frauen. 
Ungefärbte, graue Haare, ungeschminkt, in ausgewaschenen Regenjacken. 
Naturbelassen und mit großem ökologischen Bewusstsein! Und viele deutsche 
Frauen wählen mit mehr Selbstverständlichkeit die Berufe, wo die Männer 
dominieren, z. B. im handwerklichen Bereich. 

Die Lebenseinstellung von einigen deutschen Rentnern hat mir gefallen. 
Sie genießen das Leben noch. Reisen, tanzen, fahren Auto und denken auch 
an sich selbst. Ein typischer Satz von alten Leuten aus meiner Heimatstadt in 
Tschechien ist: Wir sind nicht mehr wichtig, wir brauchen nichts, möchten 
nichts, die Hauptsache ist, den jungen Leuten geht es gut.  

 

Aufgabe 1. Wählen Sie die richtige Variante (2,5 Punkte). 

1. In Kiel gibt es viele ... . 
a) Seewege 
b) Spazierwege 
c) Fahrradwege 
d) Autobahnen 

 
2. Jitka arbeitete ... . 

a) in einer Werkstatt 
b) in einem Büro 
c) im Prager Reisebüro 
d) in einem Schuhgeschäft 

 

3. Jetzt wohnt sie ... . 
a) in Kiel 
b) in Prag 
c) in Mähren 
d) in Lübeck 

 

4. Jitka Stelter staunt ... von vielen deutschen Frauen. 
a) über das Benehmen 
b) über das Aussehen 
c) über die Lebenseinstellung 
d) über die Selbstverständlichkeit 

 

5. Jitka mag ... mitten in der Stadt gelegen. 
a) große Parks 
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b) den Hafen 
c) schöne Landschaften 
d) das Meer 

 
6. Aus Tschechien muss man viеlе Stunden reisen, ...  

a) um das Meer zu sehen 
b) um die riesigen Kreuzfahrtschiffe zu sehen 
c) um Seemannslieder zu hören 
d) um gute Fahrradwege zu finden. 

 

7. Viele deutsche Frauen arbeiten im ... Bereich. 
a) handwerklichen 
b) kaufmännischen 
c) ökologischen 
d) sozialen 

 

8. Ihren zukünftigen Mann lernte Jitka ... kennen. 
a) in einem Laden 
b) während der Rundfahrt durch Prag 
c) im Chat 
d) am Meer 

 

9. Die alten Leute aus ihrer Heimat fühlen sich ... . 
a) wichtig 
b) lebenslustig 
c) fremd 
d) unnötig 

 

10. In Deutschland ist vieles gut bis ins Detail ... .  
a) pünktlich 
b) ordentlich 
c) durchorganisiert 
d) automatisiert 

 

Aufgabe 2. Ordnen Sie die Textgliederung in richtiger Reihenfolge 

(2,5 Punkte). 

 
A. Service in Deutschland 
B. Die Lebenseinstellung von deutschen Rentnern 
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C. Liebe „auf die erste Zeile“ 
D. In der Hafenstadt Kiel 
E. Deutsche Frauen 
 

Aufgabe 3. Wählen Sie die richtige Variante (2,5 Punkte). 

1. Frau Eckardt hat Frau Schulz an der Haltestelle gesehen und gefragt, ... sie 
wartet – auf den Bus oder auf die Straßenbahn. 

a) auf wen 
b) auf was 
c) worauf 

 
2. Irgendwo habe ich diesen Menschen schon gesehen, aber an seinen 

Namen kann ... . 
a) ich nicht erinnern 
b) ich nicht erinnert 
c) ich mich nicht erinnern 

 
3. Die ganze Familie meiner österreichischen Freunden Baür ... im nächsten 

Jahr bei uns in der Ukraine. 
a) erholt sich 
b) erholt 
c) erholen 

 
4. Ich hatte Jürgen lange nicht gesehen und wir ... über unser Leben in 

dieser Zeit. 
a) unterhalten 
b) unterhielten 
c) unterhielten uns 

 
5. Die Tante Emilia lädt uns ein: "Ihr könnt ... am Samstag oder am Sonntag 

mich besuchen, ich freue mich darauf!" 
a) oder 
b) auch 
c) entweder 

 
6. Deutsch ist für meine Schwester ein ... Fach, ihre Noten darin sind selten 

gut. 
a) schweres 
b) schwere 
c) schwerer 
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7. Der Ingenieur Rudolf Diesel wurde durch ... Motor weltbekannt. 
a) den von ihm konstruierten  
b) den konstruierten von ihm  
c) von ihm den konstruierten  

 
8. Der erste ... der Welt war mehr als drei Tonnen schwer. 

a) im Jahre 1941 gebaute Computer vom Berliner Professor Conrad 
Zuse 

b) vom Berliner Professor Conrad Zuse Computer gebaute im Jahre 
1941 

c) im Jahre 1941 vom Berliner Professor Conrad Zuse gebaute 
Computer 

 
9. Sehen Sie dort eine weiße Kirche? Das Postamt, das Sie brauchen, ist .... 

a) neben ihr 
b) neben da 
c) daneben 

 
10. Im Schulkorridor stehen die Gäste aus Österreich, ... sind viele Schüler, 

die mit ihnen deutsch sprechen. 
a) daneben 
b) nebenda 
c) neben ihnen 

 

Aufgabe 4. Bilden Sie die Sätze (2,5 Punkte). 

1. stellen, der Schreibtisch, in, Sie, die Ecke, der Bücherschrank, oder, 
neben? 

2. das Heft, in, aufschreiben, nehmen, und, der Schüler, der Kugelschreiber, 
neue Wörter. 

3. morgen, aufgeben, die Aufsätze, die Lehrerin, wir. 
4. schwer, das Wetter, oft, sein, es, zu, voraussagen. 
5. wissen, sich interessieren, Walter, ich, dass, für, Basketball 
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NIVEAU II 

Lexikalisch-grammatische Teste 

Aufgabe 1. Wählen Sie die richtige Variante. (3 бали)  

 
1. Er macht … mit seinen Eltern bekannt. 

a) ich  
b) Meiner 
c) Mir 
d) Mich 

 
2. Sind Sie Engländer? – Nein, ich komme nicht … England. 

a) Von 
b) Aus 
c) Nach 
d) Zu 

 
3. Wo leben Sie in … Ukraine? 

a) die  
b) Der 
c) dem 
d) das 

 
4. Wo … Sie? 

a) studieren 
b) studiert 
c) studiere 
d) studierst 

 
5. Die Frau … studiert an der Universität. 

a) meinen Bruders 
b) meines Bruder 
c) meines Bruders 
d) meinen Bruder 

 
6. Wer … der Mutter im Haushalt? 

a) helfen 
b) hilft 
c) helft 
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d) hilfst 
 
7. Sein Opa ist schon … . 

a) sterben 
b) starb 
c) gesterben 
d) gestorben 

 
8. Sie ist 5 Jahre … als ihr Bruder. 

a) jung 
b) junger 
c) jünger 
d) Jüngerer 

 
9. Frau Sandoni, Sie müssen eine Woche im Bett bleiben und ... nicht 

rauchen. 
a) möchten 
b) müssen 
c) brauchen 
d) Dürfen 

 
10. Kommst du auch zu Sabines Party? – Nein, ... . 

a) muss ich arbeiten am Samstag 
b) ich muss am Samstag arbeiten 
c) ich muss arbeiten am Samstag 
d) ich am Samstag arbeiten muss 

 
11. ......................... ? – Um acht Uhr. 

a) Wann stehen Sie auf 
b) Wie spät ist es 
c) Wann aufstehen Sie 
d) Klingelt der Wecker 

 
12. Hm, was nehme ich denn? – ... doch mal die Tomatensuppe! – Ja, 

gute Idee!                                  Das mache ich. 
a) Sie probieren 
b) Probierst du 
c) Du probierst 
d) Probieren Sie 
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13. Wir fahren aufs Land nicht, ... es einige Tage regnet.  
a) als 
b) während 
c) weil 
d) Obwohl 

 
14. Unser ... Lehrer ist immer elegant angezogen. 

a) neuer 
b) neue 
c) neuen 
d) Neu 

 
15. Ich gehe ins Lebensmittelgeschäft, ... . 

a) damit Butter und Käse zu kaufen 
b) dass Butter und Käse zu kaufen 
c) um Butter und Käse zu kaufen  
d) damit Butter und Käse kaufen 

 

Aufgabe 2. Ergänzen Sie die Verben sinngemäß und in richtiger 

Form (3 Punkte). 

a. treffen          b. gehen          c. studieren         d. machen         e. wohnen 

          f. sich verlieben         g. kennen lernen      h. bekommen         i.  heiraten 

 

Es war Liebe auf den ersten Blick! 

Sie haben sich schon als Kinder in der Schule _______ (1). Sie haben 
in derselben Straße _______ (2) und sind immer zusammen zur Schule 
_______ (3). Sie haben sich jeden Nachmittag nach der Schule _______ 
(4) und haben auch zusammen die Hausaufgaben _______ (5). Dann sind 
seine Eltern nach Hamburg umgezogen, und sie haben sich für viele Jahre aus 
den Augen verloren. Nach dem Abitur hat sie dann Chemie in Hamburg 
_______ (6). In einem Seminar ist er plötzlich neben ihr gesessen und sie 
haben sich gleich wieder ineinander _______ (7). Alles war wie früher. Nach 
dem Studium haben sie eine Stelle in derselben Stadt _______ (8). Sie haben 
dann auch bald _______ (9). Und wenn sie nicht gestorben sind, so leben sie 
noch heute. 
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Aufgabe 3. Schreiben Sie die Geschichte im Perfekt (4 Punkte). 

Michael fährt am Nachmittag mit dem Bus in die Stadt. Er steigt im 
Zentrum aus und geht ein bisschen spazieren. In einem Kaufhaus probiert 
er eine neue Hose an,  kauft aber auch ein T-Shirt. Unterwegs isst er ein 
Eis. Am Marktplatz trifft er einen Freund. Sie reden über die Schule und 
den interessanten Unterricht. Zusammen gehen sie in einen Buchladen 
und suchen eine Grammatik. Danach ruft Michael seine Freundin an und 
lädt sie ins Kino ein. 
NIVEAU III 

Schriftlicher Ausdruck 

Aufgabe 1. Äußern Sie sich zur gegebenen Situation 

(5 Punkte). 

 
Ihre Freundin Maria, die in Hamburg wohnt, hat Sie eingeladen. Sie 

möchten Maria in den Ferien besuchen, aber Sie haben einige Fragen an sie. 
Schreiben Sie einen Brief zu folgenden Punkten: 

Wann? 
Wetter 
Kleidung 
Ausflüge 
Vergessen Sie Anrede und Gruß nicht! 
 

Aufgabe 2. Schreiben Sie einen Aufsatz zum Thema „Moderne 

Jugend und Freizeit“ (zirka 15–20 Sätze) (5 Punkte). 

 
 
 

  



47 

КОНТРОЛЬНІ ЗАВДАННЯ З НІМЕЦЬКОЇ МОВИ 
10 КЛАС 

NIVEAU I 

Hörverstehen (10 Punkte) / Aудіювання (10 балів) 

I. Hören Sie den Text „Interview mit Laura“ und wählen Sie 10 

richtige Antworten. 

 
1) Welche Gegenstände mag Laura in der Schule am liebsten? 

� Rechnen 
� Turnen 
� Zeichnen 
� Schreiben 

� Sachunterricht 
� Lesen 
� Werken 

 
 
2) Welche Bücher liest Laura gerne? 

� Bücher über Katzen 
� Bücher über Pferde 
� Märchenbücher 
� spannende Bücher 

 
3) Was macht Laura gerne in ihrer Freizeit? 

� tanzen  
� schwimmen  
� lesen  
� basteln  

� reiten  
� mit den Freundinnen im Park spielen  
� Ball spielen 

 
 
4) Welche Musikinstrumente spielt Laura? 

� Gitarre 
� Klavier 
� Flöte 
� Geige 
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II. Hören Sie den Text „Interview mit Laura“ und bestimmen Sie 

richtige (+) und falsche (–) Sätze. 

 
5. Laura geht in die fünfte Klasse Volksschule. 
6. Laura mag nicht Rechnen, weil sie auf die eine Schularbeit eine Drei 

gekriegt hat. 
7. In Lauras Schule gibt es eine eigene Bücherei.  
8. Laura mag nicht fernsehen.  
9. Im Frühling oder im Sommer geht sie gerne in den Wald. 

NIVEAU II 

Leseverstehen (10 Punkte) / Читання (10 балів) 

III. Lesen Sie den Text.  

Einmal pro Woche zu Hause am Computer 

Etwa 1000 Jugendliche aus der holländischen Stadt Tilburg werden 
im nächsten Schuljahr einen Unterrichtstag pro Woche zu Hause bleiben, 
um am Computer zu lernen. Denn der Lehrer schickt den 15- bis 
16jährigen Schülern ihre Aufgaben dann auf den Computerbildschirm. 

Dadurch müssen sich die Schüler nicht mehr dem Lerntempo der 
Klasse anpassen. Gute Schüler können schneller, schwache Schüler 
langsamer lernen. Der Lehrer kann mit jedem Schüler individuell 
arbeiten. Die Pädagogen wissen nämlich längst, dass die klassische 
Unterrichtsform für höhere Klassen oft nicht ideal ist. Wenn Kinder 
Lesen, Schreiben und Rechnen gelernt haben, können sie neuen Stoff 
auch allein lernen. 

Die Computer werden nicht von der Schule gekauft, sondern sie 
müssen von den Eltern bezahlt werden. Aber auch das holländische 
Verkehrsministerium finanziert einen Teil des Projekts, damit die Schüler 
zu Hause bleiben, keine Busse und Bahnen benutzen und so den Verkehr 
entlasten. 

Welcher der zwei Sätze entspricht dem Text?  
1. a) Etwa 1 000 holländische Schüler lernen im nächsten Schuljahr in 

der Schule, am Computer zu arbeiten. 
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b) Etwa 1 000 holländische Schüler bleiben im nächsten Schuljahr einen Tag 
pro Woche zu Hause und lernen am Computer. 

 
2. a) Das ist eine gute Lösung, denn so müssen sich die Schüler nicht mehr 

dem Lerntempo der Klasse anpassen. 
b) Das ist ein Problem, denn gute Schüler wollen schneller und schwache 

Schüler wollen langsamer lernen. 
 
3. a) Kinder sollen allein Lesen, Schreiben und Rechnen lernen. 
b) Kinder in höheren Klassen können neuen Stoff auch allein lernen. 
 
4. a) Die Schule und das holländische Verkehrsministerium kaufen die 

Computer. 
b) Das holländische Verkehrsministerium bezahlt auch einen Teil des 

Projekts. 
 
5. a) Die Pädagogen wissen, dass die klassische Unterrichtsform für höhere 

Klassen oft nicht ideal ist. 
b) Die Pädagogen wollen, damit die Schüler zu Hause lernen und selbständig 

werden. 

IV. Lesen Sie den Text. 

 
Ist Frauenfußball Männersache? 

Die deutsche Fußball-Nationalmannschaft wurde 1990 in Italien 
Weltmeister – das weiß jeder. Die deutsche Frauen-Nationalmannschaft 
wurde 1989 in Deutschland Europameister – wusstet ihr das auch? 
Frauenfußball ist auch heute noch eine ziemlich unbekannte Sportart, obwohl 
fast eine halbe Million Mädchen und Frauen in Vereinen des DFB (Deutscher 
Fußballbund) spielen. 

Seit der Europameisterschaft ist die Beliebtheit des Fußballs bei den 
Frauen sehr gestiegen. Es gibt seit 1990 auch eine Frauen-Bundesliga. Doch 
damit hört die Gleichberechtigung auch schon auf. Fußball ist in Deutschland 
immer noch „Männersache". Diese Benachteiligung hat in Deutschland 
Tradition: Noch im Jahre 1955 war Damenfußball sogar offiziell verboten. Als 
Begründung brachte der DFB hervor, dass Fußball ein Kampfsport und damit 
nichts für das „schwache Geschlecht" sei. 

Trotzdem spielten in den siebziger Jahren schon über l 000 
Frauenmannschaften. Für sie galten jedoch immer noch andere Regeln. Ein 
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Spiel durfte nicht wie bei den Männern 90 Minuten, sondern nur 60 
Minuten dauern. Der Ball war leichter, nur 390 Gramm schwer, und den 
Frauen war es nicht erlaubt, im Regen zu spielen. Außerdem durften sie 
keine Stollenschuhe - die speziellen Fußballschuhe - tragen. 

All das hat sich inzwischen geändert. Die Männer bestimmen aber 
immer noch den Frauenfußball. Denn DFB-Lehrer weigern sich, weibliche 
Trainer auszubilden, und es gibt keinen einzigen weiblichen 
Schiedsrichter. Frauenmannschaften bekommen vom DFB auch keine 
finanzielle Unterstützung. Deshalb sparen sie, wo sie können, und 
waschen sogar ihre Sportkleidung selbst. 

Besonders ärgerten sich die Spielerinnen der Nationalmannschaft, 
als sie nach ihrem Sieg bei der Europameisterschaft eine Goldmedaille 
und ein Kaffeeservice bekamen, während ihre männlichen Kollegen für 
den Weltmeisterschafts-Sieg jeder 65 000 Euro vom DFB erhielten. Die 
Nationalspielerinnen sind jedoch optimistisch: „Fußball wird nicht mehr 
lange nur Männersache bleiben, denn Frauen spielen genauso gut wie 
Männer - daran können auch die Herren des DFB nichts ändern." 

Markieren Sie den Buchstaben für die richtige Antwort durch 
Ankreuzen. Zu jeder Aufgabe gibt es nur eine richtige Lösung. 

 
6. a) Die deutsche Nationalmannschaft hat 1990 gegen die italienische 

Mannschaft gespielt und gewonnen. 
b) Eine halbe Million Mädchen und Frauen auf der ganzen Welt spielen 

Fußball in Vereinen. 
c) Jede Deutsche weiß, dass die Nationalmannschaft 1990 Weltmeister 

wurde. 
d) Viele Leute wissen nicht, dass auch Frauen Fußball spielen. 
 
7. a) 1955 wurde der Damenfußball vom DFB verboten, weil es ein 

Kampfsport ist. 
b) Seit der Europameisterschaft interessieren sich mehr Frauen für 

Fußball. 
c) Seit 1990 sind weibliche und männliche Fußballspieler in Deutschland 

gleichberechtigt. 
d) Fußball ist für Frauen zu gefährlich, denn es ist ein Kampfsport. 
 
8. a) Für Frauenmannschaften gelten auch jetzt noch andere Regeln 

beim Spiel. 
b) Frauen durften früher bei Regen keine Stollenschuhe tragen. 
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c) Zwischen 1970 und 1980 gab es schon mehr als 1 000 
Fußballmannschaften für Frauen. 

d) Ein Spiel zwischen Frauenmannschaften dauert 60 oder 90 Minuten. 
 
9. a) Jetzt hat sich die Situation geändert und Frauen sind in allen Bereichen 

des Fußballs gleichberechtigt. 
b) Die Frauenmannschaften waschen ihre Sportkleidung selbst, weil sie 

sparen müssen. 
c) Frauen wollen sich nicht als Trainer ausbilden lassen oder als 

Schiedsrichter arbeiten. 
d) Es gibt noch keine Trainer für Frauenmannschaften. 
 
10. a) Die Frauen der Nationalmannschaft bekamen nach ihrem Sieg bei der 

Europameisterschaft kein Geld vom DFB. 
b) Auch die Männer meinen, dass Frauen genauso gut wie sie Fußball 

spielen. 
c) Die Spielerinnen der Nationalmannschaft ärgerten sich, weil sie bei der 

Europameisterschaft eine Goldmedaille bekamen. 
d) Die Nationalspielerinnen hoffen, dass bald nur noch Frauen Fußball 

spielen. 

NIVEAU III 

Schreiben (10 Punkte) / Письмо (10 балів) 

V. Lexikalisch-grammatischer Test (5 Punkte) 

 
1. Bring mir bitte die Liste mit den Namen der Freunde, ….. du eine 

Einladung schicken willst. 
a) die 
b) den 
c) dass 
d) denen 

 

2. Nicht weit von unserem Haus ….. vor kurzem ein neues Geschäft eröffnet. 
a) wird 
b) wurde 
c) hat 
d) hatte 
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3.  …… denkst du eigentlich? 
a) Worauf 
b) Woran 
c) Wofür 
d) Worüber 

 
4. Unsere Freunde haben eine neue Wohnung. Wir sind zu ….. eingeladen. 

a) ihnen 
b) ihm 
c) sie 
d) ihr 

 
5. Erinnerst du dich noch ….. mich? 

a) über 
b) an 
c) von 
d) auf 

 
6. Der Direktor nimmt ….. dieser internationalen Konferenz teil. 

a) in 
b) auf 
c) von 
d) an 

 
7. Wenn du mir dabei helfen möchtest, ….. ich dir sehr dankbar.  

a) werde  
b) wurde  
c) wäre 
d) würde  

 
8. Ich weiß nicht, …. ich morgen kommen kann.  

a) dass  
b) wenn  
c) das  
d) ob 

 
9. Die Journalisten, nach denen du gefragt hast, ….. schon weggegangen. 

a) haben  
b) werden  
c) sind  
d) ist 
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10. Herr Fisch ….. dort zwei Wochen geblieben.  
a) hat  
b) ist 
c) wird  
d) hatte  

 

VI. Adjektive. Wählen Sie die korrekte Form aus. 

 
11. Trägst du gern____Rock? 

a) kurze 
b) kurzen 
c) kurzes 

 
12. Hans ist der____Schüler. 

a) beste 
b) bester 
c) besten 

 
13. Ich lese ein____Buch. 

a) gutes 
b) gute 
c) guten 

 
14. Mutti mag die_____Farbe. 

a) roten 
b) rotes 
c) rote 

 
15. Franz erzählt über einen _____Film. 

a) spannender 
b) spannende  
c) spannenden 

 
16. Lisa geht mit ihrer______Freundin ins Kino. 

a) besten 
b) bester 
c) beste 
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17. Anna hat ein Kleid mit____Arm an. 
a) langes 
b) langen 
c) langem 

 
18. Die___Bluse passt zu der____Hose. 

a) weiße ... blauen 
b) weiße ... blauer 
c) weiße ... blaue 

 
19. Die Katze schläft unter dem____Baum. 

a) große 
b) großem 
c) großen 

 
20. Ich schicke meinem___Freund einen____Brief. 

a) guter ... langen 
b) guten ... langen 
c) gutem ... lange 

 
 

VII. Schriftlicher Ausdruck (5 Punkte) 

Die Jugend von heute 

 

Die junge Generation hat heute größere Chancen und Freiheiten als 
früher, aber auch mehr Probleme. Wie ist Ihre Meinung von moderner 
Jugend? Wodurch unterscheidet sie sich von den früheren 
Generationen? 

Schreiben Sie zirka 20 Sätze. 

  



55 

КОНТРОЛЬНІ ЗАВДАННЯ З НІМЕЦЬКОЇ МОВИ 
11 КЛАС 

NIVEAU I 

Hörverstehen (10 Punkte)/ Аудіювання (10 балів) 

 

I. Hören Sie den Text „Sind Sie hier der Trainer?“ und wählen Sie die richtige 
Antwort. 

1. Mit wem spricht Frau Rieger? 
 

a) mit dem Trainer 
b) mit einem Vater  
c) mit dem Bademeister 

 
2. Wie alt ist das Kind von Frau Rieger? 
 

a) 6 Jahre 
b) 7 Jahre 
c) 8 Jahre 

 
3. Wann trainiert der Schwimmverein wieder das nächste Mal? 
 

a) heute 
b) morgen um 17 Uhr 
c) morgen um 19 Uhr 

 
4. Wie oft pro Woche trainieren die Anfänger? 
 

a) 1 Mal pro Woche 
b) 2 Mal in der Woche 
c) 3 Mal wöchentlich 

 
5. Wann wird Frau Rieger mit ihrem Sohn vorbeikommen? 
 

a) morgen 
b) heute Abend 
c) nächste Woche 
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II. Hören Sie den Text „Sind Sie hier der Trainer?“ und ergänzen Sie 
fehlende Wörter. 

Aber ich kann Ihnen ein bisschen etwas (6)                      , vielleicht 
hilft Ihnen das weiter. Sie müssen sich anmelden.   

Das können Sie über's (7)                       machen, und Sie müssen mit 
dem Kind zu einem Vorstellungstermin kommen und der Trainer, das ist 
der Charly, also morgen zum Beispiel um (8)                       Uhr ist so ein 
Termin, wo sie trainieren.  

Der schaut sich das Kind an, dann kann er am Anfang ein bisschen 
(9)                      , dann sieht der Trainer wie viel er kann und dann wird er 
einer Gruppe zugeteilt und dort kann er dann (10)                      . 

NIVEAU II 

Leseverstehen (10 Punkte)/ Читання (10 балів) 

III. Lesen Sie den Text und bringen Sie die Textteile in richtige 

Reihenfolge. 

1 2 3 4 5 6 
      

 

Albert Einstein: das „dumme" Genie 

A      Es dauerte Jahre, bis sich der geniale Außenseiter durchgesetzt 
hatte. Dann aber beeinflussten seine Gedanken so unterschiedliche 
wissenschaftliche Gebiete, wie die Raumforschung und die Physik, die 
Sternenkunde und die Naturwissenschaft. Der Denker Einstein trug 
entscheidend zur Entwicklung der Experimentalphysik und der Technik 
bei. Erst durch seine Gedanken wurde die Erfindung von den Maschinen 
möglich, mit denen die Physiker heute arbeiten. 

Ihm selbst aber waren Maschinen aller Art zu kompliziert. Deshalb 
fuhr er nie Auto und schrieb lieber mit der Hand als auf der 
Schreibmaschine. Seine Abenteuer erlebte er am liebsten im Kopf und 
hier konnte er die meisten Probleme spielend lösen. 

B        Er beschäftigt sich jedoch abends und am Wochenende 
weiterhin mit der Physik. Drei Jahre später veröffentlicht der gerade 26-
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Jährige seine sogenannte „Relativitätstheorie". Die 30 Seiten lange Schrift 
verursacht eine wissenschaftliche Veränderung des damaligen Weltbildes. 
Und das hat Albert Einstein nicht durch jahrelanges Forschen und 
Experimentieren geschafft, sondern allein durch Nachdenken. Er hat auch 
nicht viel studiert, sondern ist seinem Grundsatz gefolgt: „Phantasie ist 
wichtiger als Wissen". 

Kern seiner sensationellen Idee: Zeit, Raum und Masse sind nicht 
unabhängig voneinander. Nein – sie gehören zusammen. Das war für seine 
Zeitgenossen nur schwer zu verstehen. Die Wissenschaftler waren zu der Zeit 
nämlich davon überzeugt, die Zeit sei eine ganz unabhängige Größe.  

C      „Aus Albert Einstein kann nie etwas Richtiges werden", meinten 
seine Lehrer und Verwandten. Der Junge schien sich als Kind nur langsam zu 
entwickeln. Erst mit fünf Jahren begann er zu sprechen. In der Schule passte 
der junge Einstein nicht auf. Er war ein furchtbar schlechter Schüler. Es hagelte 
Eintragungen ins Klassenbuch: ,.Der Schüler Albert träumt", „Einstein ist faul 
und dumm", „ein hoffnungsloser Fall". Er machte das Abitur nicht, sondern 
verließ die Schule vorzeitig. 

Aus der Schule entlassen, weiß Albert Einstein aber nicht, was er nun tun 
soll. Er weiß nur, was er nicht will: beispielsweise im Elektrogeschäft seines 
Vaters arbeiten. Endlich entschließt er sich, an der Technischen Hochschule in 
Zürich Physik zu studieren. Denn dort wird man auch ohne Abitur 
aufgenommen, wenn man die Aufnahmeprüfung schafft. Zuerst fällt er durch. 
Aber beim zweiten Mal besteht er die Prüfung. 

1896 beginnt er dann sein Studium. Er schließt es vier Jahre später ab. 
Allerdings mit so schlechten Noten, dass er keine Assistentenstelle bekommt. 
Nach einigen Hungermonaten wird er kleiner Beamter im Schweizer 
Patentamt. Bis jetzt haben Lehrer und Verwandtschaft also Recht behalten: 
Aus Albert Einstein kann nichts Richtiges werden! 

D       Als einer der bedeutendsten Wissenschaftler unseres Jahrhunderts 
hat er zahlreiche Arbeiten geschrieben. 1921 erhielt er sogar für die 
„Quantentheorie" den Nobelpreis für Physik. Da war die Einschätzung von 
Verwandten und Lehrern wohl falsch. Aus Albert Einstein ist doch noch etwas 
Richtiges geworden – nämlich ein Jahrhundertgenie. 

E          Heute können wir Einsteins Theorie beweisen. Zum Beispiel mit 
zwei Uhren. Eine Uhr bleibt auf dem Flughafen, während die andere Uhr in 
einem Flugzeug um die Welt fliegt. Kommt das Flugzeug 24 Stunden später 
wieder auf demselben Flughafen an, geht die Uhr im Flugzeug ein bisschen 
nach. Der Grund dafür ist, dass sich wegen ihrer eigenen Geschwindigkeit 
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während des Fluges die Zeit für die Uhr im Flugzeug verlängert hat. 
Natürlich müssen die beiden Uhren supergenau sein, denn es handelt 
sich  um Unterschiede von Bruchteilen von Sekunden. Heute ist Einsteins 
Theorie durch feinste Messinstrumente bewiesen: Im Raum gehen 
Uhren anders. 

So einfach ist die Relativitätstheorie – und so schwer zu verstehen. 
Sogar wir, für die der Flug zum Mond schon etwas Selbstverständliches 
geworden ist, können sie heute noch nicht ganz verstehen. Wie aber 
musste Einsteins am Schreibtisch geborene, durch kein Experiment 
bewiesene Theorie erst im Jahre 1905 wirken? Die meisten Kollegen von 
Einstein, große Doktoren und Professoren, konnten seinen Gedanken 
zuerst auch nicht folgen. 

F        Einstein war wohl mehr ein Theoretiker als ein praxisbezogener 
Mensch. Nur so lässt sich erklären, dass er an der Entwicklung der 
Atombombe mitgearbeitet hat. 1932 verließ Einstein nämlich 
Deutschland, um in den USA an der Universität von Princeton tätig zu 
werden. Gemeinsam mit anderen Wissenschaftlern stellte er dort 
Forschungen über die Atomenergie an.  

Als er sich über die furchtbaren Auswirkungen der Atombombe klar 
wurde, verfasste er einen Brief an Roosevelt, den damaligen Präsidenten 
von Amerika. Er beschrieb die Wirkung der Bombe und sprach sich 
dagegen aus, sie im Krieg als Waffe einzusetzen. Doch Roosevelt starb, 
bevor er den Brief lesen konnte. Später wurde dieser Brief geschlossen 
auf seinem Schreibtisch gefunden. 

Vier Monate später fielen die Atombomben auf Hiroschima und 
Nagasaki. Die schrecklichen Folgen zeigten deutlich, wie gefährlich 
unkontrollierte wissenschaftliche Arbeit sein kann. Seitdem setzte sich 
Albert Einstein für den Frieden ein. Immer wieder forderte er die 
Einrichtung einer Weltregierung, die den Frieden sichern und alle 
politischen Streitigkeiten schlichten könnte. 

IV. Bestimmen Sie richtige (+) und falsche (–) Sätze entsprechend 

dem Textinhalt. 

7. Obwohl Einstein in der Schule nicht aufpasste, bekam er gute Noten. 
8. Albert Einstein lernte erst sehr spät sprechen. 
9. Sofort nach der Schule begann Einstein sein Studium in Zürich. 
10. Albert Einstein hatte keine Lust, im Elektrogeschäft seines Vaters zu arbeiten. 
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11. Einstein hatte Schwierigkeiten, nach dem Studium eine Stelle zu finden. 
12. Die Relativitätstheorie hat die Welt verändert. 
13. Albert Einstein war erst 26 Jahre alt, als er die Relativitätstheorie 

veröffentlichte. 
14. Forschen, Experimentieren und Nachdenken sind das Wichtigste in der 

Wissenschaft.  
15. Für Einstein war Phantasie bei wissenschaftlicher Arbeit sehr bedeutend.  
16. Die Wissenschaftler verstanden Einsteins Theorie damals sofort.  
17. Ohne Flugzeug kann man Einsteins Theorie nicht beweisen. 
18. Für uns ist Einsteins Theorie sehr einfach. 
19. Einstein entwickelte viele Maschinen, mit denen die Physiker heute arbeiten. 
20. In den USA arbeitete Einstein an der Entwicklung der Atombombe mit. 

NIVEAU III 

Schreiben (10 Punkte) / Письмо (10 балів) 

V. Lexikalisch-grammatischer Test (5 Punkte)  

Welches Wort passt? Ergänzen Sie die Sätze. Jedes Wort kann nur einmal 
verwendet werden. Vier Wörter passen in gar keinen Satz. 

 
Hochzeitsreise      Möbel        Vermieter       Weihnachten        Freundschaft      

Wohngemeinschaften      Miete       Maklergebühren      Flitterwochen         
Ostern 

1) Nach der Hochzeit machen viele Paare eine .… .  
2) Der Mieter ist verpflichtet, pünktlich …. zu zahlen.  
3) Der Mieter und der …. unterschreiben einen Mietvertrag. 
4) Viele Studenten leben in …….. .  
5) Wir brauchen noch neue …. : einen Tisch und einen Schrank. 
6) Im Dezember feiert man in Deutschland … .         
 
Wie heißt die richtige Verbform? Wählen Sie aus. 
 
7) beenden: Nachdem Robert sein Studium ….., bewarb er sich um eine 

Stelle in Köln. 
a) beendet 
b) beendet habe 
c) beendet hatte 
d) beenden würde 

8) beantworten: Nachdem ich den Brief bekommen hatte, ….. ich ihn. 
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a) beantworte 
b) beantwortete 
c) werde beantworten  
d) beantwortet  

 
9) haben: Wenn er Zeit …. , würde er mitkommen. 

a) hat 
b) hätte 
c) hatte 
d) gehabt hatte 

 
10) übersetzen: Ich brauche ein Wörterbuch, um den Text  …. . 

a) zu übersetzen 
b) übersetzen 
c) übersetzt haben 
d) übersetze 

 
11) lassen: Ich habe mir die Haare färben …. . 

a) zu lassen 
b) lassen 
c) gelassen 
d) gelasst 

 
12) singen: Ich höre Vögel  …. . 

a) gesungen 
b) singen werden 
c) zu singen 
d) singen 

 
13) bewerben: Ich habe mich um eine Stelle im Büro …. . 

a) bewarb 
b) beworben 
c) bewerben 
d) bewerbt 

 
14) werden: Er ist arbeitslos …. .  

a) geworden 
b) werden 
c) worden 
d) werden lassen 

 
Ergänzen Sie richtige Präpositionen. 
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15. Die Insel Rügen ist ungefähr 80 km ____ Rostock entfernt. 

a) nach 
b) über 
c) von 
d) zu 

 
16. Ich bin ____ Ihren letzten Bericht etwas erstaunt.  

a) auf 
b) über 
c) für 
d) wegen 

 
17. Er ist so wütend, im Moment er ist ____ allem fähig. 

a) von 
b) an 
c) zu 
d) nach 

 
18. Norbert ist ____ unserer Verspätung schuld.  

a) an 
b) von 
c) zu 
d) nach 

 
19. Alle waren ____ seiner Unschuld überzeugt. 

a) nach 
b) von 
c) zu 
d) an 

 
20. Hast du das schon gewusst? Ulla ist jetzt ____  Jakob verliebt.  

a) mit 
b) an 
c) von 
d) in 
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VI. Schriftlicher Ausdruck (5 Punkte) 

 

Generationenprobleme 

Oft denken die Kinder anders als ihre Eltern und wollen eigene 
Wege gehen. Wenn zwei Generationen nicht genügend Verständnis, 
Toleranz und Geduld an den Tag legen, sind Probleme vorprogrammiert. 
Beschreiben Sie das Verhältnis von Kindern und Jugendlichen zu ihren 
Eltern am Beispiel eines berühmten Menschen oder eines Menschen, 
den Sie kennen. 

Schreiben Sie zirka 25 Sätze. 
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ІСПАНСЬКА МОВА 
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КОНТРОЛЬНІ ЗАВДАННЯ З ІСПАНСЬКОЇ МОВИ 
9 КЛАС 

EL PRIMER NIVEL 

 
1.Unir los antónimos: 
2. Grande   a) antipático 
3. Guapo   b) limpio 
4.barato    c) inteligente 
5. gordo    d) feo  
6. Tonto    e) alegre 
7.nuevo    f) pequeño 
8. moderno   g) caro 
9.sucio    h) viejo 
10. simpático   i) delgado 
          

          

11. Triste   k) antiguo 
 

 
2. Completa las frases con el verbo SER o ESTAR. 
 

1.El profesor no ________ en la escuela.  
2.El libro _________ encima de la mesa.  
3.El señor Gómez _________ de Bélgica.  
4. Caracas _________ en Venezuela. 
5. Mi prima _________ trabajando en la oficina.  
6. Mis hermanos _________ estudiando español.  
7. ________ la una y treinta 
8. ¿Dónde ________ los chicos? 
9. Mi padre ________ enfermo. 
10. Catalina y Lina ________ hermanas. 
 

3. Completa con el artículo la, el o lo: 
a) ________ importante para ti es estudiar. 
b) ________ casa está limpia. 
c) _____ mercado está lleno de verduras frescas. 
d) ______ bueno es caro. 
e) ______ más importante es hablar. 
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f) ______ mejor profesor es _____ vida. 
g) ______ que tienes que hacer es ir al médico. 
h) Hay que tener en cuenta ____ bien que ella escribe. 
i) ____ verdad es que ellos son sinceros. 
j) Hago _____ que quiero. 
 

4. Escribe la preposición correcta para cada oración: 
 

1. Mis padres están ………….el teatro. 
2. Para entrar al concierto tendréis que esperar ………….las 21 h. 
3. Creo que el collar no es ………….oro. 
4. He quedado …………Raquel para ir a la playa. 
5. ……….las noticias, la semana que viene va a llover sin parar. 
6. Llamé ……………teléfono para preguntar por el puesto de trabajo. 
7. El libro que compré es ……………ti. 
8. Conozco a Juan …………….hace que éramos pequeños. 
9. ¿Vamos hoy  ………..el cine? 
10. Vivo …………… Galicia  desde hace 4 meses. 

 

EL SEGUNDO NIVEL 

 
5. Elegir la respuesta correcta: 
 

1. Hola, me llamo Juan ¿Y tú? ¿Cómo te ……………….?  
a) te llamo              b) se llamo            c) te llamas 

2. En mi tiempo libre……… español y …………al fútbol. 
a) toco, juegas             b) estudio, juego                 c) hablo, toco 

3. Barcelona ………… al este de Cataluña. ……………. una ciudad una bonita.  
a) es, está             b) hay, está                c) está, es  

4. A él le……………… los nombres. 
a) gusta                b) gustan             c) gusto 

5. Tengo un abrigo…………….. . 
a) rojo              b) rojos              c) roja 

6. Hoy hace…………….. calor. 
a) muy          b) mucho                c) mucha 

7. Pedro nunca……………… .  
a) le peino               b) se peino                 c) se peina  

8. Voy …………….casa ……………tren. 
a) a, en                b) en, de                c) de, de 
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9. Esta mañana …………….tostadas y café.  
a) ha desayunado           b) desayuno                  c) ha desayunando  

10. Esta película es muy ………………. 
a) mejor                b) buena                    c) bien  

 
6. Utiliza el adjetivo con el significado opuesto: 
 

1. Tu amiga tiene un carácter ALEGRE.  …………………… 
2. El problema es muy FÁCIL.                …………………… 
3. Mi hermana es muy BAJA.                  …………………… 
4. Las mercancías son CARAS.               …………………… 
5. Nuestro padre es muy JOVEN.             …………………… 
6. Vuestra calle es ESTRECHA.             ……………………… 
7. El café está FRÍO.                               ……………………… 
8. Aquel tren es muy LENTO.                ……………………… 
9. Javier es POBRE.                                ……………………… 
10. Este hombre es SIMPÁTICO.           ……………………… 
11. Esta película es BUENA.                  ……………………… 
12. Nuestra ciudad es PEQUEÑA.         ……………………… 
13. Es un color CLARO.                       ………………………. 

 
7. Indefinido e Imperfecto: Completa con la forma correcta del verbo. 
 

1. Ayer, la niña se [vestir] ............................... sola por primera vez. 

2. Alfonso no me [pedir] ............................ permiso para tocar la guitarra. 

3. Su padre [morir] ........................... hace muchos años. 

4. Los chavales se [divertir] ................................... mucho con el perro. 

5. El miércoles pasado vosotros [repetir] .................................. los mismos 
errores. 

6. Jordi y Montse se [despedir] .................................. de sus primos en el 
aeropuerto. 

7. ¿De qué se [reír] .............................. las chicas cuando yo [salir] 
..................... del cuarto? 

8. ¿Es verdad que te [sentar] ..............................? 

9. ¿Sabes cuándo [nacer] .......................... el rey Juan Carlos? 

10. El señor Vílchez [discutir] ............................. con su vecino. 

11. El chico te [ayudar] ............................ siempre. 
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12. Pamela y Nuria se [dormir] ................................ inmediatamente. 

13. José Luis se [caer] ............................... y se [romper] ............................. el 
brazo derecho. 

14. Carmen se [poner] ............................... enferma después de volver de 
Canarias. 

15. Todos los días Juan [practicar]…………………….. deporte.  

16. ¿Por qué no [aprender, tú] ..................................... las palabras? 

17. Cuando trabajaba camarero [ganar] …………………… bastante. 

18. Yo no lo [hacer] ......................... gimnasia porque no me gustaba.  

EL TERCER NIVEL 

8. Lee con atención el siguiente texto y contesta a todas las preguntas. 
Paola aprende español 

Me llamo Paola, soy una chica italiana. Tengo dieciséis años y aprendo 
español en el instituto. Somos treinta alumnos en clase. Nuestro profesor se 
llama Alberto y es de Sevilla, una ciudad de España, pero hace cinco años que 
vive en Italia. Tiene treinta y ocho años. Está casado con una chica italiana y 
tienen dos hijos. Alberto habla muy bien el italiano, pero no entiende inglés. 

En clase de español nos divertimos mucho. Hacemos cosas diferentes: 
leemos textos, aprendemos palabras nuevas, escuchamos canciones y 
escribimos diálogos. El profesor nos habla todo el tiempo en español. Es un 
poco difícil pero a mí me gusta mucho hablar en español. Tengo clases de 
español todos los días menos los martes y los viernes. 

Mis amigas y yo comemos en el colegio los martes y los jueves porque 
por las tardes jugamos al baloncesto. Después voy a casa y antes de cenar 
siempre hago mis deberes. 

Los fines de semana practico español con mi amigo Fernando, es de 
Madrid. Hablamos por Internet y me corrige cuando escribo mal. También me 
gusta leer y a veces voy al cine con mis amigos. 

1. El profesor de español habla........................  
a) español e italiano      b) español, italiano e inglés        c) solo español 

 
2. En la clase de Paola hay............... estudiantes.  

a) dieciséis                b) treinta               c) treinta y ocho 
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3. Paola tiene clase de español........................  

a) todos los días        b) los lunes, miércoles y jueves       c) los martes y los 
viernes 

 
4. Dos días a la semana por las tardes Paola.........  

a) escucha música           b) hace sus deberes                c) juega al baloncesto 
 
5. A Paola le gusta mucho............................. 

a) hablar en español              b) jugar al fútbol             c) comer en el colegio 
6. Paola y sus amigas comen en el colegio............  

a) todos los días      b) tres días a la semana           c) dos veces a la semana 
 
9. Situación. 

Un filósofo griego dijo que la música es para el alma lo que la gimnasia para 
el cuerpo. ¿Estás de acuerdo con esta opinión? 

¿Te gusta la música? ¿Qué música prefieres?  
¿Por qué se escucha poco, sobre todo por los jóvenes, la música clásica?  
Habla de tus músicos o cantantes favoritos. 
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КОНТРОЛЬНІ ЗАВДАННЯ З ІСПАНСЬКОЇ МОВИ 
10 КЛАС 

 

EL PRIMER NIVEL 

1. Une las palabras que dicen lo contrario: 
1.Delante    a) abajo 
2. Primero    b) cerca 
3. Guapo    c) derecha 
4. Ir     d) detrás 
5. Dentro    e) feo 
6. Izquierda    f) fuera 
7. Arriba    g) suspender  
8. Muerto    h) venir 
9. Lejos    i) vivo 
10. Aprobar    j) último 

 
          

          

11. 
 
2. Completa las frases con los verbos (Ser – Estar – Haber – Tener) según 
corresponda. 

1. (tú) …………….. una alumna ejemplar. 
2. Ellos…………….  en la playa cada día. 
3. La silla …………….. cuatro patas. 
4. (yo) …………………. una semana de vacaciones.  
5. Mi hermana y mi mamá ……………… mucho trabajo hoy. 
6. (Usted)……………..  en una conferencia. 
7. Él Diego Ferreira, ………………. el profesor de portugués. 
8. ………………….que conseguir empleo. 
9. La niña ……………enferma. 
10. Mi papá  ……………… Agricultor. 

 
3. Escribe los números correspondientes al sinónimo de cada una de las 
siguientes palabras. 
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(    ) Querer 1 Pausado 

(    ) Pedir 2 Tratar 

(    ) Lento 3 Emprender 

(    ) Difícil 4 Lanzar 

(    ) Comenzar 5 Repeler 

(    ) Intentar 6 Pretender 

(    ) Arrojar 7 Complejo 

(     ) Rechazar 8 Solicitar 

 

 
4. Completa las frases con una de las palabras del recuadro. 
 

periodista, isla, montaña, navegar, cómodas, moreno, panadería, a pie, 
discoteca, al lado de, abuela, quiosco 

 
1. Mi novio es....................... Tiene el pelo negro y es muy alto. 
2. ¿Quién es esa mujer tan elegante? 
3. -Es mi........................ La madre de mi madre. 
4. El salón está........................la cocina. 
5. Ve a la........................y compra pan. 
6. Juan trabaja en un periódico. Es..................... 
7. Siempre voy al supermercado..............porque está cerca de mi casa. 
8. Esta mañana he comprado el periódico en el........................ 
9. Las zapatillas de deporte son muy........................ 
10. Ayer fuimos a bailar a una.......................... 
11. Me encanta....................por Internet. Es muy interesante. 
12. ¿Dónde quieres ir este verano a la playa o a la........................? 
13. Chipre es una........................muy turística. 

 

EL SEGUNDO NIVEL 

 
5. Ahora complétalo empezando por : “Ayer…” 
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Ayer... 
1.....................................(levantarse, yo) a las siete, 2................................ 
(lavarse), 
3........................(afeitarse) y 4.................................. (desayunar). 
5....................... (salir) a las siete y media, 6.......................................... (coger) 
mi coche y 7....................................... (ir) al trabajo. Como ayer 
8.............................. (ser) mi cumpleaños, 9.............................. (llegar) a la 
oficina un poco más tarde. Al mediodía 10……………. (salir) a comer algo con 
mis compañeros. 11............................ (charlar, nosotros) y 
12.......................... (reír, nosotros) mucho. María, mi secretaria, no 
13.................. (venir) con nosotros. Mis compañeros me 
14............................(regalar) un reloj muy bonito. A las 2 de la tarde 
15................... (empezar, yo) otra vez a trabajar y 16............................... 
(quedarse) en la oficina hasta las 6; luego 17.............................(meterse) otra 
vez en la cola y 18......................... (volver) a casa. Mi mujer 
19……………………(organizar) una fiesta sorpresa, así que cuando 
20......................... (llegar) a casa 21.......................... (haber) mucha gente 
esperándome. 22...................(comer, nosotros) una paella exquisita que 
23.......................(preparar) mi hermana Lucìa y 24…………………(bailar, 
nosotros) hasta las 3 de la madrugada. ¡Por eso hoy estoy muerto de sueño! 

 
6. Ordenar palabras en frases desordenadas.  

1. bastante anécdotas Me divirtieron las del cómico.  
2. fabrica me El empleado de la dos kilos regaló se azúcar.  
3. del barco mástil huracán derribó el El viejo.  
4. mareó avión Mi primo a Tokio y no se fue en.  
5. estación No deprisa por el anden andén de la.  
6. hábito habito en el he tomado el hotel de leer Desde que.  
1. 

______________________________________________________________ 
2. 

______________________________________________________________ 
3. 

______________________________________________________________ 
4. 

______________________________________________________________ 
5. 

______________________________________________________________ 
6. 

______________________________________________________________ 
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7. Lectura. 
El Orinoco - una tribu de piaroa 

Los primeros visitantes de la región volvieron a casa con historias de 
tribus temibles. Pero no todos los habitantes de estas junglas se adaptan a 
ese espantoso estereotipo. Un chamán piaroa prepara una mezcla 
alucinógena llamada yopo. Espera comunicarse con los dioses del bosque. 
Su mente y su espíritu vuelan. Los piaroa están entre los pueblos más 
pacíficos de la tierra. Creen que cualquier hombre que mate a otro, sufrirá 
por su parte una terrible muerte. Por eso el asesinato es desconocido en su 
sociedad. Pero creen que sus dioses son violentos y que crearon las 
criaturas peligrosas que habitan en la jungla. Durante su trance, el chamán 
intenta poner a los dioses de su lado. Si lo consigue le revelarán el paradero 
de los terrenos de caza más ricos. 

A la mañana siguiente, armado con las visiones del chamán, su hijo se 
adelanta en el bosque. Debe atravesar uno de los afluentes del Orinoco 
para llegar a la mejor zona de caza. Los dardos tienen rastros de algodón y 
puntas bañadas en veneno de rana. Son letalmente certeros. Una tortolita 
azulada es su primera presa. Los animales de la jungla son generalmente 
pequeños, por lo que el cazador se hace con lo que puede. 

Está buscando su plato favorito. Sabe exactamente dónde mirar... en 
los escondrijos de rata abandonados en terreno seco. Una tarántula 
gigante. Puede alcanzar el tamaño de un plato llano, sus colmillos pueden 
llegar a dos centímetros de largo. Tiene la espalda más venenosa de todas 
las arañas del mundo. Los pelos tóxicos que le salen del cuerpo amenazan 
a todo aquel que los ingiera. Pero los piaroa son experimentados cazadores 
de arañas. De vuelta a la aldea el hijo del chamán se apresura a hacer fuego. 
A continuación quema los pelos tóxicos de la tarántula. El proceso lleva 
minutos. Las articulaciones silban cuando está lista. La tarántula es 
sorprendentemente carnosa y sabe a gambas a la plancha. Pero cuidado 
con los colmillos. 

Durante miles de años los piaroa han creado un pacífico y sencillo 
modo de vida. Pero el chamán prevé tiempos turbulentos. Finalmente se ha 
descubierto El Dorado. No la legendaria ciudad, pero sí un rico filón de oro 
bajo las junglas de Venezuela. Tal vez el diez por ciento de las reservas 
naturales del mundo. La fiebre del oro está devastando los bosques que 
flanquean la sierra Parima y los mineros transmiten enfermedades letales a 
sus habitantes tribales. El mercurio usado en el proceso extractivo 
desemboca en los ríos y se introduce en la cadena alimenticia del Orinoco.   
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1. Los yopos son una tribu muy pacífica. 
a) verdadero b) falso 
2. El chamán de la tribu intenta conectarse con los dioses para saber cuáles son 

los mejores lugares para cazar. 
a) verdadero b) falso 
3. Por la misma razón, el chamán hace dibujos en las rocas. 
a) verdadero b) falso 
4. El hijo del chamán lleva dardos. 
a) verdadero b) falso 
5. Las tarántulas que caza la tribu tienen pelos venenosos. 
a) verdadero b) falso 
6. Las tarántulas y las gambas son el alimento favorito de la tribu. 
a) verdadero b) falso 
7. El 10 % de las reservas naturales de oro en el mundo se encuentra 

posiblemente en las junglas venezolanas. 
a) verdadero b) falso    
8. A la zona de la caza se dirige ... 
a) el mejor cazador de la tribu b) el chamán 
c) el hijo del chamán 
9. Los miembros de la tribu creen que cualquier hombre que mate a otro ... 
a) sufrirá del estómago 

b) sufrirá una terrible muerte c) sufrirá de por vida 
10. El hijo del chamán debe atravesar ... 
a) densos bosques 
b) muchos ríos 
c) uno de los afluentes del Orinoco 
11. Los dardos tienen puntas ... 
a) bañadas en veneno de rana b) de algodón 
c) bañadas en sangre de rana 
12. Los animales de la jungla son generalmente..., por lo que el cazador se hace 

con lo que puede. 
a) enormes b) grandes c) pequeños 
13. La carne de tarántula ... 
a) sabe a gambas b) es sosa c) es venenosa 

EL TERCER NIVEL 

8. Responde a las siguientes preguntas marcando la respuesta correcta a, b, c o d 
según corresponda. 

 
1. Vete a freír espárragos! significa: 

a) ¡Qué descarado eres! 
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b) No has entendido nada 
c) ¡Basta ya! ¡Déjame en paz! 
d) ¡Haz tú la comida! 

 
2. Dicen que España es uno de los países más _______ del mundo, según la 
OMS, después de Japón. 

a) sonoro 
b) ruidoso 
c) sordo 
d) ecológico 

 

3. Cuando alguien nace, se casa o se muere, tiene que hacerlo constar en el 
_________ 

a) censo 
b) listado 
c) registro civil 
d) folleto 

 
4. “Proliferar” significa: 

a) multiplicarse 
b) extenderse 
c) ir más allá 
d) llenar 

  
5. A mí me parece lógico que los amigos me _________ para pedirme cosas. 

a) llamen 
b) llaman 
c) llamaran 
d) llamarán 

 
6. Está claro que ver mucho la televisión __________ a los niños. 

a) perjudique 
b) perjudicará 
c) perjudica 
d) beneficie 

 
7. Aquí está, señores y señoras, ____________ 

a) Un teléfono móvil muy moderno 
b) Un teléfono móvil más moderno que el mundo 
c) El teléfono móvil más inteligente del momento 
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d) El teléfono móvil que es más inteligente 
8. Es natural que la gente ___________ por el ruido. 

a) protestó 
b) proteste 
c) protestaría 
d) protesta 

  
9. A. ¿Le atienden? 
B. ___________ 

a) Sí, no quiero nada 
b) No, no quiero nada 
c) No. Estoy mirando estas herramientas… 
d) Sí, me atienden mucho 

 
10. En este establecimiento se venden los ________ vinos del mundo. 

a) buenos 
b) caros 
c) mejores 
d) especiales 

 
11. ”El lago de los cisnes” ______ es de Beethoven, _______ de Tchaikovski. 

a) no… sino. 
b) no sólo… sino también 
c) sólo… y también 
d) no… pero 

  

12. El ladrón fue condenado por ________ a dos años de cárcel. 
a) el juez 
b) el abogado 
c) el culpable 
d) el juicio 

  
13. Si Vd. paga la _______ , puede salir en libertad. 

a) la multa 
b) la fianza 
c) el delito 
d) al testigo 

 
14. Juan y su hermana Ángeles _______ tres años. 

a) tienen más de 
b) son menos de 
c) se llevan 
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d) es mayor de 
15. A. ¿Sabes?, me he casado 
B. __________________ 

a) ¡Qué bien! ¡Enhorabuena! 
b) No creo 
c) Sí, eso es bueno 
d) ¡Menos mal! 

 
16. A. ¿Y Juan? ¿Qué sabes de él? 
B. Nada, se fue de la empresa sin que nadie ___________ 

a) dijera algo 
b) vio nada 
c) se enterara 
d) estaba allí 

 
17. Como no te __________ la comida, no hay helado de postre. 

a) terminarás 
b) termines 
c) terminas 
d) terminaste 

 
18. No pudimos llegar a tiempo a la reunión porque ______ estropeó el coche. 

a) se 
b) se me 
c) se nos 
d) se lo 

  
19. A. ¿___________? 
B. Éste es más práctico pero sale mucho más caro porque gasta menos gasolina. 

a) ¿Qué precio tiene? 
b) ¿Qué diferencia hay entre este y aquel? 
c) Qué es más práctico? 
d) ¿Qué quiere Vd.? 

 

20. A. ¿Vendrá Andrés a la fiesta? 
B. ___________________ 

a) Pues no sé, supongo que sí 
b) Estará enfadado 
c) Sí, siempre viene a las fiestas 
d) No 
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9. Situación. 
¿Qué piensas de la cocina ucraniana? ¿Es suficientemente sabrosa y variada 

para satisfacer todos los gustos o carece de algunas cosas importantes? 
¿Cuál es tu plato favorito? ¿Por qué? 
¿Puedes decir la receta de algún plato? 
¿Hay mucha diferencia en lo que comemos nosotros y los españoles? 

КОНТРОЛЬНІ ЗАВДАННЯ 
З ІСПАНСЬКОЇ МОВИ 

11 КЛАС 

EL PRIMER NIVEL 

1. Ordenar palabras en frases desordenadas: 
 

1. Dijimos que beber una canción antes a José de de la cantara cántara. 

2. Libró libro a su servicio porque leyó hijo del en el. 

3. Haré la posible para que era are todo lo. 

4. Me del harté arte tan de Anabel insulso. 

5. barandilla por la Bajaba escalera sujeto a la. 

6. No bien examen el y quiere ve aprobar un visual verde. 

1. ______________________________________________________________ 
2. ______________________________________________________________ 
3. ______________________________________________________________ 
4. ______________________________________________________________ 
5. ____________________________________________________________ 
6. ____________________________________________________________ 

 
2. Completa con la forma correcta de IR – VENIR, TRAER - LLEVAR: 

 
1. Como estoy enfermo, voy a _____________ al médico. 

2. Aún estoy esperando tu visita. ¿Cuándo ___________ a Valencia? 

3. ¿Cuándo  ___________ al consulado a llevar los papeles? 

4. ¡ __________aquí antes de que me enfade! 

5. Yo  ____________ contigo al concierto si no fuera tan caro. 
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6. «¡______________ la pelota aquí!», le dije al perro. 

7. Hoy ______________ los documentos a la embajada en Berlín. 

8. No hace falta que  __________ tu toalla porque aquí en casa tenemos 
suficientes. 

9. Nosotros  _____________ dos sombrillas a la playa. Son suficientes para 
todos. 

10. Hoy  ___________ una sorpresa para quién responda a la siguiente 
pregunta. 

 
3. Completa el siguiente texto con la preposición adecuada (recuerda la 

regla de las contracciones). 
 

LAS TAPAS 

Una costumbre muy popular que propone la gastronomía española 
consiste (1) ......... salir de “tapas”. (2)............. los españoles, “tapear” 
implica también un estado de ánimo que puede entenderse como una 
manera (3).......... compartir la vida. (4)................ este motivo, (5)............. 
mucha gente “ir de tapas” es toda una filosofía (6) ........ vida. Las tapas son 
pequeños platos (7)........... distintos ingredientes que suelen acompañarse 
(8)............ cerveza o vino. (9)............. lo general, se toman (10)........ pie 
(11)........... la barra (12)............ un bar y los españoles van (13)......... bar 
(14).......... bar (15)........... probar las distintas especialidades que cada sitio 
ofrece. Las verdaderas tapas se toman (16)......... las comidas principales, 
como un alimento que permite (17)............ cuerpo aguantar (18)........... la 
comida o la cena. Las recetas (19) ............. las tapas difieren según los 
gustos y las tradiciones gastronómicas (20) .......... cada región. 

 
4. Completa el siguiente texto con una palabra adecuada. 
 

LA PAELLA 

No cabe duda: el (1) ............. tradicional (2) ............... España 
(3)................ la paella. Es originario (4) ............... Valencia, pero existen 
variantes en las diferentes provincias españolas. El (5) .............. de la paella 
(6) .............. de la paellera, la sartén redonda (7) ................ se cocina. La 
paella es un plato económico  que (8) .................. de ingredientes de la 
tierra. Su mérito consiste precisamente en esto: en lograr un plato delicioso 
a partir de (9) ..................... sencillos. 
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La paella se (10) .............. con arroz, verduras, tomate y pollo. (11)............... 
puede llevar conejo. (12)................ darle sabor se cocina con sal, pimentón dulce 
y romero. Se le da color con colorante alimentario hasta que (13)................... 
ideal es (14) .................. azafrán. Como Valencia (15) ................ en la (16) 
..................., otros productos típicos esta ciudad son el pescado y el marisco. 
(17)...................... eso también es típica de aquí la paella de mariscos. (18) 
.................. eso no quiere (19) ............... que se mezcle todo: la paella mixta no 
está bien vista entre los valencianos. Es cuestión de gusto. 

¡Buen (20) .................. con la paella! 

EL SEGUNDO NIVEL 

5. Elegir la respuesta correcta: 
1. – ¿Qué estás haciendo? 
– En este momento ____ el periódico. 

a) he leido 
b) leeré 
c) estoy leyendo 
d) leí 

 
2. – ¿Desde cuándo vives en este país? – Yo vivo en este país ____ tres meses. 

a) por 
b) hace 
c) para 
d) todavía 

 
3. Lea el siguiente grupo de palabras. Marque cuál de ellas no va de acuerdo al 
grupo. 

a) bailar 
b) nadar 
c) jugar 
d) trabajar 

 
4. El último año ____ de fumar. 
Ahora tengo más dinero y más salud. 

a) he dejado 
b) dejaré 
c) dejaría 
d) había dejado 
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5. Lea el siguiente grupo de palabras, marque cuál de ellas no va de acuerdo al 
grupo. 

a) barco 
b) tranvía 
c) aeropuerto 
d) tren 

 
6. – ¿Conoces tú la ciudad de México? – Si yo ____ México D.-F. 

a) soy 
b) conozco 
c) sé 
d) conoceré 

 
7. En el restaurante: – ¿Qué prefieres para 
la cena? – Yo ____ la carne y los vegetales. 

a) prefería 
b) prefiero 
c) preferiré 
d) preferí 

 
8. Pati dice que está gorda, ganó 50 kilos. 
Ha dejado de comer y la última semana ____ a hacer una dieta muy estricta. 

a) hubiera empezado 
b) haya empezado 
c) habría empezado 
d) ha empezado 

 
9. Yo no quiero comer caracoles! Yo nunca ____ caracoles, pero hoy voy a 
probarlos. 

a) pruebo 
b) probaré 
c) había probado 
d) he probado 

 
10. Carlos: ¿Cómo fue tu viaje a Madeira? Lucas: Terrible! En el Aeropuerto no me 
esperaba nadie. Me ____ en la ciudad y no pude encontrar el hotel. Por suerte unas 
personas amables me han ayudado. 

a) he perdido 
b) había perdido 
c) perdería 
d) perdiera 
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6. Escribe la parte del cuerpo que corresponde. 
 
Brazo (2x), cabeza (2x), cabezas, mano (3x), manos 
 

1. Siempre termino dando mi …………..a torcer y tenemos que hacer lo que tu 
quieres. 

2. El manual de emergencia está siempre a ………….… 

3. Todo lo que me cuentas es mentira y no haces más que calentarme la 
……………… 

4. Estoy muy intrigada. No sé qué se trae entre ………………mi novio. 

5. Confío mucho en Rosana. Es mi …………………derecho. 

6. No me creo que en esta generación de adolescentes haya tantas 
…………….huecas. 

7. Jugamos la última ………………..y me retiro. 

8. Este proyecto va a ser muy difícil y creo que nos va a traer de…………… . 

9. Si necesitas ayuda con la mudanza, te echaré una ……………sin problemas. 

 
7. Complete con el verbo entre paréntesis siguiendo las reglas de correspondencia 
temporal: 
 

1. Deseo que (empezar, tú) ……………….cuanto antes ese trabajo. 

2. No nos permiten que (entrar, nosotros) ………………en el laboratorio. 

3. Conseguiré que (cambiar, él) …………………de opinión. 

4. Me alegré mucho de que (recuperarte, tú)………………. tan rápidamente. 

5. No me ha parecido bien que (hablar, tú) ……………en la reunión de esta 
mañana. 

6. Sentí mucho que (perder, él) ………………..su trabajo. 

7. Me fastidiaba que ella siempre me (imitar) ………………… 

8. Mamá no quería que (correr, nosotros) …………………..sin zapatos. 

9. No creyó que (decir, él) ……………….la verdad. 

10. Le ordenó que (traer, él) ………………..tres copias del documento. 

11. Haz lo que (ser) ……………….necesario. 

12. Querría que (presentar, tú) …………………el informe esta semana. 
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13. Le suspendería si no (estar él) ………………….allí puntualmente. 

14. Si se lo pidieras amablemente él te (hacer) ………………….ese favor. 

EL TERCER NIVEL 

8. Lee con atención el siguiente texto y contesta a todas las preguntas. 
 

Origen y cambios de la lengua española 
 

Primeras líneas del Quijote de Cervantes: 

En un lugar de La Mancha de cuyo nombre no quiero acordarme, no 
ha mucho que vivía un hidalgo de los de lanza en perchero, adarga antigua, 
rocín flaco y galgo corredor. 

Cuando Cervantes situó al Quijote en la cumbre de la literatura 
española no podía imaginar que cuatro siglos más tarde el relato de las 
andanzas del ingenioso hidalgo pudiera transmitirse de forma instantánea 
y en un código tan extraño como inteligible pese a la ausencia de haches, 
tildes y vocales. Durante siglos se habló en lengua romance, pero se escribía 
en latín. Tuvieron que pasar más de mil años para que la jerga del pueblo 
llano adquiriera la condición de lengua y 500 años más hasta que el 
castellano tuvo su propia gramática. Juan Bautista Olarte es el alma de la 
biblioteca de San Millán. Historiador, lingüista y paleógrafo ha repartido su 
vida entre los libros y el cenobio. Nadie como él conoce los documentos, 
algunos de valor incalculable, que guardan los muros del monasterio. 

■ Esto es la biblioteca. 
□ Esto es la biblioteca. Nuestra pequeña biblioteca. 
■ Bueno, pequeña... ¿A qué llama pequeña? ¿Cuántos ejemplares? 

Diez mil documentos, todos ellos anteriores a 1800 en los que se han 
posado con paciencia el tiempo y la palabra. Y libros tan valiosos como la 
Suma Casuum, incunable anterior a 1475 o la Biblia Hebrea que vino de 
Venecia o el Evangelario de Jerónimo Nadal, tan valioso que el papa 
Clemente VIII autorizó la excomunión de quien lo mandara imprimir sin 
permiso. 

Pero el documento más apreciado es el Códice Emilianense. Son 
apenas unas líneas que datan del siglo XI. Su autor debió de ser un 
estudiante o un clérigo con dificultades para entender el texto en latín. Y en 
su afán de comprenderlo anotó en los márgenes unas glosas o notas 
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aclaratorias en lengua romance. Sin saberlo estaba escribiendo la primera página 
de la literatura española. 

En el monasterio de Yuso se puede reconstruir paso a paso la evolución del 
castellano. 400 millones de personas comparten una lengua que ha sido trabada 
a fuego lento, pero la globalización, el universo audiovisual y las tecnologías 
parecen socavar sus cimientos. 

De todo ello han hablado en las jornadas de la Fundación del Español 
Urgente BBVA filólogos, guionistas y profesores. El debate está abierto y señala 
hacia los jóvenes, los menos refractarios al cambio. 

La princesa Letizia abre el seminario: 

Todos somos responsables del idioma porque nos comunicamos con él y 
porque es nuestro patrimonio cultural, el de la comunidad hispanohablante. Y 
estáis aquí para seguir aportando ideas y sugerencias al mundo que habla en 
español. Estaremos pendientes, muy pendientes de vuestras conclusiones. Sin 
más, declaro inaugurado el tercer seminario internacional sobre lengua y medios 
de comunicación dedicado en esta ocasión al español de los jóvenes. 

José Ángel Mañas: 

Todo lo que son innovaciones léxicas. Todo lo que son nuevos vocablos, 
nuevos modismos, nuevos giros, pues eso, la verdad, es un recurso más, eso no 
puede sino enriquecer el idioma. Es ampliar las tonalidades de la paleta 
lingüística. Pero, eh... por contra, pues, todo lo que es tocar el interior del idioma, 
la estructura lógica. Pues eso puede llevar a imprecisión y empobrecimiento. En 
mi caso, como yo estoy bastante en contra de leísmo y laísmo. Y considero que 
no distinguir entre un dativo en... entre un pronombre en dativo y uno en 
acusativo eh... es un lastre para el pensamiento. 

 
1. Todos los españoles son responsables del idioma porque es la lengua de los 
abuelos. 

a) verdadero                     b) falso 
 
2. Hace diez siglos en España se hablaba en Latín.         

a) verdadero          b) falso 
3. Los libros de la biblioteca fueron escritos hace más de 300 años.  
a) verdadero                     b) falso 

 
4. El primer texto escrito en español se remonta al siglo XV. 

a) verdadero b) falso 
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5. El Don Quijote de La Mancha se publicó hace cuatro siglos. 
a) verdadero                  b) falso 

 
6. El primer texto en español fue El Evangelario de Jerónimo Nadal. 

a) verdadero                   b) falso 
 
7. Actualmente hay unos 400 millones de personas cuya lengua materna es el 
castellano. 

a) verdadero                       b) falso 
8. El audio empieza con palabras sacadas de:  
a) Bodas de Sangre 
b) Ingenioso Hidalgo Don Quijote de la Mancha 
c) Cien años de soledad 

 
9. Actualmente dicha novela puede transmitirse: 

a) Por correo 
b) Por imprenta 
c) Al momento 

 
10. Gracias a los dispositivos electrónicos podemos escribir un texto sin usar todas 
las letras o signos salvo: 

a) consonantes b) tildes 
c) vocales 

 
11. Hace diez siglos en España se escribía en: 

a) Castellano 
b) Latín 
c) Griego 

 
12. En la biblioteca del monasterio se conservan más de ... documentos: 

a) mil            b) 3 mil              c) 10 mil 
 
13. El primer texto en castellano fue escrito por: 
a) un abad 
b) un monje 
c) un estudiante 
 
14. El primer texto en español es/son 

a) Un poema 
b) Una novela 
c) Unos comentarios  
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15. En la conferencia los filólogos, profesores hablaron del español actual 
enfluenciado por: 

a) guerras 
b) tecnologías 
c) inglés 

 
9. Situación. 

¿Por qué es importante tener la educación superior? 
¿Es necesario tener una carrera universitaria para encontrar un buen trabajo? 
¿Cómo puede ayudar la educación superior? 
¿Qué puedes aconsejar a tus amigos que terminan la escuela? 

  



 

86 

 
ПОЛЬСЬКА МОВА 
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КОНТРОЛЬНІ ЗАВДАННЯ З ПОЛЬСЬКОЇ МОВИ 
9 КЛАС 

І РІВЕНЬ 
 
1. Proszę podkreślić właściwe synonimy lub definicje do wyrazów podanych 
w kolumnie A. 
 
WZÓR: 
banan                                       owoc, warzywa, napoje 
A.                                              B. 
1. ciekawy                               nudny, zajęty, interesujący 
2. codziennie                          co dzień, tylko rano, od czasu do czasu 
3. danie                                   potrawa, danie czegoś, dawanie czegoś 
4. kolacja                                 posiłek spożywany wieczorem, poranny posiłek, 

lunch 
5. narzekać                              być zadowolonym, skarżyć się, skarżyć na kogoś 
6. odwiedzić                            zwiedzić, składać wizytę, widzieć coś 
7. przystawka                          potrawa, stały element, urządzenie hamujące 
8. woleć                                   preferować, lecieć, wylecieć 
9. załatwiać                             dokuczać, niszczyć, doprowadzać co� do końca 
10. zwykle                               zwykły, zazwyczaj, zwyczajnie 
 
2. Proszę wybrać odpowiednie formy wyrazów i wpisać je w miejsce kropek. 
WZÓR: 
Jest środa. Waldemar rozmawia przez telefon z Alicją. (Alicja, Alicją, Alicję) 
Waldemar: (1) Wiesz, pojadę do ........................................... (Kraków, Krakowie, 

Krakowa). 
Alicja: (2) Kiedy? Jutro? Nic .................................. (ja, mnie, mi) o tym nie 

mówiłeś?! 
W.: (3) Wiesz, że jutro nie ............... (móc, może, mogę). Pojadę dopiero za 

tydzień. 
A.: (4) Pojedziesz w środę? W ....................................... (środa, środę, środą). 

Tak? 
W.: (5) Tak. Na ......................................................................... (dwie, dwa, dwaj) 

dni. 
 
3. Wpisz wyrazy z nawiasów w odpowiedniej formie. Podkreśl kolorem 

końcówki i alternacje. 
WZÓR:  
(kasza) Czytałam o kaszy, że jest bardzo zdrowa. 
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1. Gdzie są moje notatki? Leżą na swoim (miejsce) 
............................................................................................................................... 

2. Lubię chodzić po (miasto) 
................................................................................................................................ 

3. Opowiem ci o moim (kot) 
................................................................................................................................ 

4. Lubię spać na grubym (materac) 
................................................................................................................................ 

5. Jak długo zostaniesz dziś w (praca) 
................................................................................................................................  

6. W tej (chata) ............................................................... znaleźli dawne 
naczynia wiejskie. 

7. Mam ranę na (noga) 
................................................................................................................................ 

 
4. Proszę wpisać w miejsce kropek właściwe formy czasowników w 

czasie przeszłym. Pierwsze zdanie (w części A1) jest przykładem. 
A. 
(1) Piotr codziennie wraca z pracy punktualnie. (2) Otwiera drzwi i wita się 

ze swoim psem. (3) Przechodzi przez długi korytarz i idzie do swojego 
ulubionego pokoju. (4) Siada zmęczony w fotelu. (5) Pies też wchodzi za nim do 
pokoju. (6) Dzwoni telefon. (7) Piotr wychodzi do przedpokoju i odbiera telefon. 
(8) Rozmawia krótko. 

wczoraj 
A 1 

(1) Piotr wrócił z pracy punktualnie. ........................... drzwi i ........................... ze 
swoim psem. (2) ............................. przez długi korytarz i ................................ 
do swojego ulubionego pokoju. (3) ...................................zmęczony w fotelu. 
(4) Pies też ...................................... za nim do pokoju. (5) ........................... 
telefon. (6) Piotr ........................... do przedpokoju i ........................... telefon. 
(7) ........................... krótko. 

II РІВЕНЬ 

1. Proszę wybrać czasownik i użyć go w odpowiedniej formie. 
WZÓR:  
(ja: zapraszać / zaprosić) .Zaprosiłem na urodziny najbliższych przyjaciół. 

1. Wczoraj (my: spotkać / spotykać).............................................Halinę na Rynku. 
2. Zwykle (ja: skończyć / kończyć)....................................................pracę o 16.00. 
3. Moja babcia zawsze (zrobić / robić)................................ porządki miesiąc przed 
4. świętami. 
5. Łucja nagle (zacząć / zaczynać).................................................................płakać. 



 

89 

6. Od razu po powrocie ze szpitala Jan (poczuć się / czuć się) ................................ 
znacznie lepiej. 

7. Podobno w czasie wakacji często (wy: zagrać / grać)........................................w 
karty. 

8. Po tej męczącej podróży szybko (one: wykąpać się / kąpać się) ......................... 
................i do kolacji zasiadły w doskonałym nastroju. 

9. W każdą sobotę (my: wypić / pić)...............................do obiadu czerwone 
wino. 

 
2. Proszę wpisać w miejsce kropek właściwe formy stopnia wyższego 

podkreślonych przysłówków. 
WZÓR 
Siedzisz blisko mnie, ale chciałbym, żebyś siedziała jeszcze bliżej. 
1. Jedziesz prędko, ale chciałabym, żebyś jechał jeszcze ..................................... . 
2. Mówisz głośno, ale chciałbym, żebyś mówiła jeszcze ...................................... . 
3. Słuchasz muzyki cicho, ale chciałbym żebyś słuchała jej jeszcze ..................... . 
4. Mówię już dobrze po polsku, ale chciałbym mówić jeszcze ............................ . 
5. Zarabiam dużo, ale chciałbym zarabiać jeszcze ............................................... . 
 
3. Przysłówki z ramki proszę wstawić na miejsca kropek. 
strasznie, wcześnie, aktualnie, stopniowo, jednocześnie, nisko, 

prawdopodobnie, szalenie, biegle, fatalnie, dosłownie, wyjątkowo, przeważnie, 
świetnie, nieczytelnie, wspólnie 

WZÓR: 
Helikopter policyjny leciał nisko i patrolował granicę. 

1. Karol mówi ............................................. po francusku i po rosyjsku. 
2. Po całym dniu podróży był .......................................... zmięczony. 
3. Codziennie muszę wstawać dość ...................................., a dzisiaj .............           

................................ wstałem dopiero o 9.00. 
4. Przygotowali ......................................................... cały bankiet. 
5. Moja siostra ................................................... jest na stypendium we Włoszech 

i            ........................................... zostanie tam jeszcze na rok. 
6. Przetłumacz mi tę sentencję .......................................................! 
7. Lekarze ............................................. piszą recepty ............................................. 
8. ............................................. podoba mi się ta rzeźba! 
9. „...................................... wyglądasz!” – powiedzieli .......................................... 
10. Z początku czuła się tam ........................................., ale ........................  

poprawił się jej humor. 
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III PІВЕНЬ 

1. Proszę podkreślić we wszystkich jednostkach zadania testowego jedną 
odpowiedź, której nie powstydziłby się rozsądny obywatel Unii Europejskiej. 

WZÓR: 
Można się opalać                                                na plaży, pod parasolem,  
                                                                            w zaciemnionym pokoju 

1. Można chodzić po wysokich górach:       w elegańskich butach na szpilkach,  
                                                                  z ręką na temblaku, w 

wygodnych   
                                                                  adidasach 

2. Można jeździć rowerem:                          po chodnikach, po ścieżce rowerowej,  
                                                                  po trawnikach 

3. Można kąpać się w morzu:                       kiedy jest sztorm, kiedy powiewa  
                                                                  czarna flaga, kiedy ratownik 

wywiesił  
                                                                  zieloną flagę 

4. Można pływać małą żaglówką:                w wannie, na jeziorach, po oceanie 
5. Można popłynąć statkiem oceanicznym: do Budapesztu, do Marsylii,  

                                                                  do Paryżu 
6. Można poznawać obyczaje innych:          podróżując, marząc, kłócąc się z  

                                                                  kolegami 
7. Można uczyć się języków obcych:           na bezludnej wyspie, z niemym  

                                                                  kolegą, w centrum linwistyki  
                                                                  stosowanej 

8. Można uprawiać wspinaczkę:                  na nizinach, na pustyni, w górach 
9. Można zarobić na wakacje:                      pracując przy zbiorze truskawek,  

                                                                  spędzając wieczory na 
dyskotekach,  

                                                                  opalając się nad jeziorami 
10. Można zwiedzać stolice świata:               w muzeum, pieszo, statkiem   

                                                                  handlowym 
 
2. Proszę opisać historię pewnej znajomości. 
_______________________________________________________

___________________________________________________________
___________________________________________________________
___________________________________________________________
___________________________________________________________
___________________________________________________________
___________________________________________________________
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_______________________________________________________________
_______________________________________________________________
_______________________________________________________________
_______________________________________________________________
_______________________________________________________________
_______________________________________________________________
_______________________________________________________________
_______________________________________________________________
_______________________________________________________________
_______________________________________________________________
_______________________________________________________________
_______________________________________________________________
_______________________________________________________________
_______________________________________________________________
_______________________________________________________________
____________ 

КОНТРОЛЬНІ ЗАВДАННЯ З ПОЛЬСЬКОЇ МОВИ 
11 КЛАС 

І РІВЕНЬ 
 
1. Proszę wpisać w miejsce kropek właściwe formy wyrazów w nawiasach. 
WZÓR: 
(szkoła, lekcje) 
Synku, musisz codziennie chodzić do szkoły na lekcje. 
 

1. (Adam, imieniny) 
Adam miał wczoraj imieniny! Zapomnieliśmy o 

................................................... 
2. (wycieczka, Amsterdam) 

Organizujemy ............................................... do 
.................................................. 

3. (koncert, Berlin) 
Jutro wylatujemy na ................................... do 

.................................................... 
4. (sklep, kawa) 

Brakło mi kawy, a więc wybieram się do ............................ na 
............................ 

5. (Paryż, zakupy) 
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Wróciła z ......................................., gdzie była na 
................................................ 
6. (mecz, stadion) 

Skąd te krzyki? Znowu rozgrywają jakiś ........................... na 
.............................. 
7. (muzeum, wystawa) 

Zapraszam cię do .............................................. na 
.............................................. 
8. (Nowy Jork, konferencja) 

Dostałem zaproszenie, więc jadę do .................................na 
............................. 
 
2. Proszę wstawić w miejsce kropek właściwą formę trybu 
przypuszczającego. 

WZÓR: 
(zostać) 
Gdybym miał czas, zostałbym dłużej w górach. 
 

1. (uczyć się) 
Gdybym był Polakiem, nie ...................................... języka polskiego. 

2. (mieszkać) 
Gdybym był góralem, ............................................... w górach. 

3. (jechać) 
Gdybyśmy mieli lepszy samochód, (ja) ........ ........................ szybciej. 

4. (zatrzymać) 
Gdyby policjant nie miał radaru, nie ............................................ nas. 
 

3. Proszę wpisać w miejsce kropek właściwe formy imiesłowu przymiotnikowego 
biernego. 

WZÓR: 
Jaki to jest tekst? Drukowany?           Nie. To jest tekst (pisać) pisany 

ręcznie. 
Wyprałaś tę koszulę?                         Tak. Włoż na siebie wypraną koszulę. 
 

1. Jaka jest ta szynka? Gotowana?  Nie. To jest szynka (peklować) ............  
                                                     ......................................... . 

2. Jakie jest to mięso? Smażone?     Nie. To jest mięso (gotować) ...............  
                                                              ................................... . 

3. Jaka to jest kaseta? Nagrana?      Nie. To jest kaseta (skasować) .............  
                                                             ..................................... . 

4. Jaki jest to dom? Nowy?               Nie. To jest dom (odrestaurować) ........  
                                                             .............................................. . 
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5. Jaka jest ta ryba? Świeża?            Nie. To jest ryba (odmrozić) ................  
                                                             ...................................... . 

6. Zamówiłaś pizzę?                        Tak. ............................................ pizza  
                                                             jest już na stole! 

7. Odgrzałaś bigos?                         Tak. ............................................ bigos  
                                                             jest już na talerzu. 

8. Przetłumaczyłeś ten artykuł?       Tak. ...................................................... 
                                                             artykuł leży już na biurku. 

9. Wymyłaś talerze?                        Tak. ................................ talerze są już  
                                                             w kredensie. 

10. Podpisałaś umowę?                     Tak. ........................................ umowa  
                                                              jest już w aktach. 
 

4. Proszę wpisać w miejsce kropek właściwe formy. Liczebniki należy zapisać 
słownie. 

 
WZÓR: 
Ile masz sióstr?                                 Mam (2, siostra) dwie siostry. 
Ile masz lat?                                     Mam (25, rok) dwadzieścia pięć lat. 
Ile kosztuje sok?                                Jeden sok kosztuje (3, złoty) trzy złote. 
 

1. Ile kosztuje znaczek pocztowy?   Znaczek do krajów UE kosztuje (2,  
                                                             złoty) .................................................... 

2. Ile masz sióstr?                           Mam (3, siostra) ................................... 
                                                             .............................................. . 

3. Ile ona ma lat?                             Ona ma (31, rok) .................................  
                                                              .............................................................. 

4. Ile płacisz za pokój w hotelu?      Za jedną dobę płacę (100, złoty) ..........  
                                                    ............................................... . 

II РІВЕНЬ 

1. Proszę podkreślić w każdej jednostce zadania jeden wyraz, który nie mieści się w 
polu tematycznym. 

WZÓR: 
pole tematyczne: ZWIERZĘTA LEŚNE:     mysz, wilk, żubr, jeleń 
 

1. pole tematyczne: WARZYWA:            cebula, kalafior, groch, pomidor 
2. pole tematyczne: RESTAURACJA:     barman, zapałka, kelner, stolik 
3. pole tematyczne: ZWIERZĘTA:           delfin, antylopa, małpa, mapa 
4. pole tematyczne: MAPA:                      brzeg, nizina, półwysep, rzeka 
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2. Proszę zamienić podane w nawiasach wyrazy na formy deminutywne 
(zdrobniałe) i użyć ich ich w odpowiedniej formie zgodnie ze wzorem. 

Sabina: Jestem już tak zmęczona tą podróżą, że marzę o moim wygodnym 
(łóżko).łóżeczku, (koc) ...................................... i dobrej książce. 

Agnieszka: Ja bym się napiła gorącej (herbata)2 
................................................ i zjadłabym (flaki) 
....................................................... . 

Sabina: A co byś powiedziała na (twaróg) 
....................................................... ze (śmietana)........................................ i 
chleb ze świeżym (masło) ................ .............................? 

Agnieszka: Cały miesiąc tęskniłam za kiszonymi ogórkami i wiejską 
(kiełbasa) ............................. . 

 
3. Proszę utworzyć wyrazy złożone i użyć ich w odpowiedniej formie. 

Na widok Renaty nasz (mało – mówić) małomówny kolega nagle się 
ożywił. W piątek pojechaliśmy na dawno planowaną (jeden – dzień) 
....................................... wycieczkę. Od razu na parkingu zobaczyliśmy i 
usłyszeliśmy (wiele – języków) ................................................... tłum turystów. 
Wszyscy robili zdjęcia i nawoływali się głośno. Mieliśmy wrażenie, że naokoło 
byli sami ([ludzie z] obcych / krajów) ......................................................... . 
Zwiedziliśmy pałac, zobaczyliśmy pokój, w którym zatrzymywał się znany 
(powieści – pisać) ................................................, ukradkiem dotykaliśmy 
(srebrzysty – biały) ............................................... pościeli na ogromnym łóżku i 
zgadywaliśmy, od kogo pochodziły (nowy – rok) ................................................... 
życzenia wystawione w gablotce. Po obiedzie pojechaliśmy do lasu, żeby 
zobaczyć malowniczy (woda – spadać) ..................................... i (sto – lat)  
........................................... dąb. 

III РІВЕНЬ 

1. Proszę wybrać jedną z czterech możliwości pasującą do ponumerowanych luk w 
tekście i wpisać odpowiednia literkę: a, b, c lub d. 

Polska na mapie 

Polska położona jest w [0. a] środku Europy, zajmuje powierzchnię 312 
685 km2. Od wschodu [1. ......] z Litwą, Białorusią i Ukrainą, od południa ze 
Słowacją i z Czechami, od zachodu z Niemcami. Na północy Polska ma 528-
kilometrową granicę morską wzdłuż brzegu Bałtyku. Polska ma 38,6 miliona 
mieszkańców, zajmując pod tym względem ósme miejsce wśród państw 
europejskich. Stolicą Polski jest Warszawa, [2. ......] ponad 1,6 miliona 
mieszkańców. 
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Ludność i religia 

Polska jest krajem jednolitym narodowościowo, mniejszości narodowe 
stanowią poniżej 4% jej [3. ......]. Najliczniejsze mniejszości narodowe – to 
mieszkający na wschodzie kraju Białorusini i Ukraińcy oraz skupiający się głównie 
na Śląsku Opolskim Niemcy. Polacy w przytłaczającej większości są katolikami, 
ale utożsamianie Polaka wyłącznie z katolikiem jest błędne. Są bowiem takie [4. 
......] kraju jak Śląsk Cieszyński, gdzie znaczny odsetek mieszkańców to luteranie. 
W dużych miastach nie brak też przedstawicieli innych wyznań. Na wschodzie 
Polski znaczącą mniejszość stanowią wyznawcy prawosławia, a podziały [5. ......] 
nie zawsze pokrywają się tu z narodowymi, choć zazwyczaj Białorusini są wierni 
cerkwi prawosławnej, a Ukraińcy kościołowi grekokatolickiemu. Na 
Białostocczyźnie znaleźć można wsie, gdzie obok siebie [6. ......] mieszkają 
katolicy, prawosławni i muzułmanie – potomkowie osiedlonych w dawnej 
Rzeczypospolitej Tatarów. (...) Przywiązanie do religii wyraża się głównie w 
głęboko zakorzenionym szacunku do rytuałów i [7. ......] religijnych. Wiele urody 
krajobrazowi Polski dodają przydrożne krzyże i ludowe kapliczki z fi gurami 
świętych, Matki Boskiej lub umęczonego Chrystusa. Uroczyście obchodzone są 
największe święta kościelne: Wielkanoc, Boże Ciało, Wniebowzięcie Matki 
Boskiej, a także dzień Wszystkich Świętych, kiedy to niemal wszyscy Polacy, bez 
względu na wyznanie, [8. ......] groby swoich bliskich. 

 
 A. B. C. D. 

0. geometrycznym centralnym głownym astronomicznym 
1. leży graniczy jest położona jest oddalona 
2. licząca leżąca przekraczająca dochodząca 
3. powierzchni miast wyznawcow obywateli 
4. miasta wojewodztwa rejony wyspy 
5. klasowe społeczne religijne terytorialne 
6. osobno serdecznie niechętnie zgodnie 
7. modlitw symboli pieśni książek 
8. odwiedzają zwiedzają fotografują opuszczają 

 
 

2. Proszę napisać opowiadanie „Kiedy byłem (byłam) dzieckiem...”. 
___________________________________________________________

_______________________________________________________________
_______________________________________________________________
_______________________________________________________________
_______________________________________________________________
_______________________________________________________________
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___________________________________________________________
___________________________________________________________
___________________________________________________________
___________________________________________________________
___________________________________________________________
___________________________________________________________
___________________________________________________________
___________________________________________________________
___________________________________________________________
___________________________________________________________
___________________________________________________________
___________________________________________________________
___________________________________________________________
___________________________________________________________
___________________________________________________________
___________________________________________________________
___________________________________________________________
___________________________________________________________
___________________________________________________________
___________________________________________________________
_________________________________ 
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РОСІЙСЬКА МОВА 
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КОНТРОЛЬНАЯ РАБОТА 
ПО РУССКОМУ ЯЗЫКУ 

9 КЛАСС 

І УРОВЕНЬ 

(ПО 2 БАЛЛА) 

 

1. Какие получатся слова, если произнести звуки в обратном порядке. 
Запишите эти слова. 

Лён, ешь, лог, мог, куль, том, лезь. 
 
2. Определите, к каким частям речи относятся следующие слова, 

составьте 2–3 предложения на выбор. 
Синева, синий, синеть, синь, синеющий, синька, синенький, посинев, 

синюшный. 
 
3. Какое слово является лишним среди однокоренных слов. 
Водный, подводник, водопровод, водитель, водичка, водяной, 

заводь. 
 
4. Закончите предложение, подобрав антонимы. 

1. Один брат молчун, а другой … 
2. Вместо прямой линии начертили… 
3. Сегодня море бурное, а вчера было… 
4. Это дело не ясное, а крайне… 
5. Я был принят не на постоянную работу, а на … 
6. Он помнит добро и забывает … 
7. Ты всегда весел, почему же сегодня… 

ІІ УРОВЕНЬ 

(ПО 4 БАЛЛА) 

1. Продолжить синонимический ряд (2-4 слова). 
Большой, огромный… 
Идти, ехать… 
Изобилие, множество… 
Жаркий, знойный… 
Чудесно, великолепно. 
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2. Заменить выделенные слова фразеологизмами. 
1. Денег было совсем мало. 
2. Он работал очень упорно. 
3. Слова были сказаны искренне. 
4. Дед и бабушка жили дружно. 
5. Мы встали рано. 
6. Ребята бежали быстро. 
7. Он в этом деле много знает. 

 
3. Выделите сказуемые в предложениях, определите их тип, способ 

выражения. 
1. Мы начинаем изучать новую тему. 
2. Я буду учителем. 
3. Дважды два – четыре. 
4. Усилием воли Николай взял себя в руки. 
5. Река в этом месте была глубокой. 
6. Ты у нас умница. 
7. Ребята катались на санках. 
8. Я люблю вечерний закат. 

ІІІ УРОВЕНЬ 

(ПО 5 БАЛЛОВ) 

1. Продолжите предложение На каникулах мы поедем в Киев, образуя: 
− простое предложение с однородными членами предложения; 
− простое предложение, осложненное обособленными членами 

предложения; 
− сложносочиненное предложение; 
− сложноподчиненное предложение; 
− бессоюзное предложение. 

 
2. Просклонять числительное 2759. 
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КОНТРОЛЬНАЯ РАБОТА 
ПО РУССКОМУ ЯЗЫКУ 

11 КЛАСС 

І УРОВЕНЬ 

(ПО 2 БАЛЛА) 
1. Определите особенности окончаний данных слов (формально 

выраженное, нулевое, нет вообще). 
Велик, зимушка, ах, Альпы, Баку, кое-как, издавна, оба, вечер, крыша, 

ночь, четверо, доброта, чудесная. 
 
2. Определите, от каких частей речи образованы слова. Составьте по 2 

словосочетания, употребляя данные слова в роли разных частей речи. 
Мороженое, жаркое, горячее, сладкое, первое. 
 
3. Вставьте пропущенные буквы.  
Девч…нка, туш…нка, деш…вый, трущ…ба, сгущ…нка, капюш…н, 

стаж…р, зайч…нок, размеж…вка, печ…нка, парч…вый, ноч…вка, печ…шь, 
ш…рох, ш…лковый. 

 
4. Какие из данных сочетаний слов не являются словосочетаниями? 
Задание на дом, день и ночь, красный от волнения, пусть скажет, река 

замерзла, записаться в кружок, кот наплакал, говорить громко, будем 
учиться, идти напевая. 

ІІ УРОВЕНЬ 

(ПО 4 БАЛЛА) 

1. Запишите русские синонимы заимствованным словам. 
Субсидия, аннексия, консолидация, автобиография, инцидент, 

контракт, реабилитация, орфография, инъекция, авангардный, приоритет, 
алфавит, тоталитарный, дискуссия. 

 
2. Найдите ошибка в предложениях, исправьте их. 

1. Мы выбрали самый ближайший путь. 
2. Рыбы метают икру. 
3. Бабушка печет вкусные торты. 
4. Дверь в прихожую стояла настежь. 
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5. Увидев картину, она мне понравилась. 
6. Он подыскал себе надежного помощника. 
7. В журнале опубликована рецензия о книге. 
8. Это был характерный ему поступок. 
9. Писатель описал портрет героини. 
10. На симпозиум прибыли лучшие ученые-физики. 

 
3. Какие звуки может обозначать буква З. Приведите примеры. 

ІІІ УРОВЕНЬ 

(ПО 5 БАЛЛОВ) 

1. Составьте предложения с разными значениями слова идти. 
1. Двигаться, передвигаться, ступая ногами. 
2. Перемещаться в пространстве. 
3. Отправляться, направляться куда-нибудь. 
4. Иметь место, происходить. 
5. Быть к лицу, соответствовать. 

 
2. Спишите, вставляя, где необходимо, пропущенные буквы, раскрывая 

скобки, расставляя знаки препинания. 

Мы выбрали (не)большую р…внину прогретую (не)жарким солнцем. 
Если посмотриш… на листве(н,нн)ый склон горы то среди (медно)красной 
листвы увид…ш… как среди домов (кое)где светятся золотые кроны 
деревьев. Внизу трава еще зеленая (как)буд(то) молодая а меж голубоватых 
камней как полирова(н,нн)ая бл…стает вода. В стекля(н,нн)ой син…ве тихой 
заводи вода пр…обр…тает темный цвет медле(н,нн)о кружит опавшую 
листву и затем мчит ее дальше по каменистому ложу. 

Виноград (в)прикуску с хлебом особе(н,нн)о под теплым небом 
кажется (не)обыкнове(н,нн)о вкусным. И тут(же) можно прямо пригоршней 
напит…ся осенней студе…ой как драгоце…ое вино воды. 

В одном месте вода бурлит огромными клубами чуть(ли) не фонтанами 
пытаясь растеч…ся (в)ширь но стесне…ая каме…ыми берегами устремляется 
вперед собстве…о летит обрызгивая пр…брежные камни (И. Новиков). 
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ЗАРУБІЖНА ЛІТЕРАТУРА 
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КОНТРОЛЬНА РОБОТА 
ІЗ ЗАРУБІЖНОЇ ЛІТЕРАТУРИ 

9 КЛАС 

 І РІВЕНЬ 

Дайте відповідь на тестові завдання: 

До якого художнього напряму належить п’єса Педро Кальдерона «Життя – 
це сон»?  

а) класицизм; 
б) бароко; 
в) романтизм; 
г) сентименталізм.  

 
1. Назвіть головний художній принцип романтизму: 

а)  ідеалізація минулого; 
б) зображення життєвих реалій, правдивість, чесність; 
в)  фантастика, містика, екзотика далеких країв, категорія 

свободи; 
г) зображення соціальних конфліктів, протистояння людини і 

суспільства. 
  
2. Назвіть ім’я засновника жанру історичного роману: 

а) Джордж Байрон; 
б) Александр Дюма; 
в) Вальтер Скотт; 
г) Жорж Санд. 

  
3. Які слова мав сказати Фауст на знак повного задоволення життям: 

а) «Людина – вінець творіння!»; 
б) «Спинися, мите, ти прекрасна!»; 
в) «Життя прекрасне!»; 
г) «От тепер не шкода й померти!» 

  
4. Різновид комічного, їдка, викривальна, особливо дошкульна насмішка, 

сповнена крайньої ненависті – це: 
а) гумор; 
б) сатира; 
в) сарказм; 
г) іронія. 



 

104 

ІІ РІВЕНЬ 

Дайте стислу відповідь на питання: 

1. Назвіть основні ознаки «байронічного героя». 
2. Назвіть визначальні риси класицизму. Що таке «закон трьох єдностей»? 

ІІІ РІВЕНЬ 

Напишіть есе на тему «Книги, які надихають». 

 

КОНТРОЛЬНА РОБОТА 
ІЗ ЗАРУБІЖНОЇ ЛІТЕРАТУРИ 

10 КЛАС 

І РІВЕНЬ 

Дайте відповідь на тестові завдання: 

1. Творчість цього письменника НЕ належить до напрямку реалізму: 
а) Оноре де Бальзак; 
б) Стендаль; 
в) Чарльз Діккенс; 
г) Віктор Гюго. 

  
2. Основним художнім принципом Льва Толстого є: 

а)  «діалектика душі»; 
б)  «діалектика характеру»; 
в)  «принцип айсбергу»; 
г)  «потік свідомості». 

  
3. Визначте провідну тему роману Стендаля «Червоне і чорне»: 

а) зіткнення неординарної особистості із законами суспільства; 
б) нищівна влада грошей; 
в) формування свідомості молодої людини; 
г) співвідношення добра і зла. 
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4. Назвіть автора цих рядків: 
Найперше – музика у слові! 
Бери ж із розмірів такий, 
Що плине, млистий і легкий, 
А не тяжить, немов закови. 

 
а) Артюр Рембо; 
б) Шарль Бодлер; 
в) Гійом Аполлінер; 
г) Поль Верлен. 

 
5. ХІХ століття в літературі – це шлях: 

а) від класицизму до романтизму; 
б) від просвітництва до реалізму; 
в) від романтизму до реалізму; 
г) від модернізму до постмодернізму. 

ІІ РІВЕНЬ 

Дайте стислу відповідь на питання: 

1. Назвіть основні ознаки реалізму, імена та твори його найяскравіших 
представників. 

2. Поясніть, у чому полягає естетична функція літератури. 

ІІІ РІВЕНЬ 

Напишіть есе на тему «Книги, які має прочитати кожен». 
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КОНТРОЛЬНА РОБОТА 
ІЗ ЗАРУБІЖНОЇ ЛІТЕРАТУРИ 

11 КЛАС 

І РІВЕНЬ 

Дайте відповідь на тестові завдання: 

  
1. За композицією роман М. Булгакова «Майстер і Маргарита» – це: 

а) роман-ріка; 
б) роман-монолог; 
в) роман в романі; 
г) роман-щоденник; 

  
2. Ці поети є представниками «срібної доби»: 

а) В. Маяковський, Гарсіа Лорка, Р. М. Рільке, Т. С. Еліот; 
б) А. Ахматова, Р. М. Рільке, Ф. Г. Лорка; 
в) О. Блок, А. Ахматова, В. Маяковський, Б. Пастернак;   
г) Г. Аполлінер, Б. Пастернак, О. Блок. 

  
3. Футуризм – це: 

а) загальна назва кризових явищ у мистецтві і культурі кін.ХІХ – 
поч. ХХ ст.; 

б) літературно-мистецький напрям кінця ХІХ – початку ХХ ст.; 
в) одна з течій авангардизму, яка за допомогою здебільшого 

екстравагантних художніх засобів піддавала сумніву вічні 
цінності й традиції як у мистецтві, так і взагалі в житті; 

г) літературна течія, представники якої поставили собі за мету 
повернути поетичному слову його конкретне, «свідоме» 
значення, втрачене в символізмі з його «безмежним» словом-
символом. 

  
4. Основним завданням письменників-модерністів є: 

а) правдиве і реалістичне відтворення навколишньої дійсності; 
б) пошук нових зображальних форм, художній експеримент; 
в) ствердження абсурдності і хаотичності світу; 
г) створення ірреального, фантастичного художнього світу. 
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5. «Потік свідомості» – літературний прийом, спосіб зображення психіки 
людини як складного та плинного процесу, який використав: 

а) Ф. Кафка у новелі «Перевтілення»; 
б) Дж. Джойс у есе «Джакомо Джойс»; 
в) О. Уальд у «Портреті Доріана Грея»; 
г) М. Булгаков у романі «Майстер і Маргарита». 

ІІ РІВЕНЬ 

Дайте стислу відповідь на питання: 

 

1. Розкрийте сенс поняття «масова література». Наведіть приклади.  
2. Назвіть лауреатів Нобелівської премії у галузі літератури, яких ви знаєте. 

ІІІ РІВЕНЬ 

Напишіть есе на тему «Книги, що змінюють світогляд». 

РОЗПОДІЛ БАЛІВ: 

10 балів за перший рівень (по 2 бали за питання); 

5 балів за другий рівень (по 2,5 бали за питання); 

15 балів за третій рівень (есе). 
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УКРАЇНСЬКА МОВА ТА ЛІТЕРАТУРА 
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КОНТРОЛЬНІ ЗАВДАННЯ З УКРАЇНСЬКОЇ МОВИ 
ТА ЛІТЕРАТУРИ 

9 КЛАС 

І РІВЕНЬ 

Продовжте речення (5 балів). 

1. Не мають парних м’яких такі приголосні звуки: … 
2. До твердої групи належать іменники …, наприклад: 
3. Присвійні прикметники утворюються за допомогою суфіксів …, 

наприклад: 
4. Трискладова стопа з наголосом на другому складі називається: 

а) хорей; 
б) дактиль; 
в) пиріхій; 
г) амфібрахій; 
д) анапест. 

 
5. Визначте троп, в основі якого лежить перенесення ознак і властивостей  

одного предмета на інший на основі їхньої подібності: 
а) синекдоха; 
б) метафора; 
в) епітет; 
г) алегорія; 
д) порівняння. 

ІІ РІВЕНЬ 

6. Перепишіть, вставте, якщо потрібно, пропущені букви, згрупуйте слова 
відповідно до правила, поясніть їх написання (3 бали). 

Совіс..ний, свинц...вий, матеріально/відповідальний, викр...сл...ний, 
бе…ш…лес..ний, студен…тво, прихвос..ні, очис..ний, д…ректор, 
гайдамач...ина, бра…тво, мецена…тво, над…яр…я, пр…своїти 
вище/зазначений, по/українськи, форпос…ний, б…резова, уман…с…кий, 
в...нт...лятор, ест…тичний, зб...рання, мереж…во, без…астережний, 
зав…іділен…я, роз…ява, Він….ич…ина, Лівоб…реж...я, тонно/кілометр. 
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7. Запишіть дієслова в три колонки за способами: 1) дійсний, 2) умовний, 
3) наказовий (4 бали). 

 
Годилося б, спішімо, дізнаються, аргументували б, озвуся, 

тамуй, вставайте, бачимо, апробуймо, тікав би, апелювали, вчімо, 
матимемо, споглядаємо, обіцяє, загуркоче, купите, кличеш, розповів 
би, читаймо. 

 
8. Виконайте віршовий аналіз уривка з поезії І.Малковича «З нічних 

молитов» (ритмічна схема, вид стопи, віршовий розмір, характеристика 
рим та римування) (4 бали): 

 
Господи, літа стебельце 
всели до самітніх душ, 
дай кожному звити кубельце, 
і не поруш. 
Хай кожен в цім світі спасеться, 
хай світить з-за темних круч 
довкола кожного серця 
віри твоєї обруч. 

 
9. Відтворіть схематично роди літератури, доповнивши схему прикладами 

вивчених творів з української літератури (4 бали). 

ІІІ РІВЕНЬ 

1. Перепишіть речення, уставте пропущені букви та розділові знаки. 
Зробіть повний синтаксичний розбір речення (визначте тип, підкресліть 
члени речення, подайте схему) (5 балів). 

 

Пл…каймо вмін…я від…авати любов т..пло  зустрічний крок  і 
завжди буд…мо багаті в щ…дрості серця і думок. (В. Крищенко). 

 
2. Розкрийте проблематику твору «Думи про Марусю Богуславку» через 

аналіз образу ліричної героїні. Що близького і що відмінного нашим 
сучасникам є в цьому образі? Свої міркування викладіть у формі есе 
(5 балів). 
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КОНТРОЛЬНІ ЗАВДАННЯ З УКРАЇНСЬКОЇ МОВИ 
ТА ЛІТЕРАТУРИ 

10 КЛАС 

І РІВЕНЬ 

Продовжте речення (5 бали). 

1. Синоніми – це …, наприклад: 
2. Кількісні числівники поділяються на такі групи:…, наприклад: 
3. Розглядати дієприкметник як особливу форму дієслова дають підстави 

такі його морфологічні ознаки: …, наприклад: 
4. Оберіть рядок, у якому названо всі художні засоби наведеного вірша:  

І день не день, і йде не йде,  
А літа стрілою  
Пролітають, забирають  
Все добре з собою.  
Окрадають добрі думи,  
О холодний камень  
Розбивають серце наше  
І співають амінь 

(Т. Шевченко) 
 

а) оксюморон, епітет, градація, метафора; 
б) персоніфікація, асонанс, епітет,метафора, метонімія; 
в) метафора, епіфора, метонімія, синтаксичні оклики; 
г) риторичне питання, асонанс, метонімія, епітет, метафора; 
д) еліпсис, градація, метафора,епітет. 

 
5. В якому з наведених рядків найбільш повно подано ознаки 

сентименталізму: 
а) Незвичайні події, герой у ситуації вибору, змішування стилів, 

контрастність; 
б) емоційність, вплив фольклорної традиції, культ позитивного й 

нещасного героя, психологізм; 
в) експресивність, почуттєвість, змішування високого й низького 

стилів, герой є шукачем пригод; 
г) конфлікт залишається не розвʼязаним, герой – особистість 

сильна, психологізм відсувається на другий план, враження 
домінує над вираженням; 
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д) типовий герой у типових обставинах, фольклорна традиція 
трансформується на рівні символічних деталей, містицизм. 

ІІ РІВЕНЬ 

1. Перепишіть, уставте, якщо потрібно, пропущені букви, згрупуйте слова 
відповідно до правила, поясніть їх написання (3 бали).  

Улес...ливий, п'ятсот/кілометровий, д…р…гент, 
машин…о/тракторний, на пелюс.ці, сільсько/господарський, віс.ник, 
кр...тичний, т…хнічний, д…скваліфікація, скло/очисний, кількіс...ний, 
фото/ефект, алюміні…вий, науково/технічний, декабри…ський, 
квасол…вий, д…ректор, автомобіле/будування, ціліс.ний, бов...аніти, 
тиж...невий, зозулеч...ин, капус.няк, пружин...ий, інженер/дослідник, 
б…р…жливість, плющ…вий, вантажно/розвантажувальний, с…авці. 

 
2. Випишіть ті сполуки слів, які можуть бути фразеологічними. З двома з 

них складіть речення (4 бали). 

Довга пісня, довга палиця, кінець уроку, виїхати до Києва, нюхати 
порох, пускати голубів, пускати півня, пекти картоплю, пекти раків, 
тонконогий олень, з відкритим серцем, з відчиненими дверима, хоч 
греблю гати, хоч на купу складай, за багато років, за тридев'ять земель, 
не за горами, не за долинами, накрити ковдрою, накрити мокрим 
рядном. 

 
3. Доведіть або спростуйте думку щодо того, що твір «Intermezzo» 

М. Коцюбинського є зразком модерної європейської новелістики 
(4 бали). 

 
4. Виконайте віршовий аналіз уривка з поезії Є.Плужника «Ніч... а човен - 

як срібний птах!..» ритмічна схема, вид стопи, віршовий розмір, 
характеристика рим та римування, тропи) (4 бали): 

 
Ніч...  а  човен  -  як  срібний  птах!.. 
(Що  слова,  коли  серце  повне!) 
...Не  спіши,  не  лети  по  сяйних  світах, 
Мій  малий  ненадійний  човне! 
І  над  нами,  й  під  нами  горять  світи... 
І  внизу,  і  вгорі  глибини... 
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О,  який  же  прекрасний  ти, 
Світе  єдиний! 

ІІІ РІВЕНЬ 

1. Перепишіть речення, уставте пропущені букви та розділові знаки. 
Зробіть повний синтаксичний розбір речення (визначте тип, підкресліть 
члени речення, подайте схему (5 балів)). 

Треба глибоко розуміти що мова тільки та н…вичерпно багата й гарна 
яка живит…ся із народних дж…рел що ніколи не замулюют…ся 
(Петро Панч). 

2. Геніальні митці, випереджаючи свій час, у своїх творах змальовували 
події далекого майбутнього. Так, сьогодні, зважаючи на АТО на сході 
України, особливо актуально перечитувати «Кавказ» Т. Шевченка. Так 
само актуальним щодо тих самих подій є твір «Оборона Буші» 
М. Старицького… Висловіть свої міркування з приводу того, яким 
повинен бути сучасник, щоб жити у непростому сьогоденні. Які якості 
характеру сьогодні, на ваш погляд, є найбільш актуальними і 
потрібними (5 балів). 
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КОНТРОЛЬНІ ЗАВДАННЯ З УКРАЇНСЬКОЇ МОВИ 
ТА ЛІТЕРАТУРИ 

11 КЛАС 

І РІВЕНЬ 

Продовжте речення (5 балів). 

1. До морфологічних належать такі способи творення слів: …, наприклад: 
 
2. Сполучники, що з’єднують частини складносурядного речення 

поділяються на такі групи: …, наприклад: 
 

 
3. Складеним іменним називається присудок …, наприклад: 
 

ІІ РІВЕНЬ 

4. Перепишіть, уставте, якщо потрібно, пропущені букви, згрупуйте слова 
відповідно до правила, поясніть їх написання (3 бали). 

Кіс.лявий, блок/схема, обез...аражен…я, коч...вий, 
близько/спорідн…ний, проїз...ний, паспортис…чин, пр…з…дент, 
захис…ний, індо/європейський, конвалі...вий, учас…ник, корис…ний, 
інтеліген…ський, кат…горія, пробл…матичний, пов…ртається, пр…стиж, 
прибуток, стеж…чка, пр…м'єра, чебрец...вий, взутт. вий, насінн…ий, 
без...емел...я, півватний, повніст...ю, навман…я, безліч…ю, 
болотно/луговий. 

5. Відредагуйте і запишіть текст. Визначте стиль, назвіть його ознаки 
(4 бали). 

До заяви прикладається: атестат, виписка з протоколу зборів 
трудового колективу, пятидесятитисячний чек на оплату навчання, копії 
всіх нужних документів.  

 
6. Доведіть або спростуйте думку щодо того, що твір «Intermezzo» 

М. Коцюбинського є зразком модерної європейської новелістики 
(4 бали). 
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7. Виконайте віршовий аналіз уривка з поезії Є. Плужника «Ніч... а човен - 
як срібний птах!..» ритмічна схема, вид стопи, віршовий розмір, 
характеристика рим та римування, тропи) (4 бали): 

 
Ніч...  а  човен  -  як  срібний  птах!.. 
(Що  слова,  коли  серце  повне!) 
...Не  спіши,  не  лети  по  сяйних  світах, 
Мій  малий  ненадійний  човне! 
І  над  нами,  й  під  нами  горять  світи... 
І  внизу,  і  вгорі  глибини... 
О,  який  же  прекрасний  ти, 
Світе  єдиний! 

ІІІ РІВЕНЬ 

1. Перепишіть речення, уставте пропущені букви та розділові знаки. 
Зробіть повний синтаксичний розбір речення (визначте тип, підкресліть 
члени речення, подайте схему) (5 балів). 

Н…дарма деякі люди жит…я своє пр…свячують щоб вибудувати й 
дослідити своє ген…алогічне дер…во бо людина єдина істота яка має 
відчут…я історії і коли відчут…я в ній згасає вона морально д…чавіє. (Валерій 
Шевчук). 

2. Сьогодні часто можна почути думку, що стати щасливим у сучасному 
світі непросто, що для цього потрібно мати чимало матеріальних благ, 
докладати чимало інтелектуальних і фізичних зусиль. Класик української 
літератури колись зазначив: «Сміливі завжди мають щастя». Як слід 
розуміти цей вислів? Які блага і які риси характеру повинен мати наш 
сучасник, аби відчувати себе щасливим? Чи можливо це загалом у 
нашому світі? Свої міркування викладіть у формі есе (5 балів). 
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БІОЛОГІЯ 
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КОНТРОЛЬНІ ЗАВДАННЯ З БІОЛОГІЇ 
9 КЛАС 

І РІВЕНЬ 

(кожне запитання – 0,5 балів, загалом – 3 бали) 

ЗАВДАННЯ №1 

 
1. Віруси містять: 

а) ДНК або РНК; 
б) тільки ДНК; 
в) тільки РНК; 
г) ні ДНК, ні РНК не містять. 

 
2. До складу клітинної оболонки бактеріальної клітини входить: 

а) муреїн; 
б) хітин; 
в) глікоген; 
г) крохмаль.  

 
3. Видозміною листка є: 

а) плоди бука; 
б) луски бруньок; 
в) цибулина цибулі; 
г) присоски омели. 

 
4. Гаметофітом квіткових рослин є: 

а) зародок; 
б) ендосперм; 
в) пилкове зерно; 
г) яйцеклітина. 

 
5. Розмножується за допомогою спор, а в життєвому циклі домінує 

спорофіт: 
а) сфагнум; 
б) хвощ; 
в) ялина; 
г) дуб. 
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6. Багатоклітинною зеленою водорістю є: 
а) спірогіра; 
б) хлорела; 
в) порфіра; 
г) ламінарія. 

 

ЗАВДАННЯ №2 

(кожне запитання – 0,5 балів, загалом – 3 бали) 

1. Порожнина тіла кільчастого черв’яка: 
а) вторинна; 
б) відсутня; 
в) змішана; 
г) первинна. 

 
2. Визначте паразита, який уражає клітини крові: 

а) амеба дизентерійна; 
б) лямблія; 
в) лейшманія; 
г) малярійний плазмодій. 

 
3. Кровоносна система у молюсків: 

а) замкнена, серця немає; 
б) незамкнена, є серце; 
в) відсутня; 
г) замкнена, є серце. 

 
4. Виберіть ознаку хрящових риб: 

а) характерне внутрішнє запліднення; 
б) зяброві цілини прикриті зябровою кришкою; 
в) скелет кістковий; 
г) мають плавальний міхур. 

 
5. Визначте, чим дихають наземні хордові – плазуни: 

а) шкірою; 
б) легенями і шкірою; 
в) легенями; 
г) зябрами. 
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6. Визначте, яких залоз немає в шкірі ссавців: 
а) сальних; 
б) потових; 
в) куприкових; 
г) молочних. 

 

ЗАВДАННЯ №3 

(кожне запитання – 0,5 балів, загалом – 3 бали) 

1. Хрящова тканина людини складається з: 
а) колагену і міжклітинної речовини; 
б) остеоцитів і міжклітинної речовини; 
в) хондроцитів і міжклітинної речовини; 
г) хондроцитів і остеоцитів. 

 
2. Визначте кількість енергії, яка виділяється при окисненні 1 моль 

глюкози. Рівняння реакції окиснення глюкози у м’язах С6Н12О6 + 6О2 = 
6Н2О + 6СО2 +Q: 

а) 309,6 кДж; 
б) 3096 кДж; 
в) 154,8 кДж; 
г) 1548 кДж. 

 
3. Порожнина плеври заповнена: 

а) м’язовою тканиною; 
б) рідиною; 
в) хрящовою тканиною; 
г) повітрям. 

 
4. Адреналін виробляє: 

а) мозковий шар надниркових залоз; 
б) яєчник; 
в) вилочкова залоза; 
г) підшлункова залоза. 

 
5. Гіркий смак краще сприймається: 

а) коренем язика; 
б) кінчиком язика; 
в) краями язика; 
г) губами. 
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6. Нейрони, які передають у мозок інформацію із зовнішнього 
середовища: 

а) відцентрові; 
б) рухливі; 
в) вставні; 
г) чутливі. 

ІІ РІВЕНЬ 

ЗАВДАННЯ №1 

(кожне запитання – 0,5 балів, загалом – 5 балів) 

Назвіть прізвище вченого, який: 

1. Першим відкрив бактерії  
2. Відкрив подвійне запліднення у Квіткових  
3. Був першим президентом Української академії наук  
4. Відкрив фермент пепсин  
5. Відкрив у нейронах сітчастий апарат  
6. Був засновник науки про вищу нервову діяльність  
7. Відкрив кровообіг  
8. Розробив першу вакцину (проти віспи)  
9. Відкрив віруси  
10. Разом з І. Мечниковим отримав Нобелівську премію за теорію 

імунітету  

ЗАВДАННЯ №2 

(кожне запитання – 0,5 балів, загалом – 5 балів) 

Наведіть відповідний термін: 

1. речовина, що виконує структурну функцію в клітинах грибів _______ 
2. процес порушення нативного стану біологічних макромолекул без зміни 

їхньої первинної структури _______________________________________ 
3. єдиний відділ вищих рослин у циклі розвитку якого переважає 

гаметофіт ________________________________________________________ 
4. наука, яка вивчає плазунів ___________________________________ 
5. назва голосового органу птахів _______________________________ 
6. великий мурахоїд є представником ряду _______________________ 
7. кількість молочних зубів у людини ____________________________ 



 

121 

8. стадія гаметогенезу, на якій відбувається процес мейозу 
_______________________________________________________________ 

9. спосіб розмноження, за якого у гідри утворюються бруньки 
_______________________________________________________________ 

10. надмірний вигин хребта назад (кругла спина) 
_______________________________________________________________ 

ІІІ РІВЕНЬ 

ЗАВДАННЯ №1 

(декілька правильних відповідей) 

(кожне запитання – 1 бал, загалом – 7 балів) 
1. Незамінними амінокислотами у людини є: 

а) валін; 
б) аспарагін; 
в) цистеїн; 
г) триптофан; 
д) гліцин; 
е) аланін. 

 
2. Перелітною птахою є: 

а) стриж; 
б) сойка; 
в) качка; 
г) грак; 
д) рябчик; 
е) сизий голуб. 

 
3. Повітряно-краплинним шляхом проникає в організм вірус: 

а) ящура; 
б) віспи; 
в) грипу; 
г) гепатиту; 
д) ВІЛ-інфекції; 
е) герпесу. 

 
4. До гетеротрофних прокаріотів належать: 

а) фотосинтетики; 
б) хемосинтетики; 
в) паразити; 
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г) симбіонти; 
д) сапротрофи; 
е) зелені бактерії. 

5. Які залози належать до екзокринних: 
а) гіпофіз; 
б) слинні; 
в) наднирники; 
г) тімус; 
д) потові; 
е) сальні. 

 
6. До гормонів щитоподібної залози належать: 

а) тироксин; 
б) соматотропін; 
в) трийодтиронін; 
г) кортикостероїди; 
д) адреналін; 
е) кальцитонін. 

 
7. До водорозчинних вітамінів належать: 

а) А; 
б) С; 
в) В6; 
г) К; 
д) Е; 
е) Н. 

 

ЗАВДАННЯ №2 

1. 2 бали Опишіть органели і структури, що є спільними, як для 
рослинної, так і для тваринної клітин 

2. 2 бали Перелічить індивідуальні форми поведінки тварин 

3. 3 бали Накресліть  схему безумовно-рефлекторного та умовно-
рефлекторного виділення слини людиною 
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КОНТРОЛЬНІ ЗАВДАННЯ З БІОЛОГІЇ 
10 КЛАС 

І РІВЕНЬ 

(кожне запитання – 0,5 балів, загалом – 3 бали) 

ЗАВДАННЯ №1 

 
1. Віруси містять: 

а) ДНК або РНК; 
б) тільки ДНК; 
в) тільки РНК; 
г) ні ДНК, ні РНК не містять. 

 
2. До складу клітинної оболонки бактеріальної клітини входить: 

а) муреїн; 
б) хітин; 
в) глікоген; 
г) крохмаль. 

 
3. Видозміною листка є: 

а) плоди бука; 
б) луски бруньок; 
в) цибулина цибулі; 
г) присоски омели. 

 
4. Гаметофітом квіткових рослин є: 

а) зародок; 
б) ендосперм; 
в) пилкове зерно; 
г) яйцеклітина. 

 
5. Розмножується з допомогою спор, а в життєвому циклі домінує 

спорофіт: 
а) сфагнум; 
б) хвощ; 
в) ялина; 
г) дуб. 
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6. Багатоклітинною зеленою водорістю є: 
а) спірогіра; 
б) хлорела; 
в) порфіра; 
г) ламінарія. 

ЗАВДАННЯ №2 

(кожне запитання – 0,5 балів, загалом – 3 бали) 

1. Порожнина тіла кільчастого черв’яка: 
а) вторинна; 
б) відсутня; 
в) змішана; 
г) первинна. 

 
2. Визначте паразита, який уражає клітини крові: 

а) амеба дизентерійна; 
б) лямблія; 
в) лейшманія; 
г) малярійний плазмодій. 

 
3. Кровоносна система у молюсків: 

а) замкнена, серця немає; 
б) незамкнена, є серце; 
в) відсутня; 
г) замкнена, є серце. 

 
4. Виберіть ознаку хрящових риб: 

а) характерне внутрішнє запліднення; 
б) зяброві цілини прикриті зябровою кришкою; 
в) скелет кістковий; 
г) мають плавальний міхур. 

 
5. Визначте, чим дихають наземні хордові – плазуни: 

а) шкірою; 
б) легенями і шкірою; 
в) легенями; 
г) зябрами. 

6. Визначте, яких залоз немає в шкірі ссавців: 
а) сальних; 
б) потових; 



 

125 

в) куприкових; 
г) молочних. 

ЗАВДАННЯ №3 

(кожне запитання – 0,5 балів, загалом – 3 бали) 

1. Хрящова тканина людини складається з: 
а) колагену і міжклітинної речовини; 
б) остеоцитів і міжклітинної речовини; 
в) хондроцитів і міжклітинної речовини; 
г) хондроцитів і остеоцитів. 

 
2. Визначте кількість енергії, яка виділяється при окисненні 1 моль 

глюкози. Рівняння реакції окиснення глюкози у м’язах С6Н12О6 + 6О2 = 
6Н2О + 6СО2 +Q: 

а) 309,6 кДж; 
б) 3096 кДж; 
в) 154,8 кДж; 
г) 1548 кДж. 

 
3. Порожнина плеври заповнена: 

а) м’язовою тканиною; 
б) рідиною; 
в) хрящовою тканиною; 
г) повітрям. 

 
4. Адреналін виробляє: 

а) мозковий шар надниркових залоз; 
б) яєчник; 
в) вилочкова залоза; 
г) підшлункова залоза. 

 
5. Гіркий смак краще сприймається: 

а) коренем язика; 
б) кінчиком язика; 
в) краями язика; 
г) губами. 

 
6. Нейрони, які передають у мозок інформацію із зовнішнього 

середовища: 
а) відцентрові; 
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б) рухливі; 
в) вставні; 
г) чутливі. 

ІІ РІВЕНЬ 

ЗАВДАННЯ №1 

(кожне запитання – 0,5 балів, загалом – 5 балів) 

Назвіть прізвище вченого, який: 

1. Першим відкрив бактерії _____________________________________ 
2. Відкрив подвійне запліднення у Квіткових ______________________ 
3. Був першим президентом Української академії наук _____________ 
4. Відкрив фермент пепсин _____________________________________ 
5. Відкрив у нейронах сітчастий апарат ___________________________ 
6. Був засновник науки про вищу нервову діяльність _______________ 
7. Відкрив кровообіг ___________________________________________ 
8. Розробив першу вакцину (проти віспи) _________________________ 
9. Відкрив віруси ______________________________________________ 
10. Разом з І. Мечниковим отримав Нобелівську премію за теорію 

імунітету ________________________________________________________ 

ЗАВДАННЯ №2 

(кожне запитання – 0,5 балів, загалом – 5 балів) 

Наведіть відповідний термін: 

1. Речовина, що виконує структурну функцію в клітинах грибів _______ 
2. Процес порушення нативного стану біологічних макромолекул без 

зміни їхньої первинної структури _____________ 
3. Єдиний відділ вищих рослин у циклі розвитку якого переважає 

гаметофіт _____________ 
4. Наука, яка вивчає плазунів _____________ 
5. Назва голосового органу птахів _____________ 
6. Великий мурахоїд є представником ряду _____________ 
7. Кількість молочних зубів у людини _____________ 
8. Стадія гаметогенезу, на якій відбувається процес мейозу _________ 
9. Спосіб розмноження, за якого у гідри утворюються бруньки _______ 
10. Надмірний вигин хребта назад (кругла спина) _____________ 
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ІІІ РІВЕНЬ 

ЗАВДАННЯ №1 

(декілька правильних відповідей) 

(кожне запитання – 1 бал, загалом – 7 балів) 

 
1. Незамінними амінокислотами у людини є: 

а) валін; 
б) аспарагін; 
в) цистеїн; 
г) триптофан; 
д) гліцин; 
е) аланін. 

 
2. Перелітною птахою є: 

а) стриж; 
б) сойка; 
в) качка; 
г) грак; 
д) рябчик; 
е) сизий голуб. 

 
3. Повітряно-краплинним шляхом проникає в організм вірус: 

а) ящура; 
б) віспи; 
в) грипу; 
г) гепатиту; 
д) ВІЛ-інфекції; 
е) герпесу. 

 
4. До гетеротрофних прокаріотів належать: 

а) фотосинтетики; 
б) хемосинтетики; 
в) паразити; 
г) симбіонти; 
д) сапротрофи; 
е) зелені бактерії. 

 
5. Які залози належать до екзокринних: 
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а) гіпофіз; 
б) слинні; 
в) наднирники; 
г) тімус; 
д) потові; 
е) сальні. 

 
6. До гормонів щитоподібної залози належать: 

а) тироксин; 
б) соматотропін; 
в) трийодтиронін; 
г) кортикостероїди; 
д) адреналін; 
е) кальцитонін. 

 
7. До водорозчинних вітамінів належать: 

а) А; 
б) С; 
в) В6; 
г) К; 
д) Е; 
е) Н. 

ЗАВДАННЯ №2 

(обов’язково наведіть перебіг розв’язання) 

1. На фрагменті одного ланцюга ДНК нуклеотиди розташовані в 
послідовності: 

А - А - Г - Т - Ц - Т - А - Ц - Г - А - Т - Г. Запишіть схему структури 
дволанцюгової молекули ДНК; поясніть, якою властивістю ДНК при цьому 
ви керувалися; яка довжина даного фрагменту ДНК. (2 бали). 
2. У молекулі ДНК виявлено 880 гуанілових нуклеотидів, які складають 

22 % від загального числа нуклеотидів в цій ДНК. (2 бали). 
Визначте: а ) скільки інших нуклеотидів в цій ДНК? б) яка довжина 

цього фрагменту? 
3. Внаслідок дисиміляції виділилось 24 молі СО2 і 12 молів молочної 

кислоти. Скільки молів АТФ синтезувалось? (3 бали). 
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КОНТРОЛЬНІ ЗАВДАННЯ З БІОЛОГІЇ 
11 КЛАС 

І РІВЕНЬ 

(кожне запитання – 0,5 балів, загалом – 3 бали) 

ЗАВДАННЯ №1 

1. Віруси містять: 
а) ДНК або РНК; 
б) тільки ДНК; 
в) тільки РНК; 
г) ні ДНК, ні РНК не містять. 

 

2. До складу клітинної оболонки бактеріальної клітини входить: 
а) муреїн; 
б) хітин; 
в) глікоген; 
г) крохмаль.  

 

3. Видозміною листка є: 
а) плоди бука; 
б) луски бруньок; 
в) цибулина цибулі; 
г) присоски омели. 

 
4. Гаметофітом квіткових рослин є: 

а) зародок; 
б) ендосперм; 
в) пилкове зерно; 
г) яйцеклітина.  

 
5. Розмножується з допомогою спор, а в життєвому циклі домінує 

спорофіт: 
а) сфагнум; 
б) хвощ; 
в) ялина; 
г) дуб. 
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6. Багатоклітинною зеленою водорістю є: 
а) спірогіра; 
б) хлорела; 
в) порфіра; 
г) ламінарія. 

ЗАВДАННЯ №2 

(кожне запитання – 0,5 балів, загалом – 3 бали) 

1. Порожнина тіла кільчастого черв’яка: 
а) вторинна; 
б) відсутня; 
в) змішана; 
г) первинна. 

 
2. Визначте паразита, який уражає клітини крові: 

а) амеба дизентерійна; 
б) лямблія; 
в) лейшманія; 
г) малярійний 
д) плазмодій. 

 
3. Кровоносна система у молюсків: 

а) замкнена, серця немає; 
б) незамкнена, є серце; 
в) відсутня; 
г) замкнена, є серце. 

 
4. Виберіть ознаку хрящових риб: 

а) характерне внутрішнє запліднення; 
б) зяброві цілини прикриті зябровою кришкою; 
в) скелет кістковий; 
г) мають плавальний міхур. 

 
5. Визначте, чим дихають наземні хордові – плазуни: 

а) шкірою; 
б) легенями і шкірою; 
в) легенями; 
г) зябрами. 
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6. Визначте, яких залоз немає в шкірі ссавців: 
а) сальних; 
б) потових; 
в) куприкових; 
г) молочних. 

ЗАВДАННЯ №3 

(кожне запитання – 0,5 балів, загалом – 3 бали) 

 
1. Хрящова тканина людини складається з: 

а) колагену і міжклітинної речовини; 
б) остеоцитів і міжклітинної речовини; 
в) хондроцитів і міжклітинної речовини; 
г) хондроцитів і остеоцитів. 

 
2. Визначте кількість енергії, яка виділяється при окисненні 1 моль 

глюкози. Рівняння реакції окиснення глюкози у м’язах С6Н12О6 + 6О2 = 
6Н2О + 6СО2 +Q: 

а) 309,6 кДж; 
б) 3096 кДж; 
в) 154,8 кДж; 
г) 1548 кДж. 

 
3. Порожнина плеври заповнена: 

а) м’язовою тканиною; 
б) рідиною; 
в) хрящовою тканиною; 
г) повітрям. 

 
4. Адреналін виробляє: 

а) мозковий шар надниркових залоз; 
б) яєчник; 
в) вилочкова залоза; 
г) підшлункова залоза. 

 
5. Гіркий смак краще сприймається: 

а) коренем язика; 
б) кінчиком язика; 
в) краями язика; 
г) губами. 
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6. Нейрони, які передають у мозок інформацію із зовнішнього 
середовища: 

а) відцентрові; 
б) рухливі; 
в) вставні; 
г) чутливі. 

ІІ РІВЕНЬ 

ЗАВДАННЯ №1 

(кожне запитання – 0,5 балів, загалом – 5 балів) 

Назвіть прізвище вченого, який: 

1. Першим відкрив бактерії _____________ 
2. Відкрив подвійне запліднення у Квіткових _____________ 
3. Був першим президентом Української академії наук _____________ 
4. Відкрив фермент пепсин _____________ 
5. Відкрив у нейронах сітчастий апарат _____________ 
6. Був засновник науки про вищу нервову діяльність _____________ 
7. Відкрив кровообіг _____________ 
8. Розробив першу вакцину (проти віспи) _____________ 
9. Відкрив віруси _____________ 
10. Разом з І. Мечниковим отримав Нобелівську премію за теорію 

імунітету _____________ 

ЗАВДАННЯ №2 

(кожне запитання – 0,5 балів, загалом – 5 балів) 

Наведіть відповідний термін: 

1. Речовина, що виконує структурну функцію в клітинах грибів _______ 
2. Процес порушення нативного стану біологічних макромолекул без 

зміни їхньої первинної структури _____________ 
3. Єдиний відділ вищих рослин у циклі розвитку якого переважає 

гаметофіт _____________ 
4. Наука, яка вивчає плазунів _____________ 
5. Назва голосового органу птахів _____________ 
6. Великий мурахоїд є представником ряду _____________ 
7. Кількість молочних зубів у людини _____________ 
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8. Стадія гаметогенезу, на якій відбувається процес мейозу _____________ 
9. Спосіб розмноження, за якого у гідри утворюються бруньки ________  
10. Надмірний вигин хребта назад (кругла спина) _____________ 
 

ІІІ РІВЕНЬ 

ЗАВДАННЯ №1 

(декілька правильних відповідей) 

(кожне запитання – 1 бал, загалом – 7 балів) 

1. Незамінними амінокислотами у людини є: 
а) валін; 
б) аспарагін; 
в) цистеїн; 
г) триптофан; 
д) гліцин; 
е) аланін. 

 

2. Перелітною птахою є: 
а) стриж; 
б) сойка; 
в) качка; 
г) грак; 
д) рябчик; 
е) сизий голуб. 

 
3. Повітряно-краплинним шляхом проникає в організм вірус: 

а) ящура; 
б) віспи; 
в) грипу; 
г) гепатиту; 
д) ВІЛ-інфекції; 
е) герпесу. 

 
4. До гетеротрофних прокаріотів належать: 

а) фотосинтетики; 
б) хемосинтетики; 
в) паразити; 
г) симбіонти; 
д) сапротрофи; 
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е) зелені бактерії. 
5. Які залози належать до екзокринних: 

а) гіпофіз; 
б) слинні; 
в) наднирники; 
г) тімус; 
д) потові; 
е) сальні. 

 
6. До гормонів щитоподібної залози належать: 

а) тироксин; 
б) соматотропін; 
в) трийодтиронін; 
г) кортикостероїди; 
д) адреналін; 
е) кальцитонін. 

 
7. До водорозчинних вітамінів належать: 

а) А; 
б) С; 
в) В6; 
г) К; 
д) Е; 
е) Н. 

ЗАВДАННЯ №2 

(обов’язково наведіть перебіг розв’язання) 

1. Біомаса сухого сіна з 1 м2 луки становить 200 г. Використовуючи ланцюг 
живлення: рослини ‒ корова ‒ людина, розрахуйте скільки гектарів луки 
необхідно для того, щоб прогодувати людину масою 65 кг (70 % води). 
(2 бали). 

2. У молекулі ДНК виявлено 880 гуанілових нуклеотидів, які складають 
22 % від загального числа нуклеотидів в цій ДНК. Визначте: а ) скільки 
інших нуклеотидів в цій ДНК? б) яка довжина цього фрагмента? 
(2 бали). 

3. Жінка з нерудим волоссям, мати й батько якої мають неруде волосся, а 
брат ‒ руде, вийшла заміж за чоловіка, який має руде волосся. Мати 
його має також руде, а батько ‒ неруде волосся. Від цього шлюбу 
народилися хлопчик з нерудим і дівчинка з рудим волоссям. Визначте 
генотипи всіх згаданих осіб і складіть схему родоводу. (3 бали). 
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ХІМІЯ 
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КОНТРОЛЬНІ ЗАВДАННЯ З ХІМІЇ 
9 КЛАС 

І РІВЕНЬ 

1. Масова частка води в кристалогідраті натрій сульфіту становить 50%. 
Укажіть число молекул води у формулі цього кристалогідрату. 

(3 бали) 
 

2. Виведіть молекулярну формулу органічної речовини, що складається з 
Карбону, Гідрогену та Оксигену. Масова частка Карбону в ній становить 
72 %, Гідрогену – 12%. Відносна густина пари цієї речонини за воднем 
дорівнює 50. 

(3 бали) 
 

3. Одна зі стадій добування цинку в промисловості – випалювання 
збагаченої руди, головним складником якої є цинк сульфід. Обчисліть 
масу (кг) цинк оксиду, який одержали в результаті випалювання руди 
масою 970 кг з масовою часткою цинк сульфіду 60 %. 

(3 бали) 

ІІ РІВЕНЬ 

1. На суміш масою 10 г, що складається із заліза та міді, подіяли 
надлишком розбавленої сульфатної кислоти, унаслідок чого виділився 
газ об'ємом 2,8 л (н. у.). Обчисліть масову частку (%) заліза в суміші.? 

(5 балів) 
 

2. Природний Нітроген складається із суміші двох нуклідів   14 N та 15N. 
Відносна атомна маса Нітрогену становить 14,007. Розрахуйте атомні 
частки нуклідів у природному Нітрогені (%). 

(5 балів) 

ІІІ РІВЕНЬ 

1. Газову суміш, що утворилась при спалюванні 9г невідомої речовини, 
спочатку пропустили над фосфор (V) оксидом, а потім крізь розчин 
кальцій гідроксиду. При цьому маса склянки з фосфор (V) оксидом 
збільшилась на 13,5 г, а в розчині лугу утворилось 12,5 г кальцій 
карбонату та 40,5 г кальцій гідрогенкарбонату. Визначити формулу 
речовини. 

(7 балів) 
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2. На розчинення суміші заліза, міді та залізної окалини масою 8 
витратили 90,6 мл хлоридної кислоти (ρ =1, 047г/мл) з масовою часткою 
хлороводню 10%. Одержали 1,12 л газу (н.у.). Розрахуйте масовий склад 
вихідної суміші. 
(7 балів) 
 

КОНТРОЛЬНІ ЗАВДАННЯ З ХІМІЇ 
10 КЛАС 

І РІВЕНЬ 

1. Обчисліть масу (г) кухонної солі, яку потрібно взяти для приготування 
фізіологічного розчину масою 9 кг із масовою часткою солі 0,9 % . 
(3 бали) 

 
2. У розчині міститься 40% солі. Якщо додати 120 г солі, то процентний 

вміст солі стане рівним 70%. Скільки грам солі було спочатку в розчині? 
(3 бали) 

 
3. Визначте формулу сполуки, якщо масові частки елементів у ній 

становлять Феруму – 28%, Сульфуру – 24%, Оксигену – 48%. 
(3 бали) 

ІІ РІВЕНЬ 

1. До ферум(ІІ) сульфіду масою 220 г добавили хлоридну кислоту, узяту в 
надлишку. Гідроген сульфід, що виділився, повністю прореагував із 
сульфур(IV) оксидом з утворенням сірки та води. Обчисліть об’єм (л) 
гідроген сульфіду. Обчисліть масу (г) сірки, що утворилася. 
(5 балів) 

 
2. У процесі обробки сплаву міді з золотом нітратною кислотою взятою в 

надлишку виділилось 672 мл (н.у.) оксиду масова частка Нітрогену в 
якому становить 46,67% і залишилось 0,2 г нерозчинного залишку. 
Обчисліть масові частки металів у сплаві. 
(5 балів) 
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ІІІ РІВЕНЬ 

1. Суміш, що складається із 16 мл СН4, 8 мл Н2, 44 мл О2 та 32 мл N2, була 
підірвана. Визначте загальний об’єм газової суміші та об’ємні частки 
газоподібних компонентів після вибуху, якщо реакційна суміш 
охолоджена до початкової температури, а вода – повністю 
конденсована. 

(7 балів) 
 

2. У розчин, що містить 20 г арґентум нітрату, помістили цинкову 
пластинку. Через деякий час її маса стала 14,44 г. Приріст маси 
пластинки склав 44,4%. 

Розрахуйте: 
а) вихідну масу пластинки; 
б) об’єм розчину нітратної кислоти з масовою часткою кислоти 10%  

(р = 1,054г/см3), що витратиться на повне розчинення одержаного срібла. 
(7 балів) 
 

КОНТРОЛЬНІ ЗАВДАННЯ З ХІМІЇ 
11 КЛАС 

І РІВЕНЬ 

1. Обчисліть середню молярну масу (г/моль) суміші гелію з киснем, 
об’ємна частка гелію в якій становить 75 %. 

(3 бали) 
 

2. Натрій гідроксид кількістю речовини 1,5 моль розчинили у воді масою 
240 г. Обчисліть масову частку (%) лугу в одержаному розчині. 

(3 бали) 
 

3. Визначте число атомів Карбону в молекулі насиченого вуглеводню, 
відносна молекулярна маса якого дорівнює 100. 

(3 бали) 
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ІІ РІВЕНЬ 

1. Для приготування столового оцту використовують оцтову есенцію, 
масова частка етанової кислоти в якій становить 80%. Обчисліть обєм (л) 
води, яку необхідно змішати з оцтовою есенцією масою 400 г для 
одержання столового оцту з масовою часткою етанової кислоти 5%. 
(5 балів) 

 
2. Унаслідок повного окиснення алкену кількістю речовини 0,5 моль 

утворився карбон(IV) оксид об’ємом 44,8 л (н. у.). Виведіть молекулярну 
формулу алкену. Обчисліть масу (г) алкену, який окиснили. 
(5 балів) 

ІІІ РІВЕНЬ 

1. Є дві однакові порції суміші пропану й метиламіну. Першу порцію 
пропустили крізь бромідну кислоту, узяту в надлишку. Унаслідок цього 
об’єм газової суміші зменшився на 2,24 л (н. у.). У результаті повного 
окиснення другої порції суміші газів утворився карбон(IV) оксид 
кількістю речовини 0,4 моль. Обчисліть об’ємну частку (%) пропану в 
суміші, використаної для проведення реакцій.  
(7 балів) 

 
2. На схемі наведено перетворення, які ведуть до утворення трьох солей 

Х, Y, Z: 
1. А + В → С →А Д → ОН 2 Е  →NaOH Х 
2. A + F → G → ОН 2 H  →NaOH Y 
3. I + M → K  →NaOH Z 

Відомо, що А, І, М – прості газоподібні за н. у. речовини, а В та F – прості 
тверді речовини – неметали. Які сполуки можуть відповідати наведеній схемі? 
Наведіть рівняння згаданих реакцій.  

(7 балів) 
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ГЕОГРАФІЯ 
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КОНТРОЛЬНА РОБОТА З ГЕОГРАФІЇ 
9 КЛАС 

I РІВЕНЬ 

1. Укажіть, хто із давньогрецьких вчених увів термін «географія»: 
а) Аристотель; 
б) Геродот; 
в) Ератосфен; 
г) Клавдій Птолемей. 

 
2. Вкажіть ім'я мандрівника, який здійснив три навколосвітні подорожі і 

зробив спробу відкрити невідомий південний материк: 
а) Джеймс Кук; 
б) Вітус Беринг; 
в) Давід Левінгстон 
г) Александр Гумбольдт. 

 
3. Вкажіть назву країни, через столицю якої проходить Гринвіцький 

меридіан: 
а) Ісландія; 
б) Норвегія; 
в) Ірландія; 
г) Велика Британія. 

 
4. Переведіть числовий масштаб – 1:3500000 – у іменований: 

а) в 1 см 35 км; 
б) в 1 см 350 км; 
в) в 1 см 35000 км; 
г) в 1 см 350 м. 

 
5. Вкажіть назву процесу, у наслідок дії якого вугілля перетворюються на 

графіт:  
а) магматизм; 
б) метаморфізм; 
в) землетрус; 
г) тектонічні рухи літосферних плит. 
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6. Яка із областей України має сухопутний кордон із Польщею:  
а) Вінницька;  
б) Кіровоградська; 
в) Львівська; 
г) Одеська. 

 
7. Найвища точка рівнинної частини України:  

а) гора Говерла; 
б) гора Петрос; 
в) гора Берда; 
г) гора Роман-Кош. 

 
8. Найбільші річні суми опадів в Україні зареєстровано:  

а) у межах Поліської низовини; 
б) в Українських Карпатах; 
в) на узбережжі Азовського моря; 
г) у межах Причорноморської низовини. 

 
9. Укажіть серед названих родовищ корисних копалин нафтове родовище:  

а) Бориславське; 
б) Дашавське; 
в) Глібовське; 
г) Єфремівське. 

 
10. Вкажіть основну причину того, що Африка є найжаркішим материком на 

Землі: 
а) вплив океанічних течій; 
б) вплив географічного положення материка; 
в) вплив підстилаючої поверхні; 
г) вплив атмосферної цируляції. 

Оцінювання: 0,5 балів за кожну правильну відповідь 

Загальна сума балів за перші 10 запитань – 5 балів. 

 
11. Із наведеного переліку оберіть три країни, які є членами «Великої 

двадцятки»: 
а) Казахстан; 
б) Австралія; 
в) Єгипет; 
г) Франція; 
д) Бразилія; 
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е) Швеція; 
ж) Таїланд. 

 
12. Із наведеного переліку оберіть три сільськогосподарські культури, які 

належать до категорії «технічних» культур: 
а) пшениця; 
б) рис; 
в) цукровий буряк; 
г) картопля; 
д) соняшник; 
е) льон; 
ж) цибуля. 

 
13. Із наведеного переліку оберіть три міста України, які є містами-

мільйонника: 
а) Одеса; 
б) Київ; 
в) Черкаси; 
г) Кропивницький; 
д) Вінниця; 
е) Чернігів; 
ж) Харків. 

 
14. Вкажіть три острови береги яких омиваються водами Тихого океану: 

а) Гавайські о-ви; 
б) о. Тайвань; 
в) о. Куба; 
г) о. Гренландія; 
д) о. Крит; 
е) о. Шрі-Ланка. 

Оцінювання: 1,5 бали за кожну правильну відповідь 

Загальна сума балів за 11-14 запитання – 6 балів. 

Загальна сума балів за завдання початкового рівня – 11 балів. 
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II РІВЕНЬ 

Дайте розгорнуте визначення запропонованим поняттям. 
Наведіть приклади: 

1. Паводок – це … 
2. Урбанізація – це … 
3. Спеціалізація виробництва – це … 

Оцінювання: 3 бали за кожну правильну відповідь 

Загальна сума балів за запитання середнього рівня – 9 балів. 

 

Розв’яжіть географічні задачі. При вирішенні задач в зошит 
запишіть як кінцеві так і проміжні обрахунки. 

1. Визначте місцевий час у м. Київ (300 сх.д.), якщо у м. Горлівка (38ᵒ сх.д.) 
місцевий час 7 годин 20 хвилин. 

2. Визначте якою буде температура повітря на вершині гори висотою 3200 
м, якщо біля її підніжжя вона становить 18 0C. 

Оцінювання: 4 бали за кожну правильну відповідь 

Загальна сума балів за запитання достатнього рівня – 8 балів. 

III РІВЕНЬ 

1. Чи здатне глобальне потепління вплинути на спеціалізацію сільського 
господарства України? Якщо так, то яким чином? Наведіть приклади 
можливих змін. 

 

Оцінювання: 5 балів за повну, правильну відповідь. 

Максимальна сума балів за контрольну роботу – 33 бали. 
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КОНТРОЛЬНА РОБОТА З ГЕОГРАФІЇ 
10-11 КЛАС 

I РІВЕНЬ 

1. Географія – це наука, що вивчає: 
а) природу поверхні Землі; 
б) особливості охорони та збереження природи; 
в) природу материків, океанів, гірських систем, долини річки 

тощо; 
г) закономірності розвитку природи, господарства, життя 

населення всієї планети та окремих її територій. 
 
2. Вкажіть ім'я мандрівника, який відкрив для європейців внутрішні 

райони Африки:  
а) Фернан Магеллан; 
б) Христофор Колумб; 
в) Давід Лівінгстон; 
г) Александр Гумбольдт. 

 
3. Вкажіть правільне твердження: 

а) найпротяжніша паралель – екватор – має найбільшу 
географічну широту; 

б) географічна широта – це кут між площиною початкового 
меридіана та лінією, що проходить через дану точку до 
центра Землі; 

в) відлік географічної широти ведуть на захід і на схід від 
нульового меридиана; 

г) географічну широту визначають від лінії екватору до 90ᵒ 
північної і південної півкулі. 

 
4. Вкажіть відстань між двома точками на місцевості якщо на карті 

масштабу 1 : 100 000 ця відстань становить 4 см: 
а) 4 км; 
б) 400 м; 
в) 400 км; 
г) 40 км. 

 
5. Вкажіть правильне твердження щодо картографічних спотворень: 

а) на картах спотворюються тільки довжини ліній; 
б) найбільшими є спотворення на дрібномасштабних картах; 
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в) найбільшими є спотворення на планах та великомасштабних 
картах; 

г) чим більша площа зображуваної поверхні, тим меншим є 
спотворення на карті. 

 
6. Вкажіть чинник який визначає високі показники вологості клімату 

Південної Америки: 
а) положення материка у тропічних широтах; 
б) вплив Перуанської течії; 
в) вологі тропічні повітряні маси Тихого океану; 
г) південно-східні та північно-східні пасати Атлантичного океану. 

 
7. Український кристалічний щит є частиною: 

а) Східно-Європейської платформи; 
б) Скіфської платформи; 
в) Альпійського складчастого поясу; 
г) Причорноморської западини. 

 
8. Яке із названих міст є центром виробництва глинозему в Україні: 

а) Харків; 
б) Миколаїв; 
в) Кривий Ріг; 
г) Побузьке. 

 
9. Яка із перерахованих українських річок належить до басейну 

Балтійського моря: 
а) Південний Буг; 
б) Тиса; 
в) Інгул; 
г) Західний Буг. 

 
10. Вкажіть місто України, у якому є лінія метрополітену:  

а) Харків;  
б) Одеса; 
в) Львів;  
г) Запоріжжя.  

Оцінювання: 0,5 балів за кожну правильну відповідь 

Загальна сума балів за перші 10 запитань – 5 балів. 
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11. Із наведеного переліку оберіть три країни, які мають монархічну форму 
правління: 

а) Люксембург; 
б) Білорусь; 
в) Панама; 
г) Індія; 
д) Японія; 
е) Саудівська Аравія; 
ж) Швеція. 

 
12. Із наведеного переліку оберіть три країни для яких гідроелектростанції 

є основним способом виробництва електроенергіі: 
а) Саудівська Аравія; 
б) Норвегія; 
в) Лівія; 
г) Нова Зеландія; 
д) Мексика; 
е) Канада; 
ж) Індонезія. 

 
13. Виберіть із наведеного переліку три країни які є світовими лідерами за 

кількістю населення:  
а) Японія; 
б) США; 
в) Нігерія; 
г) Індія; 
д) Бразилія; 
е) Російська Федерація; 
ж) Китай. 

 
14. Виберіть із наведеного переліку три курортні міста, які знаходяться у 

Карпатському регіоні України: 
а) Миргород; 
б) Поляна; 
в) Хмільник; 
г) Моршин; 
д) Слов'янськ; 
е) Очаків; 
ж) Трускавець. 
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Оцінювання: 1,5 бали за кожну правильну відповідь 

Загальна сума балів за 11-14 запитання – 6 балів. 

Загальна сума балів за завдання початкового рівня – 11 балів. 

II РІВЕНЬ 

Дайте розгорнуте визначення запропонованим поняттям. 
Наведіть приклади: 

1. Демографічна політика – це … 
2. Валовий внутрішній продукт (ВВП) – це … 
3. Міжнародний поділ праці (МПП) – це … 

 

Оцінювання: 3 бали за кожну правильну відповідь 

Загальна сума балів за запитання середнього рівня – 9 балів. 

 

Розв’яжіть географічні задачі. При вирішенні задач в зошит 
запишіть як кінцеві так і проміжні обрахунки. 

 
1. Визначте місцевий час у м. Чернівці (26ᵒ сх.д.), якщо у м. Миколаїв (32ᵒ 

сх.д.) місцевий час – 13 годин 10 хвилин. 
2. Визначте ресурсозабезпеченість Саудівської Аравії на нафту (у різний 

спосіб), якщо встановлені запаси цього ресурсу становлять 36,3 млрд. 
тон, обсяги щорічного видобутку становлять 515,3 млн. тон, а кількість 
населення країни 27 млн. осіб. 

Оцінювання: 4 бали за кожну правильну відповідь 

Загальна сума балів за запитання достатнього рівня – 8 балів. 

III РІВЕНЬ 

1. Якими, на вашу думку, можуть бути шляхи вирішення проблеми 
біженців у світі? 

Оцінювання: 5 балів за повну, правильну відповідь. 

МАКСИМАЛЬНА СУМА балів за контрольну роботу – 33 бали. 
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ФІЗИКА 
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КОНТРОЛЬНІ ЗАВДАННЯ З ФІЗИКИ 
9 КЛАС 

І РІВЕНЬ 

(ПО 3 БАЛИ) 

 
1. Дерев‘яний кубик має масу 400 г. Кожну сторону куба зменшили вдвічі. 

Якою стала маса такого куба?  
 

2. Пружину стискають на 2 см силою 4 кН. У скільки разів потрібно 
збільшити силу, що стискає пружину, для того, щоб пружина 
скоротилась на 5 см. 

 
3. На який кут повертається Земля навколо своєї осі за 4 годин.  

ІІ РІВЕНЬ 

(ПО 5 БАЛІВ) 

4. До кінців невагомого стержня довжиною 1 м підвішені тягарці масою 1 
кг та 4 кг. У якій точці потрібно підперти стержень, щоб він перебував у 
рівновазі в горизонтальному положенні?  

 
5. Збиральна лінза дає дійсне зображення предмета, збільшене у 3 рази. 

Визначити фокусну відстань лінзи, якщо відстань між предметом і 
зображенням 1,2 м. Зробити побудову. 

ІІІ РІВЕНЬ 

(ПО 7 БАЛІВ) 

6. Зразок виготовлено зі сплаву міді та срібла. Вага зразка у повітрі 
дорівнює 10 Н, а у воді 8,9 Н. Знайти масу міді та срібла у зразку. 
Густина міді 8,9·103 кг/м3, густина срібла 10,5·103 кг/м3. 

 
7. Мідний провідник вагою 0,1 Н має опір 1 мОм. Знайти діаметр його 

поперечного перерізу, якщо густина міді 8,9·103 кг/м3, а її питомий опір 
1,7·10-8 Ом·м  
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КОНТРОЛЬНІ ЗАВДАННЯ З ФІЗИКИ 
10 КЛАС 

І РІВЕНЬ 

(ПО 3 БАЛИ) 

1. В одну і ту саму рідину густиною ρ  опустили два однакових за масою 
тіла, густина речовини яких 1ρ  та 2ρ . Порівняти виштовхувальні сили, 
якщо 1 2ρ ρ ρ< < . 

 
2. Літак виконує горизонтальний політ. Яку роботу виконує сила земного 

тяжіння за 2 години такого польоту, якщо маса літака 24 т, а його 
швидкість 360 км/год?  

 
3. Два кип’ятильники зі споживаними потужностями 500 Вт та 0,75 кВт 

з’єднали паралельно. Якою буде їх сумарна потужність, якщо їх 
підключили до мережі, на яку вони розраховані? Відповідь обґрунтуйте. 

ІІ РІВЕНЬ 

(ПО 5 БАЛІВ) 

4. Тіло масою 200 г кинули з поверхні землі під кутом 600 до горизонту з 
початковою швидкістю 10 м/с. На якій висоті кінетична енергія тіла буде 
в 4 рази більшою за його потенціальну енергію? (силами тертя 
знехтувати) 

 
5. Сила опору, що діє на розкритий парашут, пропорційна квадрату 

швидкості. Коефіцієнт пропорційності дорівнює k = 20 Н⋅с2/м2. З якої 
безпечної висоти h може стрибнути людина маси m = 72 кг, щоб її 
швидкість в момент приземлення дорівнювала швидкості приземлення 
парашутиста тієї ж маси, що стрибнув з великої висоти? 

ІІІ РІВЕНЬ 

(ПО 7 БАЛІВ) 

6. До вертикальної пружини жорсткістю k=10 Н/м та довжиною l=1 м 
підвішують вантаж масою m=0,5 кг. Після чого вантаж відхиляють від 
вертикалі на невеличкий кут  і відпускають. Знайдіть період 
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горизонтальних коливань, вважаючи вантаж матеріальною точкою. 
Вагою пружини і тертям знехтувати. 

 
7. Визначити наскільки зміститься положення центру мас вантажного 

літака АН-26, якщо вантаж масою mв = 400 кг перемістили на Δх = 5 м у 
напрямку хвостової частини літака. Маса літака з вантажем 24 т.  
 

КОНТРОЛЬНІ ЗАВДАННЯ З ФІЗИКИ 
11 КЛАС 

І РІВЕНЬ 

(ПО 3 БАЛИ) 

1. Як зміниться період коливань пружинного маятника, якщо масу тягарця 
збільшити вдвічі? 

 
2. Автоколона довжиною 300 м рухається через міст, довжиною 600 м зі 

швидкістю 36 км/год. Визначити час, за який колона переїде через міст?  
 

3. Людина масою 50 кг підстрибує вертикально вгору зі швидкості 2 м/с. 
Знайдіть вагу людини у вищій точці траєкторії?  

ІІ РІВЕНЬ 

(ПО 5 БАЛІВ) 

4. У замкненій посудині об’ємом V = 10 л міститься водяна пара, що має 
тиск Р1 =100 кПа та температуру t1 = 100°С. Яка маса води 
сконденсується на стінках посудини, якщо її охолодити до температури 
t2 = 20°С? Тиск насиченої водяної пари при t2= 20°С становить Рн = 2,3 
кПа. Молярна маса води μ = 18 г/моль.  

 
5. Визначити внутрішній опір батареї, якщо при силі струму 2 А у 

зовнішньому колі напруга 12 В, а при силі струму 5 А – напруга 6 В.  
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ІІІ РІВЕНЬ 

(ПО 7 БАЛІВ) 

6. Залежність швидкості руху літака від часу під час розбігу перед злетом 
описується рівнянням: v(t) = 1,5t – 0,015t2 (м/c). Літак відривається від 
землі у момент, коли його прискорення стає рівним нулю. Визначити: 
швидкість відриву літака; час розбігу; довжину розбігу; середнє 
прискорення літака під час розбігу?  

 
7. Котушка, що має 1000 витків мідного дроту, намотаного на каркас 

діаметром 5 см, розміщена в однорідному магнітному полі, 
паралельному її осі. Індукція магнітного поля змінюється за законом В(t) 
= 0,1⋅t Тл. Яким буде заряд на конденсаторі ємністю 100 мкФ, якщо його 
приєднати до кінців котушки? 
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МАТЕМАТИКА 
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КОНТРОЛЬНА РОБОТА З МАТЕМАТИКИ 
СЕКЦІЇ «МАТЕМАТИКА», 

«ПРИКЛАДНА МАТЕМАТИКА», 
«МАТЕМАТИЧНЕ МОДЕЛЮВАННЯ» 

9 КЛАС 

І РІВЕНЬ 

(ПО 3 БАЛИ) 

1. Довести, що �11√2− 12 + �9√2 − 8 − �3√2 − 4 = 3√24 . 
 

2. В одному сплаві маси латуні та міді знаходяться у відношенні 2:3, а в 
другому – у відношенні 4:5. Скільки частин першого та другого сплавів 
треба взяти, щоб дістати сплав, в якому маси цих металів знаходяться у 
відношенні 10:13? 
 

3. Нехай 𝑎𝑎, 𝑏𝑏, 𝑐𝑐 – сторони трикутника і справджується рівність 𝑎𝑎 + 5𝑏𝑏 +
3𝑐𝑐 = 6√2𝑏𝑏𝑏𝑏. Довести, що 𝑎𝑎 < 𝑏𝑏 i 𝑎𝑎 < 𝑐𝑐. 

ІІ РІВЕНЬ 

(ПО 5 БАЛІВ) 

1. Розв’язати рівняння (𝑥𝑥 + 1)(𝑥𝑥 + 2)(𝑥𝑥 + 6)(𝑥𝑥 + 7) = 24. 
 

2. Діагоналі опуклого чотирикутника 𝐴𝐴𝐴𝐴𝐴𝐴𝐴𝐴 перетинаються в точці 𝑂𝑂. 
Відомо, що площі ∆𝐴𝐴𝐴𝐴𝐴𝐴,∆𝐵𝐵𝐵𝐵𝐵𝐵,∆𝐶𝐶𝐶𝐶𝐶𝐶,∆𝐷𝐷𝐷𝐷𝐷𝐷 виражаються 
натуральними числами. Чи може добуток цих чисел дорівнювати 2008? 

ІІІ РІВЕНЬ 

(ПО 7 БАЛІВ) 

1. Знайти найбільше значення функції 𝑓𝑓(𝑥𝑥) = 3 ∙ √1 − 𝑥𝑥 + 4√𝑥𝑥. 
 

2. Точка 𝑀𝑀 знаходиться в площині квадрата 𝐴𝐴𝐴𝐴𝐴𝐴𝐴𝐴 і 𝑀𝑀𝑀𝑀 = 6 см, 𝑀𝑀𝑀𝑀 = 4 
см, 𝑀𝑀𝑀𝑀 = √2 см. Знайти площу квадрата. 
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КОНТРОЛЬНА РОБОТА З МАТЕМАТИКИ 
СЕКЦІЇ «ЕКОНОМІКА», «КОМП’ЮТЕРНІ НАУКИ» 

9 КЛАС 

І РІВЕНЬ 

(ПО 3 БАЛИ) 

1. Розв’язати систему рівнянь 

�𝑥𝑥
2 − 2𝑥𝑥𝑥𝑥 + 3𝑦𝑦2 = 9;

2𝑥𝑥2 + 𝑥𝑥𝑥𝑥 − 5𝑦𝑦2 = 4.
 

 
2. Нехай 𝑀𝑀 – довільна точка на основі 𝐴𝐴𝐴𝐴 рівнобічного трикутника 𝐴𝐴𝐴𝐴𝐴𝐴. 

Довести, що 𝐵𝐵𝐵𝐵2 − 𝐵𝐵𝐵𝐵2 = 𝐴𝐴𝐴𝐴 ∙ 𝐶𝐶𝐶𝐶. 
 

3. Довести нерівність √4𝑎𝑎 + 1 + √4𝑏𝑏 + 1 + √4𝑐𝑐 + 1 ≤ 9,  
якщо 𝑎𝑎 + 𝑏𝑏 + 𝑐𝑐 = 6. 

ІІ РІВЕНЬ 

(ПО 5 БАЛІВ) 

1. В одному сплаві маси латуні та міді знаходяться у відношенні 2:3, а в 
другому – у відношенні 4:5. Скільки частин першого та другого сплавів 
треба взяти, щоб дістати сплав, в якому маси цих металів знаходяться у 
відношенні 10:13? 

 

2. Довести: якщо 3𝑎𝑎 + 7𝑏𝑏 + 8𝑐𝑐 = 0 для деяких цілих чисел 𝑎𝑎, 𝑏𝑏, 𝑐𝑐 і число 
4𝑏𝑏 + 𝑐𝑐 без остачі ділиться на 5, то число 24𝑎𝑎 − 4𝑏𝑏 − 𝑐𝑐 без остачі 
ділиться на 25. 

ІІІ РІВЕНЬ 

(ПО 7 БАЛІВ) 

1. Діагоналі опуклого чотирикутника 𝐴𝐴𝐴𝐴𝐴𝐴𝐴𝐴 перетинаються в точці 𝑂𝑂. 
Відомо, що площі ∆𝐴𝐴𝐴𝐴𝐴𝐴,∆𝐵𝐵𝐵𝐵𝐵𝐵,∆𝐶𝐶𝐶𝐶𝐶𝐶,∆𝐷𝐷𝐷𝐷𝐷𝐷 виражаються 
натуральними числами. Чи може добуток цих чисел дорівнювати 2008? 

2. Знайти всі значення параметра 𝑎𝑎, для яких обидва корені рівняння 𝑥𝑥2 −
(𝑎𝑎 − 5)𝑥𝑥 + 3𝑎𝑎 = 0 є цілими числами. 
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КОНТРОЛЬНА РОБОТА З МАТЕМАТИКИ 
СЕКЦІЇ «МАТЕМАТИКА», 

«ПРИКЛАДНА МАТЕМАТИКА»,  
«МАТЕМАТИЧНЕ МОДЕЛЮВАННЯ» 

10 КЛАС 

І РІВЕНЬ 

(ПО 3 БАЛИ) 

1. Довести рівність: cos 𝜋𝜋
9
∙ cos 2𝜋𝜋

9
∙ cos 4𝜋𝜋

9
= 1

8
. 

2. Знайти найменший цілий корінь рівняння 𝑥𝑥2 − 2(𝑘𝑘 + 2)𝑥𝑥 + 12 + 𝑘𝑘2 =
0, що має два різні корені. 

3. Нехай 𝐴𝐴𝐴𝐴𝐴𝐴𝐴𝐴 – неопуклий чотирикутник на площині, 𝛼𝛼 – кут між 
прямими 𝐴𝐴𝐴𝐴 i 𝐵𝐵𝐵𝐵. Довести, що площа 𝑆𝑆 чотирикутника може бути 
обчислена за формулою 2𝑆𝑆 = 𝐴𝐴𝐴𝐴 ∙ 𝐵𝐵𝐵𝐵 sin𝛼𝛼. 

ІІ РІВЕНЬ 

(ПО 5 БАЛІВ) 

1. Розв’язати систему рівнянь 

�
𝑥𝑥 + 𝑦𝑦 = 2;
𝑥𝑥5 + 𝑦𝑦5 = 6. 

2. Нехай 𝑥𝑥2 + 𝑦𝑦2 + 𝑧𝑧2 = 1. Знайти найбільше і найменше значення виразу 
𝑥𝑥 + 2𝑦𝑦 + 4𝑧𝑧. 

 

ІІІ РІВЕНЬ 

(ПО 7 БАЛІВ) 

1. Для всіх дійсних значень параметра a розв’язати рівняння √𝑥𝑥 − 2𝑎𝑎 +
√𝑥𝑥 − 𝑎𝑎2 + 3 = √2𝑥𝑥 − 𝑎𝑎2 − 2𝑎𝑎 + 3. 

2. Площа чотирикутника дорівнює 1м2, а периметр – 4м. Довести, що 
чотирикутник обов’язково є квадратом.   
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КОНТРОЛЬНА РОБОТА З МАТЕМАТИКИ 
СЕКЦІЇ «ЕКОНОМІКА», «КОМП’ЮТЕРНІ НАУКИ» 

10 КЛАС 

І РІВЕНЬ 

(ПО 3 БАЛИ) 

1. Розв’язати систему рівнянь 

�𝑥𝑥
2 − 2𝑥𝑥𝑥𝑥 + 3𝑦𝑦2 = 3;

2𝑥𝑥2 + 𝑥𝑥𝑥𝑥 − 6𝑦𝑦2 = 4.
 

2. Довести рівність: cos 𝜋𝜋
9
∙ cos 2𝜋𝜋

9
∙ cos 4𝜋𝜋

9
= 1

8
. 

3. Довести, що у правильній п’ятикутній піраміді для кожного ребра 
знайдеться інше ребро піраміди, перпендикулярне до початкового. 

ІІ РІВЕНЬ 

(ПО 5 БАЛІВ) 

1. Знайти найменший цілий корінь рівняння 𝑥𝑥2 − 2(𝑘𝑘 + 2)𝑥𝑥 + 12 + 𝑘𝑘2 =
0, що має два різні корені. 

2. Нехай 𝐴𝐴𝐴𝐴𝐴𝐴𝐴𝐴 – неопуклий чотирикутник на площині, 𝛼𝛼 – кут між 
прямими 𝐴𝐴𝐴𝐴 i 𝐵𝐵𝐵𝐵. Довести, що площа 𝑆𝑆 чотирикутника може бути 
обчислена за формулою 2𝑆𝑆 = 𝐴𝐴𝐴𝐴 ∙ 𝐵𝐵𝐵𝐵 sin𝛼𝛼. 

ІІІ РІВЕНЬ 

(ПО 7 БАЛІВ) 

1. Чи кожне натуральне число, кратне чотирьом, можна подати як різницю 
квадратів двох натуральних чисел? Скількома способами можна подати 
в такому вигляді число 48? 

2. Для всіх дійсних значень параметра a розв’язати рівняння √𝑥𝑥 − 2𝑎𝑎 +
√𝑥𝑥 − 𝑎𝑎2 + 3 = √2𝑥𝑥 − 𝑎𝑎2 − 2𝑎𝑎 + 3. 
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КОНТРОЛЬНА РОБОТА З МАТЕМАТИКИ 
СЕКЦІЇ «МАТЕМАТИКА», 

«ПРИКЛАДНА МАТЕМАТИКА», 
«МАТЕМАТИЧНЕ МОДЕЛЮВАННЯ» 

11 КЛАС 

І РІВЕНЬ 

(ПО 3 БАЛИ) 

1. Знайти принаймні один многочлен 𝑓𝑓(𝑥𝑥) = 𝑥𝑥4 + 𝑎𝑎𝑥𝑥3 + 𝑏𝑏𝑥𝑥2 + 𝑐𝑐𝑐𝑐 + 𝑑𝑑 з 
цілими коефіцієнтами 𝑎𝑎, 𝑏𝑏, 𝑐𝑐,𝑑𝑑, щоб число √24 − 3√44 + √84  було 
коренем рівняння 𝑥𝑥4 + 𝑎𝑎𝑥𝑥3 + 𝑏𝑏𝑥𝑥2 + 𝑐𝑐𝑐𝑐 + 𝑑𝑑 = 0. 

2. Розв’язати рівняння 𝑥𝑥2 − 2𝑥𝑥 cos𝑥𝑥
|cos𝑥𝑥|

− 8 = 0. 
3. Бічне ребро правильної трикутної піраміди нахилене під кутом 45° до 

основи. Знайти сторони основи піраміди, якщо її об’єм дорівнює 18. 

ІІ РІВЕНЬ 

(ПО 5 БАЛІВ) 

1. Знайти найменше значення многочлена 𝑃𝑃(𝑥𝑥,𝑦𝑦, ) = 4 + 𝑥𝑥2𝑦𝑦4 + 𝑥𝑥4𝑦𝑦2 −
3𝑥𝑥2𝑦𝑦2. 

2. Нехай 𝐴𝐴𝐴𝐴𝐴𝐴𝐴𝐴 – опуклий чотирикутник. З’ясувати, чи можливо, щоб 𝐴𝐴𝐴𝐴 =
5 см, 𝐵𝐵𝐵𝐵 = 4√2 см, 𝐶𝐶𝐶𝐶 = 5 см, 𝐴𝐴𝐴𝐴 = 7 см, 𝐴𝐴𝐴𝐴 = √130 см. 

ІІІ РІВЕНЬ 

(ПО 7 БАЛІВ) 

1. Розв’язати рівняння arcsin(2𝑥𝑥 − 1) + arcsin(1 − 𝑥𝑥) = 𝜋𝜋
3

. 
2. Знайти довжину найкоротшого шляху по поверхні одиничного куба, що 

з’єднує середину ребра куба з точкою протилежного ребра, яка ділить 
це ребро у відношенні 1:2. 
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КОНТРОЛЬНА РОБОТА З МАТЕМАТИКИ 
СЕКЦІЇ «ЕКОНОМІКА», «КОМП’ЮТЕРНІ НАУКИ» 

11 КЛАС 

І РІВЕНЬ 

(ПО 3 БАЛИ) 

1. Розв’язати рівняння log3(log2(𝑥𝑥 − 3)) = 1
2
. 

2. Скільки коренів має рівняння √𝑥𝑥3 + 2𝑥𝑥 − 43 + √𝑥𝑥 + 2 = 4? Вказати один 
з коренів. 

3. Чи можна розмістити кулю радіуса 2см всередині правильної 
чотирикутної піраміди з основою 8 см і апофемою 5 см? Відповідь 
пояснити. 

ІІ РІВЕНЬ 

(ПО 5 БАЛІВ) 

1. Знайти принаймні один многочлен 𝑓𝑓(𝑥𝑥) = 𝑥𝑥4 + 𝑎𝑎𝑥𝑥3 + 𝑏𝑏𝑥𝑥2 + 𝑐𝑐𝑐𝑐 + 𝑑𝑑 з 
цілими коефіцієнтами 𝑎𝑎, 𝑏𝑏, 𝑐𝑐,𝑑𝑑, щоб число √24 − 3√44 + √84  було 
коренем рівняння 𝑥𝑥4 + 𝑎𝑎𝑥𝑥3 + 𝑏𝑏𝑥𝑥2 + 𝑐𝑐𝑐𝑐 + 𝑑𝑑 = 0. 

2. Бічне ребро правильної трикутної піраміди нахилене під кутом 45° до 
основи. Знайти сторони основи піраміди, якщо її об’єм дорівнює 18. 

ІІІ РІВЕНЬ 

(ПО 7 БАЛІВ) 

1. Розв’язати рівняння 𝑥𝑥2 − 2𝑥𝑥 cos𝑥𝑥
|cos𝑥𝑥|

− 8 = 0. 
2. Нехай 𝐴𝐴𝐴𝐴𝐴𝐴𝐴𝐴 – опуклий чотирикутник. З’ясувати, чи можливо, щоб 𝐴𝐴𝐴𝐴 =

5 см, 𝐵𝐵𝐵𝐵 = 4√2 см, 𝐶𝐶𝐶𝐶 = 5 см, 𝐴𝐴𝐴𝐴 = 7 см, 𝐴𝐴𝐴𝐴 = √130 см. 
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ІСТОРІЯ 
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КОНТРОЛЬНІ ЗАВДАННЯ З ІСТОРІЇ  
9 КЛАС 

І РІВЕНЬ 

1. У мистецтві якого народу яскраво виявився «звіриний стиль»: 
а) Кіммерійці  
б) Скіфи  
в) Сармати  
г) Анти  

 
2. На картосхемі жирною лінією позначено кордони Київської держави за 

часів князювання: 

а) Аскольда 
б) Олега 
в) Святослава 
г) Володимира 

 
 

3. Який наслідок для Галицько-Волинського князівства мала загибель 
князя Романа Мстиславовича? 

а) Зміна системи престолонаслідування 
б) Встановлення монгольського панування 
в) Втрата контролю над Червенськими містами 
г) Тимчасова втрата державної єдності земель 

 
 

4. Назвіть терміни, що стосуються життя в українському місті ХIV-XVI ст.. 
1) Вотчина; 
2) Магістрат; 
3) Ставропігія; 
4) Партач; 
5) Цех; 
6) Фільварок 

 
 

а) 1,2,3 
б) 2,5,6 
в) 2,4,5 
г) 2,3,5 
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5. Установіть нормативно-правові пам’ятки які оформлювали кріпосне 
право в українських землях XVI ст. 
1) Судебник; 
2) Артикул Генріха Валуа;  
3) Устав Сигізмунда ІІ Августа; 
4) Устав на Волоки; 
5) Третій Литовський статут 

 
6. Результат якої битви забезпечив Б. Хмельницькому укладення 

династичного союзу з Молдавським князівством? 
а) Пилявецької 
б) Зборівської 
в) Охматівської 
г) Батозької 

 
7. Дайте відповідь на питання: 

«…розділили Україну навпіл і хочуть нашу отчизну, милу Україну, 
занедбати», – так П. Дорошенко схарактеризував домовленості 
московського царя й польського короля за: 

а) Віленським перемир’ям 
б) Андрусівським перемир’ям 
в) Деулінським перемир’ям 
г) Вічним миром 

 
8. Назвіть ватажка опришківського руху на поч. ХІХ ст. 

а) Олекса Довбуш 
б) Лук’ян Кобилиця 
в) Устим Кармалюк 
г) Мирон Штолюк 

 
9. Який фактор сприяв перетворенню греко-католицького духовенства в 

рушійну силу українського національного руху? 
а) Наявність власної політичної організації для початку боротьби 
б) Високий порівняно з іншими верствами українського 

суспільства рівень освіченості 
в) Тісна співпраця з католицькою церквою і польським 

визвольним рухом 
г) Наявність значних земельних володінь і залежних селян 

 
  

а) 1,3,5 
б) 1,3,4 
в) 2, 3,4 
г) 2,4,5 
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10. Що об’єднує діячів, зображених на фото? 
 
 
 
 
 
 
 
 
 
 
 

а) участь у громадівському русі 
б) створення першого осередку товариства «Просвіта» 
в) організація першої української політичної партії 
г) участь у народницькому русі 

ІІ РІВЕНЬ 

11. Установіть відповідність між іменами скіфських богів та сферою, 
покровителями якої вони були: 

а) Табіті 1) Родоначальник скіфів 

б) Папай 2) Богиня землі 

в) Апі 3) Богиня домашнього вогнища 

г) Арей 4) Бог війни 

 5) Бог сонця 

 
12. Установіть відповідність між основними групами залежного населення 

Київської Русі та особливостями їхнього становища. 

1) Смерди 

2) Закупити 

3) Челядь 

4) Рядовичі 

а) Особи, які укладали із землевласником договір 
про найм і відповідно до нього працювали в 
його господарстві 

б) Особисто вільні селяни, які мали власне 
господарство, земельні наділи й виплачували 
за них данину державі 

в) Особи, які з певних причин випали зі своїх 
соціальних груп і втратили з ними зв'язок 

г) Особи, що втратили своє господарство й 
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працювали на землевласника. їх можна було 
продавати, дарувати, передавати в спадок 

д) Тимчасово залежні селяни, які через різні 
обставини втратили власне господарство та 
були змушені працювати на землевласника за 
грошову позичку 

 
13. Установіть відповідність між іменами діячів культури та їхніми 

характеристиками.: 

1) І. Сошенко 

2) В. Тропінін 

3) Й. Витвицький 

4) А. Меленський 

а) Піаніст, композитор і педагог, який написав 
музичний твір «Україна» 

б) Російський художник-портретист, який близько 20 
років працював як живописець, архітектор і вчитель 
малювання на Поділлі.  

в) Архітектор, який 30 років працював головним 
архітектором Києва. За його проектом споруджено 
церкву-ротонду на Аскольдовій могилі 

г) Майстер графіки, живопису, акварелі та малюнку, 
автор понад тисячі мистецьких творів, серед яких 
серія офортів «Живописная Украйна» 

д) Живописець і педагог, один із найближчих друзів 
Т. Шевченка, викладав малювання в Київській, 
Ніжинській та Вінницькій гімназіях. Автор жанрових 
картин «Продаж сіна на Дніпрі» та «Хлопчики-
рибалки» 

 
14. Розташуйте події в хронологічній послідовності. 

а) Початок роботи професійного театру в Полтаві 
б) Реорганізація Гімназії вищих наук у. Ніжинський ліцей  
в) Уперше повністю видано «Енеїду» І. Котляревського  
г) Початок роботи професійного театру в Харкові 

 
15. Розташуйте події в хронологічній послідовності. 

а) Створення Руського собору 
б) Перший слов’янський конгрес  
в) Створення Головної Руської Ради  
г) Створення Центральної ради народової 
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ІІІ РІВЕНЬ 

1. Ви – скіф, що потрапив до античного міста Північного Причорномор’я. 
Опишіть те, що Вас вразило. 

2. Відомий український історик В. Смолій охарактеризував Визвольну 
війну під проводом Богдана Хмельницького як «українську національну 
революцію». Спростуйте або обґрунтуйте цю тезу. 

КОНТРОЛЬНІ ЗАВДАННЯ З ІСТОРІЇ 
10 КЛАС 

І РІВЕНЬ 

1. Де було знайдено найдавніші рештки первісної людини? 
а) Королеве; 
б) Молодове; 
в) Киїк Коба; 
г) Мізин 

 
2. Скіфи розгромили військо Зопіріона, полководця армії Олександра 

Македонського у: 
а) 514 р. до н.е.; 
б) 431 р. до н.е.; 
в) 331 р. до н.е.;  
г) 249 р. до н.е. 

 

3. Визначте, які наслідки для Київської Русі мала описана в уривку подія: 

«У рік 6473 рушив Святослав на Хозар. Почувши ж про це, хозари 
вийшли насупроти з князем своїм каганом…» 

1) Князь Святослав втягнув свою державу у тривалу й затяжну війну, що 
послабила позиції Київської держави; 

2) Падіння Хозарії відкрило шлях на Русь кочовим народам Сходу; 
3) Ліквідація загрози з боку хозарів призвела до активізації племінного 

сепаратизму; 
4) Успіхи Святослава на Сході змусили Візантію розпочати 

дипломатичну гру проти Святослава. 
а) 2,3; 
б) 1,2; 
в) 2,4; 
г) 3,4. 
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4. Прикладом якої школи давньоруського зодчества є зображена на фото 
пам’ятка архітектури? 

а) Волинського 
б) Київського 
в) Чернігівського 
г) Галицького 

 
 
5. Яка подія стала приводом для створення реєстрового козацтва? 

а) Будівництво Вишневецьким фортеці на острові Мала Хортиця 
б) Повстання під проводом Мухи та Борулі 
в) Повстання під проводом К. Косинського 
г) Похід І. Підкови на Молдову 

 
6. Укажіть портрет історичного діяча, з іменем якого пов’язано 

відновлення ієрархії православної церкви 
 

А Б 
 

В 
 

Г 
 
7. Про який процес у Наддніпрянській Україні йдеться в уривку 

документа: «Якщо в 1842 р. у Волинській, Подільській, Київській, 
Чернігівській, Полтавській і Харківській губерніях було 67 цукрових 
заводів, що належали дворянам, то в 1848 р. – 208, причому вартість 
виготовленої продукції зросла від 328,8 до 4843,7 тис. руб. сріблом»? 

а) Поширення кооперативного руху 
б) Завершення промислового перевороту 
в) Зародження мануфактурного виробництва 
г) Товаризацію поміщицького господарства 
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8. «Будителем» українців Закарпаття називали 
а) Л. Кобилицю 
б) М. Шашкевича 
в) О. Духновича 
г) І. Могильницький 

 
9. Назва уряду Центральної Ради за IV Універсалом 

а) Генеральний секретаріат 
б) Народний секретаріат 
в) Державний секретаріат 
г) Рада народних міністрів 

 
10. Коли на території  УСРР була запроваджена обов’язкова паспортизація 

та прописка населення? 
а) 1924 
б) 1929 
в) 1933 
г) 1937 

 

ІІ РІВЕНЬ 

 
11. Установіть відповідність між назвами союзів племен та територіями 

їхнього розселення 
 

1) Поляни 

2) Древляни 

3) Сіверяни 

4) Білі хорвати 

а) Від річки Случ і майже до Дніпра та від річок Уборть і 
Прип’ять на півночі до річки Тетерів 

б) Територія Верхньої Наддністрянщини, межиріччя 
Верхнього Пруту й Дністра, Північна Буковина, 
Прикарпаття і частина Закарпаття 

в) Землі середньої течії Дніпра між Десною і Россю 

г) Землі лівобережжя Дніпра, у середній течії Десни, басейни 
річки Сейм і верхів’я Сули 

д) Між Нижнім Дністром, Південним Бугом і Дніпром аж до 
Чорного моря 
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12. Співвіднесіть назву повстання з уривком з його ходу: 

 
 
13. Установіть відповідність між іменами історичних діячів та їхньою 

характеристикою 
 

1) А. Коцко 

2) М. Січинський  

3) Д. Донцов 

4) К. Трильовський 

а) Ідеолог українського інтегрального 
націоналізму, у 1913 р. висунув ідею 
політичного сепаратизму щодо Росії 

б) Український студент, загибель якого 
стала могутнім каталізатором 
українського руху в Галичині 

в) Засновник першого осередку 

а) Повстання під проводом 
К. Косинського; 

б) Повстання під проводом 
С. Наливайка; 

в) Повстання під проводом 
І. Сулими; 

г) Постання під проводом Трясила. 

д) Повстання під проводом П. Бута 

1) Яскравою сторінкою з цього 
повстання була так звана подія, 
коли було знищено Золоту роту, 
яка складалась з представників 
найшляхетніших польських родів; 

2) Приводом до цього повстання 
стала особиста кривда, завдана 
ватажку цього виступу. Вирішальна 
битва між повстанцями та 
коронним військом сталася під м. 
П’яткою на Волині; 

3) Повстання охопило Київщину, 
Брацлавщину, Волинь, Поділля  
та білоруське Полісся. Вирішальні 
битви між повстанцями та 
коронним військом відбулися біля 
Урочища Гострий Камінь та 
Солониця; 

4) Повстання під проводом гетьмана 
реєстрових запорозьких козаків, які 
повертаючись із походу проти 
Туреччини, зруйнували недавно 
збудовану польську фортецю на 
Дніпрі та знищили її німецький 
найманий гарнізон. 
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пожежно-гімнастичного товариства 
«Січ» 

г) Студент, який здійснив замах на 
галицького намісника графа А. 
Потоцького  

д) Один з організаторів сокільсько-
стрілецького руху в Галичині 

14. 14. Розташуйте вихід книг у хронологічній послідовності: 
а) Адельфотес; 
б) Памва Беринда «Лексикон славенороський»; 
в) Мелетій Смотрицький «Граматика» 
г) Герасим Смотрицький «Ключ царства небесного…» 

 
15. Установіть послідовність подій. 

а) Створення Українського національно-демократичного 
об’єднання (УНДО) 

б) Створення Української військової організації (УВО) 
в) Створення Організації українських націоналістів (ОУН) 
г) Створення Української національної партії (УНП) 

 

ІІІ РІВЕНЬ 

 
1. Оцінюючи історичне значення Люблінської унії, український історик 

Н. Яковенко пише: «Люблінська унія принесла в Україну розбрат, кров і 
спустошення, але водночас – вивела й зі стану двохсотлітньої сплячки, 
розбудила для опору й боротьби за виживання…». У чому 
справедливість такої оцінки? Відповідь обґрунтуйте? 

 
2. Український історик Валентин Мороз писав: «…Постать Драгоманова 

цікавить нас у даному випадку як компонент українофільства, і не лише 
як компонент; бо Драгоманів був не лише продуктом цієї епохи, а й у 
великій мірі її творцем. Так, Драгоманова можна з повним правом 
назвати продуктом епохи, жертвою епохи і символом ями. Бо 19-те 
століття (і особливо друга половина) було, без сумніву, найглибшою 
ямою в українській історії...». Спростуйте, або обґрунтуйте тезу 
колишнього дисидента. 
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КОНТРОЛЬНІ ЗАВДАННЯ З ІСТОРІ 
11 КЛАС 

1 РІВЕНЬ 

 
1. Які фрагменти наведенених джерел стосуються скіфських часів на наших 

землях? 
1) «...Ці племена... не підлягають одній людині, а з давніх-давен живуть 

у демократії, тому про все, що для них корисне чи шкідливе, вони 
міркують спільно» (Прокопій Кеса рійський). 

2) «...У них немає хат, а живуть вони в кибитках, з яких найменші 
бувають чотириколісні, а інші шестиколісні... У таких  кибитках 
перебувають жінки, а чоловіки їздять верхи на конях, за ними йдуть 
їхні стада овець і корів і табуни коней»  (Псевдо-Гіппократ). 

3) «...Вони спустошили й спалили їх (міста й фортеці), взяли полонених і 
стали панами на землі... Вони осіли на ній    панами, як на своїй, без 
страху... І нині вони лишаються тут, живуть і спокійно перебувають у 
країні ромеїв...». 

4) «...Гробниці їхніх царів містяться в Геррах, до яких Борисфен ще 
судноплавний. У Геррах тіло ховали у просторій     гробниці разом з 
дружиною, найближчими слугами, кіньми... Над гробницями 
насипали величезні кургани, – що знатніший був цар, то вищий 
курган...» (Геродот).  

а) 1, 2 
б) 2, 4 
в) 3, 4 
г) 2, 3 

 
2. Кому належить зображення? 

а) Володимиру Великому 
б) Ярославу Осмомислу 
в) Данилу Галицькому 
г) Юрію Львовичу 
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3. За часів правління якого князя Закарпаття увійшло до складу Галицько-
Волинського князівства? 

а) Ярослава Осмомисла 
б) Данила Романовича 
в) Лева Даниловича 
г) Юрія Львовича 

 
4. Про кого йдеться в уривку з історичного джерела: 

«Король, побачивши, як добре вони з татарами б’ються, віддав їм 
для пристанища місто Трахтемирів…»? 

а) Польська шляхта 
б) Запорозьке козацтво 
в) Литовська шляхта 
г) Реєстрове козацтво 

 
 

5. Інтенсивне використання Російською імперією матеріальних і людських 
ресурсів України впродовж 1853-1856 рр. зумовлено перш за все 
потребою 

 
а) Ліквідації антикріпосницьких заворушень селян 
б) Запобігання поширенню европейської «весни народів» 
в) Придушення польського національно-визвольного повстання 
г) Ведення бойових дій під час Кримської війни 

 
 

6. З іменем якого історика пов’язано написання цієї картини? 
 

а) В. Антоновича 
б) М. Костомарова 
в) І. Рєпіна 
г) Д. Яворницького 
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7. Поява в Російській імперії документів, подібних до зображеного на 
фото, свідчила про: 
 

а) впровадження «межі осілості» 
б) завершення індустріалізації Сходу 
в) репресивну політику держави 
г) Столипінську реформу 

 
 
8. Хто був засновником сокільсько-стрілецького руху в Східній Галичині? 

 
а) І. Боберський; 
б) Є. Петрушевич; 
в) Д. Вітовський; 
г) К. Трильовський 

 
9. Під чиїм командуванням Армія УНР здійснила Перший Зимовий похід? 

 
а) Ю. Тютюнника 
б) М. Галущинського 
в) М. Омельяновича-Павленка 
г) Г. Косака 

 
10. Коли відбулося оголошене московським патріархом «добровільне 

возз’єднання» мукачівської єпархії з Російською православною 
церквою? 
 

а) 1946 
б) 1947 
в) 1948 
г) 1949 
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ІІ РІВЕНЬ 

11. Установіть відповідність між назвами князівств та містами, 
розташованими на їх теренах. 

 
1) Київське 
2) Чернігівське 
3) Галицьке 
4) Волинське 

а) Коломия, Берладь, Білгород, Бакота, Звенигород 
б) Гомель, Любеч, Трубчевськ, Кроми, Мценськ 
в) Остер, Лубен, Воїнь, Пирятин, Донець 
г) Луцьк, Бузьк, Пліснецьк, Кременець, Червень 
д) Овруч, Болохів, Торчеськ, Корсунь, Юріїв 

 
12. Установіть відповідність між іменами історичних діячів та їхніми 

характеристиками. 
 

1) П. Могила 
2) І. Борецький 
3) Й.-В. Рутський  
4) І. Потій 

а) Митрополит греко-католицької церкви в 
1614-1637 рр. 

б) Православний митрополит Київський і 
Галицький в 1632-1647 рр. 

в) Перший митрополит греко-католицької 
церкви  

г) Митрополит православної церкви в 1620-
1631 рр. 

д) Єпископ, який став митрополитом греко-
католицької церкви після смерті Михайла 
Рогози 

 
13. Установіть відповідність 
 

1) Один з авторів «Акта проголошення 
відновлення Української держави» в 1941 р. 

2) Єпископ, який був ініціатором «возз’єднання 
УГЦК» із православ’ям, ліквідації 
Берестейської церковної унії 

3) Командувач Південно-Західного фронту в 
1941 р. 

4) Керівник Українського центрального 
комітету — єдиної легальної організації на 
окупованих територіях у роки Другої світової 
війни 

а) М. Кирпонос; 
б) Я. Стецько 
в) В. Кубійович 
г) С. Ковпак 
д) Г. Костельник 
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14. Розташуйте у порядку написання картин: 
 

 
 

  
А Б В Г 

 
15. Установіть хронологічну послідовність подій 

а) Українську академію наук очолив Б.Патон 
б) Сергій Лебєдєв сконструював першу на європейському 

континенті обчислювальну машину 
в) Фізико-технічний інститут АН УРСР будує найбільший  у світі 

прискорювач електронів. 
г) Відкриття перших станцій Київського метрополітену 

ІІІ РІВЕНЬ 

1. Опираючись на історичні аналогії, висловіть думку щодо закономірності 
процесу політичної роздробленості Русі. 

 
2. Охарактеризуйте вислів українського дисидента В. Мороза: «Віра 

виникає, коли є мученики», «знищені стають прапором». 
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